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1.1

1914 (Lanchester)

1917 (Erlang)

20 : 20 30
(G.B. Dantzing) 1947 ,

(N.B. KAHTOPOBWY)

20 30 )

u " (operational research), ,

“ O.R.,operations research”, . 0. R.

1] ” [

47% 29%. ,

400% .
(RAND)
, 20
) : ;20
20 50 , )
. 1957 ;1958

1939

50
60
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60 :
; 70
, 70 :
(P. M. Morse) (G. E. Kimball)
(1948 ),
(1957 ) . 1986 : 38
1980 . 1959
(IFORS),
, (EURO)
(APORS) 1985
(1)
(2) :
(3)
(4) ,
(5) : :
(6)

. 2.

1965
; 1970
(1952 ) (1956
: 1982
1976
(T omlinson)
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1.1



2.1
: ( ) :
.20 30
1947
1961 : ,
1
, 2.1 , ?
2.1
2 3 24
3 2 26
( 1) 4 3
X1
X2 ) X1, X2
2X1+ 3X2< 24
X1+ 2X2< 26
X1,X22 0,
Z= 4x:+ 3x2
maxZ= 4xi1+ 3x:
2X1+ 3X2Z5 24
S.t. 3Xi1+ 2X2Z5 26
X1,X22 0.
“ st “ subject to ”
2 3 Al,AZ,AB A:= 60



, A= 40 ,Asz= 60 ) Bi, B2, Bs, Ba, : B.= 30 )
B-=50 ,B:=40 ,Bs= 40 2.2
, ?
2.2 ( [ )
B: B2 Bs B4
A1 5 6 10 3 60
A2 4 1 9 7 40
As 4 2 3 8 60
30 50 40 40
Ai Bi Xi(i: 1,2,3,]2 1, 2, 3,4),
min Z = 5x11 + 6X12+ 10Xx13 + 3X14 + 4x21 + X222+ Ox2s + 77X
+ 4Xas + 2Xs:2 + 3Xsz + 8Xas,
X11+ X122+ Xizs+ Xu= 60
X214+ X222+ X234+ X2 = 40
Xs1+ Xz + Xss+ Xa = 60
X111+ X2+ Xs1= 30
S. L.
X124+ X2+ Xs2= 50
X1z + X2+ Xsz= 40
X1a+ X2+ Xza= 40
Xij 2 O(i: 1,2,3,j= 1,2,3,4)
1 2
(1) ( 1 Xi, 2 Xii), :
(2) :
DEA
2.2
2.2.1



max(min) Z= caXi+ CX2+ + GiXn, (2.1
annX1 + anXz2 + + anXn < (=, 2 )
A21X1 + a=Xa2 + + AxXn < =, 2 )bz (2. 2)
S. t.
aAmiX1 + amX:z2 + + AmnXn < (: y > )bn
X1, X2, ,Xn= 0. (2.3
max Z = GXi,
2.
aiXj = bi 1= 1, 2, , M
s, T )
xiz2 0(j= 1,2, ,n).
b ai; X1
b azj X2
b= , Pi= , X = , C= (&, ,&),
bﬂ amj Xm
a1 Aw Aun 0
a1 A aan
A= = (P:,P2, ,Pn), 0=
dm1 am2 Amn 0
max Z= CX ,
Pixij= b
st 2
xiz2 0(j= 1,2, ,n).
max Z= CX ,
AX= Db
X= 0.
A b , C ,» X
(1) A rank(A) = m,0< m< n. : :
(2) b= 0. bi< O, i -1
(1) , min Z= CX.



Z'=- Z, max Z'= - CX

v

+ = ( > 0).

Xk , Xk= XK - XK', x¥= 0,x«'=2 0

max Z = 4x: + 3Xe

2X1+ 3X2< 24
S.t. X1+ 2X2< 26

X1,X2=2 0
X3, X4,
max Z = 4x:+ 3Xz:+ Oxs + OXa,
2X1+ X2+ Xz = 24
S.t. X2+ 2X2+ Xa= 26

X1, X2,X3,Xa= 0.

mnzZ =- X:+ 2Xz2- 3Xz
X1+ 2X24+ 33Xz < 7
- X1+ X2- Xs< - 2
S.t.
- X1+ X2+ 2X3= 5

X1,Xs = 0, Xz

max Z' = Xi1- 2(X2'- X2") + 3xsz+ Oxa+ OXs,
X1+ 2(X2' - X2") + 3Xs+ Xa =7
X1- (X2 - X2") + Xs - Xs= 2

st 3x1+ (X2 - X2") + 2Xs =5

X1, X2', X2", X3, X4, X522 0.

2.2.2

n

max Z = Z GXj, (2.4)
-1



2.1

2.2.3

(1)

. 10-

IN

(2. 4)

2.2

Z aiX; = b 1= 1, 2, , M
s.t. Tt

x;i=2 0 j=12 ,n.
(2.5 (2.6) X= (X1, X2, ,Xn)'

(2.5) m n ,rank( A)= m,

(CBGt 0), B
B , B m
A (n- m)
Pi Xi
Os (2'5)
(2. 6)
< Cn.
(2.4) ,
1.
1
, 2.2 ,
, 2.2
X Z
(6, 4)  Z . Z = 36.
2.
,Q: , X =(6,4)",Z = 36.
Z= 4X:1+ 6X2, , 2.2

(2.5)

(2. 6)

2.1

QsQ2



max Z = X1+ Xz,

X1+ 2X22 4
S. t.

X1,X22 0.
2.3.

max Z = X1+ Xz,

X1+ X2< 3

S.t. X1+ 2x2=> 8
X1,X22 0.
2.4, .
2.3 2.4
(2)
: : (
( ) :
2.2. 4
X=oX"V+ (1- g)X? K(0g o< 1), K
X ox®? o x™ E" K , Ui, Pz, pie(
0< uig ]_’ = ]_, 2’ K Z Mi = ]_) X = HlX(l).|. IJ2X(2)+ + ka(k), X
X x@, x®
K X K XMk, Xx® K
X=oX"+ (1- a)Xx®(0g o= 1), X K
1

D= {X@AX= b, X 0} .

x* b,x?” D xW=zx"?,

AXW=p XxXP=0
AXP=p x>0,
: O pus1

11.



X=pXP+ (1- Wyx“?=o0,
AX = A[uxX ™+ (1- p)X?]
= uAX P+ (1- W AX®= pb+ (1- wb=b,

AX=b.
X D, D .
2 X= (X1, X2, ,Xn)'
(1) .
(2) X k P:, P2,
P«, rank(A)=m, k<m. k=m , : X=(X1,X2, Xk, 0,
0)' ;  k<m | : (n- k)
(m- k) Pi, P2, , P« : X,
( ) -
3 X
[3],
K : X K, K
4 :
x @ x® x (9 X (0
7" = cx X (0 ¥ (O X (@

X(l), X(Z), ’ X(k) ’
k k
X = ZUMWS|MS1Ji=L2,,H,ZUF:L
=1 1
k
cx'? = CX .
2"
cx'™=max(Cc X", c x?, ,cx"),
k k
QNE=ZUQWWsZp£xW:cxW,
= 1 1

cx“?<cx™

cx" cx®zcx™
cx@=cx™
X(m) Z* .
(1) , .
(2) , (s CV).
(3) :

12.



: ( ),
2.3
2.3.1
max Z = CX ,
AX = b
s.t. K= 0
: B , A (B,N). B= (P:, |,
Pm) . B Xe= (X1, Xz, ,Xm)T;Nz (Pm+ 1, Pm+2, , Pn),
Xn= (Xm+1, Xm+ 2, ,Xn)T.
\ - Xe
Xn
C= (G, Cv), G Xe G A
maxZ= CX = (Go.Cy) "
N
XB —
(B, N) .. = b
Xe,Xn 2= 0.
max Z = CsXs + Cu Xu, (2.7)
BXs+ NXn= b (2.8)
Xe, Xn 2 0. (2.9)
(2.8) B,
Xe = B 'b- B 'NXu, (2.10)
(2.7),
Z= CB 'b- (CB 'N- Cu)Xn. (2.11)
Xn=0, Xs= B b,
Xe B b
X = =
Xn 0
Z= CsB 'b. CsB 'B- Cs= 0,
Z= CB "b- (CB 'B- Cs)Xe- (CB 'N- GCv)Xn

= CGB 'b- (GB 'A- OX. (2.12)
(2.10) (2.11) :
13-



Xs+ B 'NXyn= B 'b (2.13)
Z+ (CB 'N- G)Xn= GB b, (2.14)
2.3, B : T(B).
2.3
XB XN
B 'b | B ‘N
CsB 'b 0 CsB" 'N- Cn
on= CsB  'N- Cv,0= GB 'A- C (2 12)
Z= CB "b- ovnXn= CB 'b- oX.
o= (O,GN) )
(2.13) (2.14) ,
Aim+ 1 ai,m+ 2 din o}
. dom+ 1 A2, m+ 2 adz,n g b-
B N= , B b= ;
amm+ 1 am, m+ 2 am, n bm
CeB " 'N- Cu= (Om1,0nme2, ,G), CeB 'b= bo.
(2.13) (2.14)
X1 + al,m+ 1Xm+ 1 + + A1k X k + + A Xn = bl
X2 + azm+ 1 Xm+ 1+ + axXk + + amXn= b
Xm + am,m+ 1Xm+ 1 + + akak + + aman = bm
Z + On+ 1Xm+1 + One 2Xm+ 2 + + O Xn= bo.
, 2.3 T(B) 2. 4.
2.4
g - C1 C2 Cm Cmt+ 1 Cn
GCs Xs b X1 X2 Xm Xm+ 1 Xn
C X1 b1 1 0 0 ai,m+ 1 ain
C X2 bz 0 1 0 a2, m+ 1 aon
Cm X'm bm 0 0 1 am m+ 1 am
Z bo 0 0 0 On+ 1 G
2.4 2.3, )
bo , Z= bo= Z cibi.

14-



2.4

: Xi
g = CB P - Q=Zcia;- G (j=1,2, ,n).
, T(B) Xe= (X1,Xz2, ,Xm)' 0=
(0101 10)1m
2.3.2
1
5
max Z = 4x: + 3Xq,
2X1+ 3x2< 24
S.t. 31+ 2X2< 26
X1, X222 0,
X3, X4,
max Z = 4x:1+ 3X2+ O0Xs + OXa,
2X1 + X2+ Xs = 24
s.t. X2+ 2X» + Xs= 26
X1, X2,X3,Xa= 0.
, B:.= (Ps,P4): l, XB1= (X3,X4)T,C31: (0,0), B: = | )
B: ‘A= A,b= B: b= b, 0= Ce:B1 'A- C= - C, b= Cs:Bi 'b= 0, 2. 5.
2.5
Ci — 4 3 0 0
Oi
Cs Xs b X1 X2 X3 X4
O X3 24 O
X4 26 3 2 0
z 0 4 - 3 0 0 -G
, . 2.5,
XP'= (X1, X2, X3, xa) "= (0,0, 24, 26) ", z%=0. B:
? :
X; ag= CB 'P;- C,
(1) g 0, B : , (
’ Om+ k— 01 )
(2) o< 0 (m+ 1< s n) B 'Ps= (as, az,

15



ams) < 0, , ,

(3) < 0 (m+ 1< j< n) : B
2.5 o< 0, @< 0, ,
X2 ) . B: ,
(1) xss  s=min{j@< 0, 0< j< n}.
(2) Xr xi20(j=1,2, ,n) , Xs
. i br
8= min Bi= —|as> 0 = —, X , as
! Ais Ars
(3) ars , . Xs
aAis 0
das 0

as - 1 < r

ams 0
Xs Xr X's, B= (Pl, , Pr- 1, Ps, Pr+ 1, ,Pm)
T(B).
: 2. 5, s= min{jG:= - 4, &= - 3}= 1, X1
bi
8= min 6= —|as> 0 = {24/ 2, 26/ 3} = 26/ 3, X 4 , X1
dis
Xa azn= 3 , 2. 6.
2.6
Cji - 4 3 0 0
Oi
Gs Xs b X1 X2 X3 X4
0 X3 24 2 1 0 12
0 X4 26 [3] 2 0 1 26/ 3
Z 0 -4 -3 0 0 e
0 X3 20/ 3 0 [5/ 3] 1 - 2/3 4
4 X1 26/ 3 1 2/ 3 0 1/ 3 13
y 104/ 3 0 - 1/3 0 43 e
X'?= (26/3,0,20/3,0)7, 7?=104/3 .
’ X2 y X3 y y 2 7.

16-



2.7

Ci — 4 3 0 0
Oi
G Xe b X1 X2 X3 X4
3 X2 4 0 1 35 - 215
X1 6 1 0 - 2/5 35
z 36 0 0 1/5 6/ 5 -G
X =x%=(6,4,007",2 =2z2%= 36. X2, X4 ,
X1= 6, x2= 4, Z = 36.
6
max Z = 3X:+ Xz,
X1+ X2 4
- Xit+ X2 2
s. t.
6X1 + 2X2< 18
X1, X22 0.
max Z= 3X:+ Xo
X1+ X2t Xs = 4
- X1+ Xo + Xa = 2
S. L.
6X1 + 2X: + Xs= 18
X1, X2, X3, X4, X5 = 0.
2.8
2.8
G- 3 1 0 0 0
Bi
Cs Xs b X1 X2 X3 X4 Xs
X3 4 1 1 1 0 0 4
X4 2 -1 1 0 1 0 -
Xs 18 [ 6] 2 0 0 1 3
z 0 - 3 -1 0 0 0 e
0 X3 1 0 2/ 3 1 0 - 16
Xa 5 0 4/ 3 0 1 16
X1 3 1 13 0 0 16
Z 9 0 0 0 0 12 s
X =(30,1,50", Z =09
X1= 3,X2= 0, Z =09.
, X2 o= 0,

17



’ , _ , X2 , X3
, X =1(5/232030", xi=5/2,x:=322Z =0
X=oX + (1- d)X (0< o< 1) .
max Z : min Z , (1), (2

=0 <0 o<O0 o> 0, ,
2.3.3
2.3.2 , ,
?
n
Z aiX; = bi(i= 1, 2, ,m),
-
Xn+ 1, Xn+ 2, , Xn+ m= O,
AuX:1 + anXz2+ + aunXn + Xn+1 = h
Az X1+ axX2 + + @nXn + Xn+ 2 = h
amiX1 + ameXz2 + +  @mXn + Xn+m = Dm
X1,X2, ,Xn= 0;Xn+1,Xn+2, ,Xnem= 0.

IB: (Pn+1an+2l ,Pn+m):|, ’
Xns 1, Xne2, , Xnem . X1, X2, , Xn , X =
(01 01 101 bl’bzi ’bm)T' ) ’

1.
min W= Xn1+ Xns2+ + Xn+m,
X1 + au2X2 + + QunXn + Xn+1 =
1X1 + a2X2 + + aAanXn + Xn+2 = b
(LP1)
amiX1 + am2X2 + +  @mnXn + X+ m = Dm
X1, X2, ,Xn= 0;Xn+1,Xn+2, ,Xnem= 0.
, LP::
(1) W= 0, :
(2) W# 0, :
7

18-



min Z = x1+ 1. 5xq,

X1+ 3X2= 3

s.t. Xa+ X222 2
X1, X222 0.
X3, X4, X5,
X6,
min W = Xs + Xe,
X1+ 3Xz2- Xs + Xs =
(LP:) X1+ Xe - Xa + Xe =
X1, X2, X3, Xa, X5, X6 = 0.
, w= 0,
X1= 3/2, X2= 1/ 2, X3= Xa= Xs5= Xe= 0, 2.9
2.9
G- 0 0 0 0 1 1
i
Gs Xs b X1 X2 X3 X4 X5 X6
1 Xs 3 1 3 -1 0 1
1 X6 2 [ 1] 1 0 -1 0
W 5 2 4 -1 -1 0 0 - G
0 X2 1 0 [2] -1 1 1 -1 12
1 X 2 1 1 0 -1 0 1 2
W 2 0 2 -1 1 0 -2 - O
0 X2 1/2 0 1 - 1/2 12 1/2 - 12
0 X1 3/2 1 0 1/ 2 32 ) 3/2
W 0 0 0 0 0 -1 -1 e
Xs= Xe= 0, (X1, X2, X3, Xa)= (3/2,1/2,0,0)
; : 2. 10.
2.10
Cj - 1 1.5 0 0
0i
GCs Xs b X1 X2 X3 X4
1.5 X2 V2 0 1 - 1/2 12
1 X1 3/ 2 1 0 12 - 3/2
Z 9 4 0 0 - 1/4 - 3/4 <G
2.10 , P x1=3/2,x2= 1/2, Z =94

W= 0,

19



2 M
(- M)(M ),
max Z = CiX:+ CXz+ + GXnt+ (- I\/I)Z Xn+ i,
=1
aiiX1 + ai2X2 + + AunXn + Xn+1
A1X1 + ag2X2 + + aonXn + Xn+2
(LPw)
am1X1+ am2X2+ + aman Xn+m_
X1, X2, ,Xn 2= 0 Xn+1,Xn+2, ,Xn+m= 0.
L Pwm LP ,
L Pwm , , LP
M
mnzZ=- 3Xxi1+ X2+ Xs
X1 - 22X+ X3 £ 11
- AX.i+ X2 + 2X3=2 3
s. t.
- 2X:1 + X3 = 1
X1, X2,X3= 0.
, LPw ,
(+ M).
2.3.4
(1) : , :
(2) max :
2.3.5
2.3.1 2.3 ,
2.3 ,
B, B , B

20-



B= m

2.5

Xe  B'b
XN - 0
Y= CsB
s= min{jGy< 0, O< j< n}, Xs

(B b)il|,. . _ (B 'b).
n (B_lps)i (B Ps)i> O - (B- lps)r .

21.



B:.

Xr
B:', B: b
: Bi' :
B B: : B:'
B.'= EB 7, E= (e, ,e-1,& @1, ,en),6 i 1,
0 m :
- aus/ ars
- sl ass
&= |/ as - '
- ams/ ass
B : B ' , ,
8
max Z = 4x: + 3Xq,
2X1+ 3X2<5 24
Ss.t. X1+ 2X2< 26
X1, X222 0.
max Z = 4x:+ 3Xz2+ Oxs + OXa,
2X1+ 3X2+ Xs = 24
S.t. X1+ 2X: + X4s= 26
X1, X2,X3,Xa= 0.
2 310 24
A= (P1, P2, Ps3, Pa) = 3 20 1° b= 26 C=(c,c,c3,)=(4,3,0,0).
o= (Ps,Ps)=1, By '= Bo=1,Bo b= 22 , Xso= (X3, X4) ', Ceo= (0, 0),
Xno= (x1,x2) ", Cvo= (4, 3).
Yo= CsoBo'= 0, gvo= YoNo- Cnvo= (- 4,- 3)= (o, &), : X1
8= min {;‘)—)11;’1)—: (Bo 'P1) > 0 = min(12, 26/ 3) = 26/ 3. Xa
Bi= (Pas, P1), Xe1= (X3, X1) ', Xn1= (Xz, X4) ', Cez= (0, 4), Cu:= (3,0) .
- 2/3 ., o, 1 -2/3 L, 1 - 2/3 24
&= , ,Bi'= EiBo '= , Xe1= Bi b= =
1/ 3 0 13 0 13 26
20/ 3
26/3

22



. 3 0
Yi= Ce1B:1 "= (O, 4/3), ovi= YiNi- Gui= (0, 4/3) 5 1 - (3, 0)= (- 1/ 3,
4 3) = (o, o), , X2

.1 -23 3 53 (BB, o
B: P2= 0 Uz 2 - 23 > 0, 6= min (B: 'P2), B: P> 0 = min(20/3
/513, 26/3/2/3) = min(4,13)= 4 .
X3 . B2= (Pz, Pl). Xg2= (X2,X1)T,XN2: (X3,X4)T,C52=
(3,4),Cv2= (0,0) .
_¥s . ¥s0 . . 350 123 _
“T s BT ys 1B TERT g5 1 0 wa T
35 - 2/5 o 35 - 2/5 24 4
,XBZZ B2z b= = .
- 2[5 3/5 - 2[5 3/5 26 6
» 3/5 - 2/5
Y2= Cs2B2 "= (3,4) = (1/5,6/5), on2= Y2Nz2- Cn2= (15, 6/5)
- 2/5 3/5
1
- (0.0)=(8/5U85 20 B ,
C_ox 4 :
X = . = , Z' = Ysb= (U5, 6/5) = 36.
X2 6
2.4
2.4.1
9 1, :
?
yl y y2 ' '
] 4 H
2y1+ 3y22 4.
yi1+ 2y.=> 3.

min W = 24y: + 26y..

min W = 24y: + 26y,
. 23.



2y1+ 3y22 4
s.t. 3y:1+ 2y.> 3

yi,y22=2 0.
m , n : bi(iI=1, ,m).
(J: 11 2’ 1n) 1 a'J ) Q
)
Xj j :
max Z = CiX1+ CoX2 + + CXn,
AuX:+ awXz2+ + amnXn < b
Az1X1 + Az=Xz2+ + amXn < b
S. t.
amXi1+ ameXz+ + amXn < b
xiz2 0(j = 1,2, ,n).
Ve i ( )(i= 1,2,3, .m),
] a.lj,a.Zj, lamjl
min W = b1y1 + b2y2 + + bnym,
auy: + azy2+ + amym2 C
; awy: + a=zy2+ + amym 2 C
S. 1.
alnyl+ a2ny2+ + amnymZ Cn.
2.4.2
1.
max Z = CX ,
AX < b
s.t
X=0.
min W = Yb, min W= b'Y'
YAz C AY = C
S.t. S.t. .
Y= 0. Y =2 0
) A’ b’C )
10 1

24.

(2. 15)

(2. 16)

(2.17)

(2.18)

(2.19)

(2. 20)

(2.21)

(2.22)



3
A= . C= (4,3), b=
2 26
. T\ T y1
mnW = b'Y = (24, 26) :
Y2
Ay = 23,8
32 vy, 3
min W = 24y. + 26y-,
2y1+ 3y:2 4
.+ 2y.2 3
Yi,Y2 2 0.
(1)
(2)
(3) 13 S ”’ 13
(4) ,
2.11
2.11
X X1 X2 Xn min W
Yi
y1 a1 ar amn < b1
Y2 a1 az an < b2
Ym am1 am Am < b
= = =
max Z Ct C2 Cn
11 2.12
2.12
Xi X1 X2 b
Yi
y1 3 4 8
Y2 2 0 16
ys3 1 2 12
C 3 5

25



max Z= 3X:1+ 5x.:,
3X1+ 4x.< 8
2X1 < 16

min W= 8y:+ 16y.+ 12ys,

3yit+ 2y.+ ys:= 3

S. t. s.t. 4y: + 2ys> 5
X1+ 2X2< 12
Yi,Y2,y3= 0.
X1, X222 0.
2.
max Z = CX ,
AX =D (2.23)
S.t
X=20
AX=Db AX< b
- AX< - b,
(2.23)
max Z= CX ,
AX< b (2.24)
s.t. - AX<- b (2.25)
X=>0
Y' (2.24),Y" (2.25),
min W= Yb- Y, minW= (Y - Y")b,
YA- YYA=> C (Y- YDA= C
Y,Y'>2 0, Y,Y'">2 0.
Y=Y'- Y" Y ,
min W = Yb,
YA= C (2. 26)
Y
’ 2. 13
2.13
( ) ( )
max Z min W
n n
>0 2
<0 <
m m
< >0
> <0

26-



12
min Z = 3x:1 + 2Xz2- 4X3+ Xa,
X1+ X2- 3Xs+ Xa2 10
2X1 + 2X3- X445 8
S. L. <2 + X + Xa= B
X1 < 0, Xz, Xs2 0, Xa
2.13
max W = 10y: + 8y.+ 6ys,
Y1 + 2y2 > 3
Y1 + ys< 2
s.t. - 3yi1+ 2y:+ ys< - 4
Y1 - y: tys=1
yi2 0,y2< 0,Vs

2.4.3

X(O) ’ Y(O) CX(O) <
Y 9.

max Z = CX, AX< b,X= 0

minW = Yb, YA> C,Y> O.
X , AX'%< Db,
vy , YA> C .
CX(O) Y(O) X(O) Y(O) X(O) Y(O)

, ( ) , ( )

X Y cX'?= Y%,

max Z= CX, AX< b, X= 0,
max Z= CX+ OX., AX+ X.= b, X= 0, Xc= 0.
X B

CsB "(A,1)- (C,00=20, CsB 'A- C20,CB '20.
Y = GB ', YA>2CY =0.
Y =GB’ min W= Yb, YA= C,Y= 0
W=Y b= CB b,

v

27-



Z=CX =GB b .

Y b= CX .
XY , . O
XY . XY
Y Xe= 0  Y:X = 0.
max Z = CX , min W = Yb,
AX + XL = b YA- Ys= C
X,X.2 0. Y,Ys= 0.
Z= CX= (YA- Ys) X= YAX- Y:X. (2.27)
W= Yb= Y(AX + X.) = YAX + YX.. (2.28)
= > X, Y , CX= Yb, (2.27) (2.28),
Y AX - YX = Y AX + Y Xu.
- Y X' = Y X..

Y ,Ys=2 0,X ,X.= 0,
YX" =0 Y Xu= 0.
< = Y Xe= 0, YsX = 0.
(2.27) (2.28) CX =Y AX =Y b.
X Y . O

max Z= CX, AX+ Xi.= b, X, X2 0.
min W= Yb, YA- Ys= C,Y, Y= 0.

, 2. 14.
2.14
XB XN XL
0 CsB” 'N- Cn GB !
Ysl YQ Y
Ya Xs , Ye2 Xn
B , A= (B, N),

max Z = GCsXs + CuXn,
BXe + NXn + Xo= b
Xe, Xn, XL 2 0.

S. t.

min W= Yb,
28



YB- Yaz= G (2.29)
s.t. YN- Yz= Gy (2.30)
Y,Ys,Ye= O ,
Y= (Yo, Ye) .
X= (Xs, Xn, X1)'= (B "b,0,07, =
(os,0n,0)= (0,CsB 'N- Cv,CsB '). Y= CsB 7, (2.29),(2.30) Ya= 0,
Ye= C:B 'N- Cu, (Y, Ya, Y2) = (CeB ", 0,C:sB” 'N- Cu) . O
13
max Z = X1+ Xz,
- 2X1+ 2X2+ 3X3< 6
S.t. - 31+ Xz2- X3 5

X1,X2,Xz= 0.

, ,X=(0,0,0)",
min W = 6y:+ 5y,
- 2y1- 3y:2 1
2y:1+ y.2> 1
S. t.
yi- y22 0
yi,y22=2 0.

y1,Yy22 0, , : :

mn W= 2X1+ 3X:+ 5BXs+ 2Xs+ 3Xs,
X1+ X2+ 2Xs3+ Xa+ 3Xs52 4

S.t. 2X1- X2+ 3X3+ Xa+ X522 3
xjz 0,j =12 ,5.

yI= 4/5,y§= 3/5 7 = 5

2.4.4

(C:B "A- C= 0) , :
(B "b= 0),

29



Zi- G > 0,
b 1) ) 1) b )
(1)
min{iG&(B 'b)i< 0}=r, X
(2)
Xr ai(j= 1,2, ,n). ai= 0,
0= min —2|a, < 0 = —%
arj ars
Xs
(3) ars y '
14
min Z = 12y: + 8y:+ 16ys+ 12y,
2y1+ Y2+ 4ys > 2
s.t. 2y:1+ 2y + 4y.> 3
yi2 0(1= 1,2,3,4) .
max Z' = - 12y: - 8y.- 16ys- 12ys+ 0ys + Oys,
- 2Y1- Ya2- 4dys+ ys=- 2
S.t. - 2y1- 2y2- 4dys+ ye= - 3
Yi,Y2, Y3, Ya,Ys,Ys = 0.
, 2. 15.
2.15
G- - 12 - 8 - 16 - 12 0 0
Xs b Y1 y2 Y3 ya ys Ve
0 ys 2 2 1 4 0 1 0
0 Ve 3 2 2 0 [- 4] 0 1
Z' 0 12 8 16 12 0 0 <G
0 Ys 2 2 [- 1] 4 0 1 0
12 Ya 34 1/2 1/2 0 1 0 - 1
Z' 9 6 2 16 0 0 3 -G
8 y2 2 2 1 4 0 1 0
12 ya - 14 12 0 [- 2] 1 12 - U
Z' 13 2 0 8 0 2 3 e
- 8 y2 32 1 1 0 2 0 - U2
16 Vs 18 1/4 0 1 -1/2 | - 1/4 1/8
Z' - 14 0 0 0 4 4 2 e




y= (Y1, y2,Ys,Y4) = (0,3/2,1/8,0)".

Z'=-2'=14.
2.4.5
: B {max Z= CXOAX< b, X= 0} , Y =
CsB 7,
Z = GB 'b= Y b= Z biyi |
VAR _
b - Vi, ’ Vi |
i (CsB 1)i.
i ;
; : ( shadow price). ,
( )
i yi o,
(1) : ,
(2)
(3)

. 31



(4)

2.5
,ai, b, g , ,
1 ) ?
, ? :
?
1 B 1)
(1) B ( B 'b=0);
(2) B ( GCB 'A- C=0).
( B).
2.5.1 C
(1) G Xi . G-Gat Ac, B ,
g = GB 'P- (¢+ Ag) = O,
Ac< CsB 'Pi- 6= 0. (2.31)
B y AC
(2) C Xr . ©&-ct Ac Cs :
0= (C:+ AG)B 'A- C
= GB 'A+ (0, ,Ac, ,0)B'A- C
= CGsB 'A- C+ Ac(as, a2, ,am).
o= o+ Ac(an, a2, ,am) .
g =g+ Acas, (j = 1,2, ,n).
g =g+ Aca; = 0, (j= 1,2, ,n). (2.32)
(2.31) Ac
mjax{- g/ajC; > 0} < Ac < mjin{- /a4 < 0} .
Ac : B ,
15 1 2.7 : X1 c Ac,
) Ac:
at Ac 2.6 2. 16.
B :

1/5- 2/5Ac:=2 0O
6/5+ 3/5Ac. = 0,
. 32.



- 2< A 1 2.

2.16
G - 4+ Ac 3 0 0
Cs Xs b X1 X2 X3 Xa °
3 X2 4 0 1 3/5 - 2[5
4+ Ac X1 6 1 0 - 2/5 3/5
Z 36+ 6AcC: 0 0 1U5- 2/5Ac | 6/5+ 3/5Ac -qg
X1 C [ 2, 4. 5] :
6AcC:.
2.5.2
b , bx B A, C ,
- > b+ Ab, Xs'= B "(b+ Ab),
Ab = (0,0, ,Ab,0, ,0)°". Xs'= 0, B
Abx
B '(b+ Ab)= B 'b+ B 'Ab,
B 'b= (b, bk, ,bn)’,
0 Ak
, B 'Ab= B’ Ab = Ab
0 amk
B 'b+ B Ab> 0,
bi+ axAbk= 0, 1= 1,2, ,m. (2.33)
B (2.33), Abx
mgx{- bi/ aiCgik > 0} < Abk < miin{- bi/ axCqx < 0O} .
. K : B :
b , B
16 1 be
2.7
) ., 0
B b+ B > 0,
Ab
4 3/5 - 2/5 0 4 - 2/5
+ = + Ab.> O
6 - 2/5 3/5 Ab 6 3/5



4- 2/5Ab > 0
6+ 3/5Ah> 0.

- 10 A< 10.
b2 [16, 36] .
2.5.3
(1) aij : b ,
17 1 ,
y PlI: (l, 2)T, 6
?
r, Xll , Xll X1, Pll
P.
o 3/5 - 2/5 1 - 1/5
B P/ = =
- 2/5 3/5 2 4/ 5
-1 = 1/5
a = G'B P/- ¢ = (3,6) - 6=- 9/5.
4/ 5
35
| o= (3,6) . 0=- 3/5,
- 2/5
- 2/5
o= (3,6) . 0= 125
3/5
2.6 , 2. 17.
2.17
Cj - 6 3 O 0 e
G XB b X1’ X2 X3 X4
3 X2 4 - 1/5 1 3/5 - 215 -
6 X1 6 [ 4/ 5] 0 - 215 3/5 15/ 2
Z 48 - 9/5 0 - 3/5 12/ 5 e
2.17 [4/5] , 2.18 2.19
2.18
Cj - 6 3 O 0 e
G XB b X1’ X2 X3 X4
3 X2 11/ 2 0 1 [V 2] - 1/4 11
6 X1 15/ 2 1 0 - 1/2 34 -
Z 123/ 2 0 0 - 3/2 15/ 4 e

34-



2.19

Ci — 6 3 0 0
0
G XB b X1' X2 X3 X4
0 X3 11 0 2 1 - 1/2
6 X' 13 1 1 0 /2
Z 78 0 3 0 3 -G
2.19 13 0o 78
17 , ( ) ;
(2) ai : B , B
ai —ait+ Aai,
g =GB 'P'- g= g+ (CB ") Aay,
(CeB ")r CsB* r
B , Aai
6
rj 2 - - . .
Aa; (G:B 1)r (2.34)
2.5.4
( : ) :
18 1 1 3 , 1
4 30 ,
X1+ 4x.< 30.
X1= 6,X2: 4 , 34, . )
X1= 6+ 2/ 5x3- 3/ 5xX4 X2= 4- 3/ 5xs+ 2/ 5X4 X1+ 4x.< 30,
- 6/5xs- 1/5x.< - 4.
X5 2.7 , 2.20.
, 22/3 2
106/ 3

35



2.20
G - 4 3 0 0 0
@ XB b X1 X2 X3 X4 Xs
3 X2 4 0 1 35 - 2/5 0
4 X1 3] 1 0 - 2/5 35 0
0 X5 -4 0 0 [- 6/5] - 1/5 1
Z 36 0 0 /5 6/ 5 0
3 X2 2 0 1 0 - 1/2 V2
4 X1 22/3 1 0 0 2/ 3 - 1/3
0 X3 10/ 3 0 0 1 1/6 - 5/6
Z 106/ 3 0 0 0 o/ 7 16
2.6
2.6.1
) ) ?
m Ai,i= 1,2, ,m, ( ) ai,
Bi,j= 1,2, ,n, b, Ai B G,
2.21
2.21
B, B, B.
Ai Ci1 Ci2 Cin ai
A C21 C22 Con az
Am Cm1 Cm2 Cm am
o] 07) bn
Xij Ai Bi ,

36:

Zai: _b,



xi 2 0, (1= 1,2, ,m;j= 1,2, ,n).

min Z = CX ,
AX =D
s. t. VS
C= (cu, Ci2, ,Cw,Co1,C2, ,Cn, ,GCni,Cn2, ,GCm) ,
X= (X1, X12, , X1, X21, X22, , X2n, , xm1, Xm2, ,an)T,
b= (ai, a2, ,am b, b, ,b)",
X1 Xi2 Xin Xzt X2 X 2n Xmi  Xmz2  Xmn
1 1 1
11 1 n
A= 1 1
1 1
1 1 1 m
1 1 1
A Xii Pi Pi= &+ enj. A rank (A) =
m+ n- 1, A m+ n- 1.
m+ n- 1 :
, 0 x5i< min(ai, by), max : min :
m N Xi  m+n- 1
; : m n : :
A ; ,
2.6.2
( )i :
18 A1, Az, As Bi, B2, Bs, Ba, Bs,
2. 22 : ?

37



2.22

38:

B: B2 Bs B Bs
( )
A1 7 10 8 6 4 40
A 5 9 7 12 6 40
Az 3 6 5 8 11 90
( ) 30 40 60 20 20
1.
18 2. 22 3, As 30 B,
B: B. , 2.23.
2.23 ( ) / )
B: B, Bs B. Bs
( ) B. B2 Bs Bs Bs
Al 40 1 10 8 6 4
A2 40 b 9 7 12 6
A3 30 90 3 6 5 8 11
( 30 40 60 20 20
4, A1 20 Bs, Bs
5 As 60 Bs, Bs As , As )
(m+ n- 1) ,
[13 0” , (AZ’ B3) [13 0” ; )
2.24 2. 27
2.24 ( ) / )
B: B2 Bs B4 Bs
( ) B: B2 Bs B4 Bs
Al 20 40 / 10 8 6 4
A2 40 b 9 7 12 b
Az 30 90 B 6 5 8 11
( 30 40 60 20 20



2.25

B B, Bs Bs Bs
( B: B: 3 Bs Bs
A1 20 40 / 10 6 dl
A 0 40 b 9 12 )
As 30 60 90 i
] ]
( 30 40 60 20 20
2.26 ( ) ( /
B: B2 Bs B4 Bs
( 1 B> 3 B4 Bs
A1 20 20 40 10 6 T
A2 0 0 40 b 9 12 )
As 30 60 90 B 6 ) It
] ] ]
( 30 40 60 20 20
2.27 ( ) ( /
B: B2 Bs B4 Bs
( 1 B2 Bs 4 Bs
Al 20 20 40 7 pi ) + it
A2 40 0 0 40 ) 9 2 D
As 30 60 90 — B ® ) l pips
T T T T
( 30 40 60 20 20
Z=280 6+ 280 4+ 40 9+ 8 7+ 6 12+ 38 3+ 68 5= 950 .
9.5 ,
(m+ n- 1)
: (m+ n- 1) ,
2.
(1)

39:



(2)

(3) (1) (2),
18 , 2.28 2. 39.
2.28 2.29
B: B> Bz Bs4 Bs B: B2 Bz Bs Bs
A1 7 10 8 6 4 A1 40
A2 5 D 7 12 6 A2 40
As 3 6 5 8 11 2 As 40 90
2 3 2 2 2 30 40 60 20 20
2.30 2.31
B: B> Bz Bs4 Bs B:. B> Bs B4 Bs
A1 14 10 8 6 4 2 A1 40
A2 5 D 7 12 6 1 A2 40
As 3 ) 5 8 11 2 As 30 40 90
2 2 2 2 30 40 60 20 20
2.32 / 2.33
B: B> B: Bs4 Bs B: B2 Bs Bs Bs
A1 Y 10 8 6 4 A1 40
Az ) D 7 12 6 Az 40
As 3 P 5 8—I1 3 As 30 40 20 90
- 2 2 2 30 40 60 20 20
2.34 / 2.35
B: B> Bs Bs Bs B:. B> Bz B4 Bs
A1 T 110 8 6 4 2 A1 20 40
A2 5 D 7 12 6 1 A2 40
As 3 (3] 5 SRR - As 30 40 20 0
- 1 6| 2 30 40 60 20 20
2.36 / 2.37
B: B2 Bs 14 Bs B:. B> Bs B4 Bs
A1 16—S8 % 4 A1 20 20 40
A2 5 D 7 6 1 A2 0 40
As 3 9] 5 - As 30 40 20 90
- 1 - 2 30 40 60 20 20

40-



2.38 : / 2.39 : /

§. H. B 14 Bs B, B Bs Bs Bs
A: Ho—8 4 A1 20 20 40
Az l) 9 7 6 1 Az 40 0 40
As —6—5 As 30 40 20 90
1 1 - 6 30 40 60 20 20

Z=28 6+ 280 4+ 28 4+ 48 7+ 0O 6+ 38 3+ 48 6+ 28 5=09.1

(1)
; , , 90
1 1 " (2)
2.40 , ,
2.40
B: B2 Bs Ba Bs
A1 30 —— 30 60
A 40 | | 30 70
Az 30 — 30 40 100
40 60 60 30 40
, , ( ) oi= CeB 'Pi- ci=
(uit vi)- i &) Jn. : gi< 0
1.
2.27 .
2.27 , 2.41,
2.27 .
(Al,BZ) (Al, BZ) —>(A1, B4) —>(A2, B4) —>(A2, BZ) —»(Al, BZ),
A1 1 B:, ? : Az 1
B4, A2 1 B4, A2 B-. , 10- 6+ 12
- 9= 7 , , . 7 - 7 (Al,Bz)

. 41



2.42

2.41 /
B: B> Bs B. Bs
A1 6 4
A, 9 7 12
Az 3 5
2.42
B: B2 Bs B4 Bs
A1 -8 -7 7
A2 0 4
Az 1 2 - 3
2.42 , 3
2.
,CeB ' m+ n
ull u21 lum!vllvzl an'
oi= CeB 'Pi- ci, Pi= &+ enj, ,ai= (Uit vi)- Gi.
( ) gi= (uit vi)- Gi= O(i,j Je). m+ n m+ n- 1
Ui+ Vi = G (1] Js) .
u vi(i=1,2, ,m;j=1,2, ,n), ( )
2.41 ,
2.41 : ui  Vvi(
2.43).
2.43 /
B: B2 Bs B4 Bs Ui
A1 6 4 UL
A2 9 7 12 17
As 3 5 Us
Vi Vi V2 V3 V4 Vs

42.



uit vi= G (1] Js),
u= 6
Uur+ Vva= 6
u.= 12
ur+ vs= 4
us= 10
U+ v2= 9
vVi=- 7
U+ vs= 7
V2= - 3
U2+ Vva= 12
vVs=- 5
Uus+ vi= 3
va= 0
Us+ Vvs= 5,
Vs = - 2.
gi= (uit vi)- ci(i,j Jn), , 2.44.
2.44 /
B: B Bs B Bs Ui
A1 - 8 - 7 - 7 6
A2 0 4 12
Az 1 2 -3 10
\Vi - 7 - 3 -5 0 2
, 18 (A, Bs) |
6= min{ }. o ,
2. 45, 2. 46
2.45 2.46
B: B2 Bs B4 Bs B1 B2 Bs B4 Bs
A1 20 20 | 40 A1 -4 -3 3
A2 40 0 0 40
As 30 60 % Az 0 4
30 40 60 20 20 As 1 - 12 - 7
(As, B) , 2.47 2. 48
2.48 , 8

Z' =28 6+280 4+ 28 4+ 40 7+ 0 6+ 38 3+ 480 6+ 28 5=9.1

43.



2.48

B: B:

(1) 0
(2)
[13 O”
r(r>1)
r_ 1 [13 0"
18.
2.47
Bs B4 Bs
A1 20 20
A2 40 0
A3z 20
60 20 20
2.6.3

44.

A1
A

As




m n

Zl)(i,n+1: Zlaa- Zlh = bn1.

0, , GCine1=0,11,2,3, ,m,
m n+1
min Z' = Z Z CiXi,
Zx.,—a(l— 1,2, ,m)
Z i = b(j = 1,2, ,n+ 1)
-1
xi2 0(i= 1,2, ,m,j= 1,2 ,n+ 1).
J ) Anms+ 1, am+ 1
am+ 1 = b - ai.
DYDY
Am+1 Bj Cm+ 1,j = O(J = 1121 1n) ’
19
2.49
2.49 /
B B2 Bs B4 ( )
A1 6 3 12 6 10
A2 4 3 9 12
As 9 10 13 10 10
C ) 6 14 0 5
( ) 10 14 6
: 32 :
25 : 12 :
42 ) ) A4, lo
, Al, 6 , Az
’ M(M ), A4 y O.
! H 2 50
2.49 (A2, Ba) A: B ) 2. 50 M
2. 50 : 2.51
A1 B B+« 8 2 , Az B: B:
6 , As B 10

Z' =8 3+ 6+6 4+ 3+% 10+ 5 10= 178

. 45.



2.50

(1)

(2)
(3)
46

B{ B/ B2 Bs B4 B4'
A1 6 6 3 12 6 6 10
A 4 4 3 9 M M 12
Az 9 9 10 13 10 10 10
A M 0 M 0 M 10 10

6 4 14 6 5 7

2.51

B B B2 Bs B4 B4’
A1 8 2 10
A2 6 6 12
Az 5 10
A 6 10

6 4 14 6 5 7

2.7
)
1,

X1

max Z = 4xi1 + 3Xo,
2X1 + 3X2 <
s.t. X1+ 2xo

X1,X22=2 0.

x1=6,x§= 4,z*=36.

36



2.7.1

d:

ds

ds
(3),

: (1)(2)(3)

X1
D 2X1t+ 3x2< 24 .

- X1+ Xo+ di - dI = 0.
(2), D 31+ 2%+ d2 - szr = 26 .
, 30

© AX:1+ 3X.+ ds- ds = 30.

min Z. = d. ,
minZ.= d> + dz°
min Zs = ds .

min Z:= di ;min Z2= dz + dz ; min Zs= ds .

2X1+ 3X2< 24

- X1+ X2+ di - di =0
S.t. 3X:+ 2x:+ d> - d> = 26

4x.1+ 3x2+ ds - ds = 30

X1, X222 0,di = 0,di = 0,i= 1,2,3.
, X
, di di di
; di :
) di+¢0 )
diZz0 di = 0, .di di = 0.
di di .

X2

30

(1)

. 47
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(2)
(3)
(4)



(1),

(2)(3) (4). :
: fi(X)+ di - di = b,
di=0 , fi(X)2 b,
di=0 , fi(X)< b,
di=di=0 , fi(X)=b.
3.
: : P,
P2, ,Pxa, P Pw1,(k=1,2, ,K) P« P 1
, P, ,
P2 P : :
Wk,
4,
fi(X)+ di- di= b
(1) : min (di + di) ;
(2) , min (di) ;
(3) : min (di ) .
(1)(2)(3) P1, P2, Ps,
min Z = Pid: + Po(ds + di) + Psds,
2X1+ 3Xx2<5 24 (1)
- X1+ X2+ di - di =0 (2)
S.t. 3x:+ 2x2+ d> - d: = 26 (3)
41+ 3x.+ d: - d: = 30 (4)

X1,Xx2= 0,di = 0,di = 0,i= 1,2,3.

L K

minz= % Py (widi + idi)

ZainjS bi 1= 1,2, , M
-1

s. t. Z GiX; + de - dk = O« k= 1,2, , K
-1

X;j=2 0j= 1,2, ,n; de,dc =2 0k= 1,2 ,K.

. 48.



Po

2.7.2

20
(1)

(2)
(3)

OBC;

C(24/5, 24/ 5)
Ps

24/ 5, x.= 24/5,

2.7.3

21

Po

: 2.6 : OAB
: (di ,di) 0,
2.6
di ,di
P1 , min d: , , di=0
P : OBC min(d: + dz),
(2) , (d: + d2) : dz = 0,d2 = 2;
, C ,ds=0,ds = 18/5. , X1=
168/ 5= 33.6
di  di , ( ),

min Z = Pidi + Po(d: + d>) + Psds,

. 49.



2X1 + 3X2+ Xs

50-

- X1+ Xo + da - di =0
s.t. 31+ 2%2 + d> - d: = 26
4X1 + 3Xo2 + ds - ds= 30
xi= 0,di = 0,di = 0,i= 1,2,3
1
X3, d1 ,d2,ds , 2.52.
2.52
G- 0 0 0 P. | P2 | Ps 0 Ps 0
Cs Xs b X1 X2 X3 di d> da di dz ds °
xs | 24 | 2 3 1 0 0 0 0 0
P: | di 0 | -1]1[1] 0 1 0 0o | -1 0
P | d> | 26 3 2 0 0 1 0 0 - 0 13
P: | di | 30 3 0 0 0 1 0 0 -1 10
Pr | -1 1 -1
G - P> 3 2 ]
Ps 4 3 1
2.52
- :
G= 2 - q=Zlaijk— ¢ (j=1,2 ,n).
: X1
0
Gz 7o 6= (2 - 134 - 0=- Pi+ 3P+ 4P
2
Ps
-1
(o)1 K 3
4
K
2
P P«
k(1< k< K) : k-
, , 3
. 2.52 P, 2,
3
(1) k(l< k< K) :



(2 : ,
y X2 ,di , az2
, 2. 53, 2
2,3 2. 55,
2.53
G — 0 0 0 Pi P2 Ps 0 P2 0
0
C XB b X1 X2 X3 di d> ds di dz ds
0 X3 24 5 0 1 - 3 0 0 3 0 24/ 5
0 X2 0 -1 0 0 1 0 0 -1 0 -
P d> 26 5 0 0 -2 1 0 -1 26/5
Ps ds 30 [7] 0 0 -3 0 1 3 0 -1 30/ 7
Pi -1
g - PZ = 2 = 2
Ps -3 -1
2.54
G - 0 0 0 P1 P Ps 0 P 0
0
Cs X b X1 X2 X3 d: d> ds di d> ds
0 X3 18/7 0 0 1 -6/7 O - 5/7| 67 0 [5/7] 18/5
X2 30/7 0 1 0 4/7 0 V7 |- 47 0 - 1/7 -
P, d> 32/7 0 0 0 1/7 1 - 5/7|- U7 -1 57 32/5
X1 30/ 7 1 0 0 - 37 O V7 37 0 - 1/7 -
P, -1
g — P2 1/7 - 5/7|- U7 - 2 57
Ps -1
2.55
G - 0 0 0 P1 P Ps 0 P 0
0
C XB b X1 X2 X3 di d2 ds di dz ds
0 dz 18/5 0 0 715 |- 6/5] O -1 6/5 0 1 -
0 X2 24/ 5 0 1 /5 2/5 0 - 2/5 0 0 15/ 2
P2 d> 2 0 0 -1 1 1 0 -1 -1 0 2
0 X1 24/ 5 1 0 5 |- 3/5] O 0 3/5 0 0 -
P1 -1
G — P2 -1 1 -1 - 2
Ps -1
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2.55
d: = ds = 0, 2.6
2.8
2.8.1 DEA
1] H). ’
1978

X1 = 24/5, Xz
C(24/5, 24/ 5)

(A . Charnes)

24/5,7 = 168/5,d>= 2,ds = 18/5,d: = d: =

DEA

(W.W. Cooper) (E. Rhodes)
(the method of data

envelopment analysis), DEA
DEA C'R , “ ”
. 1985 . ” C’GS . 1986
, c'w . 1987 “ ” C*WH
DEA ,
: (
X1, Xz, X3) ( yi, y2)
2. 56
2.56
X1 ( ) 4 15 27
Xa( ) 15 4 5
X3 ( ) 8 2 4
yi ) 60 22 24
y2( ) 12 6 8
Vi i Xi , Ur Ve , J

. 52.



3 2

-1
Z ViXi, Z Uy, hi= ———
=1 = 1

ViXij
1
Vi,Vz,Vs U1, Uz, ] hi
hi (j =123 1, max hi< 1. ) k K=
1, : ;o h<
1, H 1
, ( 3 )
max H = hs,
o his 1i=123
S. 1.
u== 0r= 1,2 vi=z 0,i= 1,2,3.
hy = 60u: + 12u- h, = 22U + 6U- hs = 24U, + 8u:
LT 40v. + 15v. + 8vs’ 2= 15v: + 4v. + 8vs’ °T 27vi+ 5v2+ 4vs
DEA ,
, DEA
, CR ,
2.8.2 CR
n ( ), m p
( m 113 ”, p 113 ”) , 2. 57
2.57
1 2 ] n
Vi X1n X12 X1 X1n
V2 X2 X22 X3 X2
m Vm X'mi Xm2 Xm Xm
1 u; Y1 Y12 Y i Yin
2 uz Ya Y22 Y3 Yn
p Up Yp1 Yp2 Ypi Ypn




Yi j
Vi i
Ur r
i= l’ 2’ ’m;j = 1’ 2’
Xii Y
V= (V1
Jo
, yrjO
(P)
Xi= (Xu, Xz, ,Xm)
(P) ,

. 54.

i , Xi> 0;

r , Yi> 0;

( );

( );
,nr=12 ,p.

, V2, ,Vm)T U= (us, uz, ,up)T,
p
Uryrj
hj= :ml 1]=1,2, 1n
ViXi
-1
V U,
hi< 1, )= 1,2, ,n
(1< jo< n),
p
UryrjO
max hjo= — :
ViXio
-1
p
Uryrj
< 1,j=1,2, ,n
ViXi
= 1
V= (V,Vo, ,Vm) = 0O
U= (u,uz, ,u) = 0.
jo ,
yro, Xio  Xjo, Yio Yo, Xijo
U’ Yo
max Ve = VTXO ,
Uy, .
Uy _
st VX S L1=1%2 .n
V> 0, U= 0.
Yi= (yu,ya, Lye),j= 1,2, ,n.

Xo,

© Vi

Ur



1

t= w= tV, py= tu,

V' Xo
\L/JT—;(((;: U Yo
\L/JT;((Jj = E)T;(‘js 1,j= 1,2, ,n
wXo= 1, w= 0, p= 0.
(P)
max Ve = J'Yo
wXj- PY;=20 ,j=1,2 ,n
(P) s.t.
WXo= 1, w= O,p= 0.
1 (P) (P)
(1) V,U (P) ,
W=tV u’= t°U°  (P) , ,
oo 1
V°Xo
(2) w.p (P) . VLU (P) ,
1 (P) W, Y’ Ve= P’ Yo= 1, jo
DEA .
2 (P) w> 0,u’> 0 Ve= " Yo= 1,
jo DEA
, jo DEA , DEA
(P)
min Vo = 0,
ZIXJ'}V' + S = 8Xo
(D) s. t. Zle)\j_ S = Yo
A=20 j=1,2 ,n
S>0S=0,60
2 (P) (D) Vo= Ve< L
(D)
(1) (D) Vo= 1, jo DEA ; .
(2) (D) Vo= 1, N,s",s",¢, s =0,8"=0,
jo DEA :
22 , |
( ) L( ) Y( ), 2. 58.
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2.58

1(K) Vi1 1.5 1 3
2(L) V2 4 3 7
1(Y) Us 5 4 8
(1) DEA
min Vo = 0
1.5+ A+ 3+ s = 1.50
(D) - A + 3N+ Th + s‘i = 40
S5+ 40+ 8- s =5
AN=0,j=1,23s =2 09% 2 0,3 2
(D) A= (0,1.250),6=0.93,st = 0.15, = s = o’< 1,
DEA
(2) DEA
min Vo = 0,
1.5+ 2+ 3+ s = 6
Ah + 3+ T+ 52 = 36
(D) s. t.
5h+ 4+ 8- s = 4
A= 0,j=1,2,3,s =2 0, = 0,
(D) M= (0,1,0)",=1,9 = = s = 0. DEA
(3) DEA
min Vo = 0,
1.5+ e+ 3N+ s = 30
A+ 3h+ Th+ $ = 70
(D) S. t.
BAi+ 4k + 8 - =
A= 0j=123s =2 0s =0, =
(D) A= (0,2,0)7,6°= 0.85,8 =0.57,9 = s 6°< 1,
DEA

2.9



2.9.1

23 : 1 000 ;
0.5 ; 0.1 0. 002

50% 0.5% : 1.00 ; 10% 0.4%

0.30 . 2 500 ,

X1, X2 :
X1+ x.= % 1008 0.5 xi1+ x2= 3500.
50% x:+ 10%x.> ¥ 1008 0.1, 5x:+ x2= 7 000 .
SX1+ 4x2= 14 000 .
X< 2500 .

z= x1+ 0. 3x>

min z= X:+ 0.3 Xz,
X1+ Xz2= 3500
o9X1+ X222 7 000

s.t. 5xi1+ 4x.> 14 000

X2< 2 500
X1,X22 0
x1 = 1000,x2= 2500z =1750.
2.9.2
24 A,B,C ,
, 2. 59 ) ,
2.59
A B C
1 2 1 430
3 0 2 460
1 4 0 420
() 30 20 50
A,B,C X1, X2, X3, y

max Z = 30x: + 20x: + 50xs,
57



X1+ 2X2+ Xz< 430
+ 2X3 < 460

3X1

X1+ 4Xe

420

xiz2 0(j = 1,273 .

X4, X5, Xs,

max Z = 30x: + 20Xz + 50xs+ 0Oxs+ + Oxs + Oxs,

X1+ 2X2+ X3+ Xa = 430
3X1 + 2Xs X5 = 460
X1+ 4X2 + Xe = 420
X;2 0(j= 1,234,056 .
2.60
G 30 20 50 0 0 0
Cs XB b X1 X2 X3 X4 X5 X6
20 X2 100 - 14 1 0 1/2 - 1/4 0
50 X3 230 3/2 0 1 0 12 0
0 X6 20 2 0 0 2 1 1
Z 13500 40 0 0 10 20 0
A . B 100 ,C 230 13500
10 / 20
, 20
(1)
, ?
2.61.
2.61
/ 17
/ 16
b2
b b
- 1/4 0
= 1/2 O

58-

1

1



V2 - 1/4 0 I

B ‘b= 0 1/2 0 460
- 2 1 1 420
b./2- 460/4
= 230 > 0.
- 2b + 880
230< b < 440 .
230 440 , . 430 , ,
, 440- 430=
10.
1/2 - 1/4 0 430
B ‘b= 0 172 O > 0,
- 2 1 1 420
440 < b < 860 .
860- 460= 400.
10 / : 10 1@ 10=
100 ; 20 |/ : 400 28
400= 8 000
: 8 10= 30 1¥ 400= 6800( ),
100- 30= 70( ) 8000- 6800= 1200( ).
, 8 10= 80 18 400= 6400( ),
100- 80= 20( ) 8000- 6400= 1600( ).
, 10 , 400
70+ 1 600= 1 670( ).
(2) , A : A
A C X1 : X1
CsB 'P:- &< 0.
1
(10,20,0) 3 - o< O a > 70.
1
A 70
(3) , B 60
?
X2< 60, X7 X2+ X7= 60,
2.61 2.62, . 2.63.
A , B 60 ,C 230 ,

12 700 , 800
. 59.



( 2.63) , 10 /
) ; 80
, 20 25
/ ,
80 180
2.62
G 30 20 50 0 0 0 0
G Xs b X1 X2 X3 X4 Xs X6 X7
20 X2 100 - U4 1 0 v2 - 1/4 0 0
50 X3 230 3/2 0 1 0 12 0 0
0 X6 20 2 0 0 -2 1 1 0
0 X7 - 40 1/4 0 0 - 1/2 V4 0 1
z 13500 40 0 0 10 20 0 0
2.63
G 30 20 50 0 0 0 0
Ce Xs b X1 X2 X3 X4 X5 X6 X7
20 X2 60 0 1 0 0 0 0 1
50 X3 230 3/2 0 1 0 12 0 0
0 X6 180 1 0 0 0 0 1 - 4
0 X4 80 - U2 0 0 1 - 1/2 0 -2
z 12700 45 0 0 0 25 0 20
100
2.9.3
25 ,
, 15%, ;
45% , : 2
: 65%, ,
, , 35%, 1
3 :
: )?
, , Xij J
= 1,2,3;j= 1,2,3,4.
3

60-



X1+ X1z2= 3.

) 2 )
X12< 2.
. , 1.15x1,
X21+ X23- 1. 15x11= 0.
, 1.5 ,
X< 1.5 .
y y 1. 45X12,
, 1. 15x2, ) )
Xa1+ Xsza- 1. 45x12- 1. 15X.:= 0.
, 1 , X< 1.
) 1. 65X23,
1. 15X31 1. 35X34. )
max z = 1. 65Xz + 1. 15X + 1. 35X,
X1+ Xi2= 3
X2 < 2
X1+ X2z3- 1.15xu= 0
s.t. X< 1.5
Xa1 + Xsza- 1.45Xx12- 1.15X1= O
Xau< 1
X2 01= 1,2,3;j= 1,234.
2.9.4
26 100 85 ,A,B,C 55,
60, 70( ). , , (
) 2. 64, 2. 65, 2.66 , ( ).
2.64 2.65
A B C
0 12 10 14 12
10 0 15 12 18
2.66
A B C
A 0 14 11
B 10 0 4
C 8 12 0

61



(1) Q;

(2) Q ;
(3) Ai Q at+ Q ;
(4) B Q bi+ Q :
185 Q 185 . A,
B, C . 2. 67, ,
2. 68, 2210
2.67 2.68
A B C A B C
0 12 10 14 12 285 185 55 45 285
10 0 15 12 18 270 185 85 270
A 10 15 0 14 11 185 A 185 185
B 14 12 10 0 4 185 B 160 25 185
C 12 18 8 12 0 185 C 185 185
185 185 240 245 255 185 185 240 245 255
2.9.5
27 ) ) )
2. 69
, : 1 8%
(1) 550 ;
(2) ;
(3) : 18%:
(4) 20% , X
(5) 4
2.69
() 1 2 3 4
( ) 8 6 4 3
10 20 40 30
10 22 52 30
, ?
X1, X2, X3, X 1,2,3 ,Pl,PZ,P3 P.

62



P 550 :
P :

Ps 18%:
P 20% , :
(1) 550

8(10- 18 8%+ x1)+ 6(20- x1+ x2)+ 4(40- x2+ x3)+ 3(30- x3+ x4)+ di - d: = 550 .
(2)

1 10- 18 8%+ x:+ d2- dz = 10,

2 20- X1+ X + ds- ds = 22,

3 40- X2+ X3 + ds- da= 52,

4 30- X3+ Xa + ds- ds= 30.

(3) 18%
X1+ ds - dé = 2% 18% ,
3 X2+ d7 - d7 =48 18% ,
Xs+ ds - ds =38 18% .

(4) 20% ,

X1+ X2+ X3+ do - ds = 108 20% .

min Z= Pidi + P2(dz + ds + da + ds )+ Ps(ds + d7 + ds )+ Pa(de + do) .

2.9.6
28 1997 ,
( ) ( )
( ) ( ) ( )
2. 70( 1997 ).
2.70
932. 66 583. 08 936. 84 1306. 56
980. 45 581. 64 849. 31 1444, 30
401.8 294. 2 443. 20 461.00
179. 29 49, 76 144. 20 181.41
2196. 09 930. 22 1659. 04 2662. 21
1. 0000 0. 7140 0.9285 1. 0000
1 3 2 1

63-



, DEA
min Vo= 0,
932. 66\ + 583. 08N+ 936. 84As+ 1306.56M+ s = 936. 846
980. 45\ + 581. 64N+ 849. 31A:+ 1444. A0M+ s = 849. 316
401. 8h+ 294. 20+ 443.20A:+ 461. 00O+ s = 443.200

S 179,200+ 49. 760+ 144. 200+ 181 41M- s = 144, 20
2196. 09N+ 930. 22\.+ 1659. 04A:+ 2662. 21M- s: = 1659. 04
AN=0, j=1,2,3,4,s=20 i=1,2,3, s=20 r=1,2.
6= 0.9285, i= 0.8043, = = M= 0,
§=119.71,2 = 0,s: = 88.17,5 = 0, = 107. 24 .
2.1
(1) max Z= 2x1+ 3x2, (2 minZ= - x1- Xz, (3) max Z= x1+ Xz,
X1+ 2X2< 8 X1- X222 - 1 X1- X221
X1 <4 s.t. 0.5X1+ X2 2 s.t. 3Xi- X2 - 3
st X2< 3 X1, X222 0. X1, X222 0.
X1,X22 0.
2.2

(1) max Z= 2x1- 3Xz2+ X3,
Xi1- Xot+ X332 5
4X1- Xo+ 3X3: 6
S. t.
3X1+ X2+ x3< 10

X1, X22 0, X3
(2) min Z= 2x1- X2+ 2xs,

- X1+ Xot X3= 4
S t. - X1t X2- 2X3< 8
X1< 0, %22 0, X3
(3) max Z= - &4O| €O,
X+ y= 2

st. X <3

X,y
2.3

(1) max Z= 2x1+ 3X2+ 4X3+ 7Xa,
2X1+ 3X2- X3- 4X4: 8
S t. Xi1- 2Xo+ 6X3- TXs4= - 3

X1,X2,X3,X4= 0.
(2) min Z= 5x1- 2x2t+ 3x3- 6Xa,

64-



X1+ 2X2+ 3X3+ 4xsa= 7
S.t. 2Xit+ Xot Xzt 2X4= 3

X1, X2, X3,X42 0.
2.4

(1) max Z= x1+ 2x2,
X1+ X2 27
s.t. 4X:i+ 3X.< 36
X1,X22 0.
2.5
(1) max Z = - x1+ 2x2+ Xa,
2X1+ X2+ X3< 4
S.t. X1+ 2X2 <6
X1, X2,X32 0 .
(2) minZ = - 3x1+ x2
- X1t X< 2
S.t. 3X1 - X< 6

X1,X22 0.
(3) max Z = 3x1t+ 5x2t xs,

- AX1+ 2X+ X3< 14
S.t. - X1 + X2 - X< 4

X1, X2,X3= 0.
2.6 M

(1) min Z= 2x1+ 5xo,
2X1+ Xot+ X3 2 6
s. t. X2+ 3x3= 9

X1,X2= 0.
(2) max Z= xa1t+ 2x2t 3xs,

BXx:; + 32+ X3 <9
- Bxi+ 6x,+ 16x3< 15

2X1 + X2 + X3 =25

S t.

X1,X2,X32 0.
2.7
(1) max Z = 5xi+ 2x2+ 3xs,
X1+ 5xz2+ 2x3= 30
S.t. Xi- 5X2- 6x3< 40
X1,X2,X32 0.
(2) min Z = 5x1- 5x2- 13xs,
- X1+ X+ 3x3< 20
S.t. 12x1+ 4xo2+ 10x3< 90
X1, X2,X32 0 .

2.8

(1) max Z= 2x1+ X2+ 5xs,

(2) min Z= - 2x1-

S. t.

X1+ 2X2<

3X 1+ X<

X1, X22 0.

3X 2,
6
15

65



2X1+ 3X2+ 5xs3< 2
3X1 + X + 7X3S 3
S t.
X1 + 6X3S 5
X1, X2, X32 0.
(2) max Z= x1t X2+ Xa,
2X1'+ Xo + 5X3S 12
X1+ 2Xo+ 7X3= 6
S. t.
X1 + 6Xx3= 4
X1,X2,X3= 0.
(3) min Z= 4x 1+ 2X o+ 3X3,
2X1 + Xp + 5X3< 6
X1 + 2X2+ 7X3: 4
S. t.
X1 + X322
X1 , X2< 0,%x3= 0.
2.9
(1) min Z= X1+ Xo,
2X1+ X2 4
S.t. X1+ 7X3=> 7
X1,X22 0.
(2) max Z = 2X1- X2+ Xs,
2X1+ 3X2- 5X3Z 4

- X1t 9X2- X 32 3

ST gxat bxo+ 3o 8
X1, Xz2,X3= 0.
2.10
max Z = - 5Xi+ 5Xp+ 13X3,

- X1+ Xo+ 3X3S 20
s.t. 12x:+ 4x.+ 10xs< 90

X1, X2, X322 0.

(1) 20 30;
(2) 90 70;
(3) X3 13 8
-1 0
(4) xa 12 g
(5) 10X 1+ 5X2+ 10xs< 100 ;
(6) 2x1+ 3x2+ 5x3< 50 .
2.11 ,
( ), ( ),
: 100
30 000 ;
1 10/ 3 , 1

66-
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20 1000 ?
2.12 ,
2.13 2. 71(a)(b) (c) , ?
2.71 (a)
B1 B2 Bs Ba Bs Bs
Az 20 5 25
A: 25 30 55
As 15 15 40 10 80
Aa 20 20
20 30 45 15 40 30
(b)
B1 B2 Bs Ba Bs Bs
A1 30 30
A 10 25 35
As 15 25 5 20 65
Aa 20 20
10 40 25 5 50 20
(c)
B1 B2 Bs B4
A1 6 4 10
A2 4 8 6 18
As 2 9 11
4 10 15 10
2.14
(1)
2.72
B1 B- Bs B4 B1 B> Bs B4
A1 3 2 2 2 1
A2 6 10 8 5 4
As 6 7 6 6 8
4 3 4 4
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(2)

2.73
B: B Bs B1 B2 Bs
A1 12 5 8
A 14 2 4 0
As 4 3 7
9 10 11
2. 15 100 , )
, , 2.74 ,
2
2. 74
B: B Bs B: B: Bs
A1 100 600 700 500
A> 500 800 500 850
As 400 400 150 300
200 300 500
2. 16 3 3 . 3 3 000, 5 000 4 000
1 4 000 , 4 i ]
2.75
2.75
i B: B> Bs B4
i
A1 15 13 12 14
A> 18 17 15 12
As 13 10 9 10
2.17

(1) min Zz= Pi(di+ di)+ P2(dz2+ d3) ,
15x 1+ 25x,+ di - di = 600
X1+ 3X2+ d2 - dz = 60
X1+ 3X2+ d3 - ds = 40

X1,X22 0,di=20,di=0,iF 1,2 3.
(2) min Z= Pid:1 + P.dz

X1 - X2+ di- di= 50

2X1+ X+ dz- d;=0
< 1 000
X1,X22 0,di=0,di=0,i= 1,2.

S. t.

S. t.
X1 + Xo

2.18
68:



(1) min Z= Pidi + P2d3 + P3(dz + d3 ) ,
X1+ Xo +di- di = 60
X1- X2+ 2Xs+ d2- dz = 10
st X1+ Xz- Xa+ dz- d3 =20
xi= 0,di=0,di 2 0(i=1,2,3) .
(2) min Z= Pidi1 + P2di + 5Psd2 + 3Pad3s + Padi
X1+ Xo+ di - di = 80
X1 +dz- dz= 60
S t. X2+ d3z- d3i= 45
X1+ Xo+ di- di= 90
X1,X22 0;di = 0,di = 0 (i 1,2 3, 4)
2.19 , A,B,C
6 , 8 10

, 500 , 650 800

P 1. 10° ;
P2 ;

P a: :

2.20 3 ,

j 276 (i=1,2j=1,2,3) .

2.76

12,10

10 4

12

3000
4000

2000 1500

5000

(1) 3

(2) 75%

(3)

(4) 2 1 , 1 000
(5) 1 3 2 1

(6) 1 2

2.21 ( )

(1) 100 , 160 400

1,1,5 , 150
(2) . 5 000
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1000

2.77

20 000

70

2.85 3.10
3.05 3.25
2.90 2. 95
[ ” 2 OOO
3



3.1

( )

n
X1,X2, ,Xn, Z= ZQXJ
-1

Z aij X < bi (i: 1, 2, ,m)

XJZO (J=1’21

Xi

X , X

cX< cX < X |

cX - cX< cX- cX .

),
0-1

.71



cX- cX<d X X

) ’) 1
, 3.5 , n=
10 , 10! > 3 10° . n=20 ,20 > 2 10°, ,
’ O_l
3.2
1.
1 A1, A2 , B:, B2
3.1 . A1, Az
, ?
3.1
B B- ( )
A, 6 1 15
A2 4 3 20
25 10
X1, X2 A1 Az , ,
max Z = 15xi1 + 20Xz,
6X1+ 4x. < 25
X1+ 3X2< 10
X122 0,x22= 0,
2.
2 5 , 3.2
1A1 C1 E ’ 7 B D
, ; CcC D , C D
15 , : ?

72



3.2

( ) ( )
A 6.0 10.0
B 4.0 8.0
C 2.0 7.0
D 4.0 6.0
E 5.0 9.0
: : xi(j=1,2,3,4,5)
A,B,C,D,E,
0 J
Xi= 1 j (j=1,2,3,4,5) .
A,CE ,
X1+ X3+ xs5= 1.
,B D
X2t Xa= 1.
C D : C
D, D C. , xs= 1, x4=1 xs=0 , xa=
0 xs=1
X3S Xa( X3- Xa< 0) .
6X1t+ 4Xz2+ 2Xs3+ 4Xat 5Xs< 15 .
max Z= 10xi+ 8Xx:+ 7Xs+ 6Xa+ 9Xs
max Z= 10xi1+ 8x2+ 7xs+ 6xs+ 9xs
X1+ X3+ Xs= 1
X2+ Xa= 1
X3- X4 0
6X1+ 4X2+ 2X3+ 4xa+ 5Xs< 15
X O 1,(j=11,2, ,5 .
; 1 : 0O 1
0-1 :
: 0-1 “ 3
m n
X1, X2, ,Xn,
(3.1)
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. 74

0O 1
] , i
k(k< n) :
k
Z Xj= 1
k(k< n) ,
K
Z ;< 1
-1
Kk
k(k< n) :
K
Z Xj=2 1
] i :
st Xi
i ] :
Xi= Xj(1£ ) .
r t
: (3.2 r t
aiXj< b+ yM
Z ax;i < b+ (l-
-1
0-1 , M
, X]
r y=1
m
aiXi < bi+ (1- yi)M
yi> K
0_1 ,M 1k

(i= 1,2, ,m) (3.2)
(j= 1,2, ,n) (3.3)
i j , b
: (3.2)
(3.2)
: (3.2)
(3.2
: (3.2
b b
y)M .
y=0 r
Xi ;
Y 0 1 .
k(1< k< m) (3.2)
(1= 1,2, ,m)



3.
3 A1, Az, Az A : Bi1, B2, Bs, Bs
, 3.3
3.3
B1 B2 Bs Ba
A1 3 14 10 5
Az 10 4 12 10
Az 9 14 15 13
As 7 8 11 9
: , Xi(1,j=1,2 3, 4)
Bi :
Ai B;
Xi =
Ai B;
Mmin Z = 3Xu + 14X+ 10X13 + 5Xua + 10Xz + 4X22 + 12X2s+ 10X24 + 9Xa
+ 14Xs + 15Xs3+ 13Xsa + 7Xa + 8Xaz + 11Xas + 9Xaa
X1+ X2+ Xiz+ Xwu= 1
X21+ X222+ Xez+ Xaa= 1
Xa1+ Xa2+ Xsz+ Xaa= 1 ( A )
Xar+ Xaz+ Xaz+ Xaa = 1
X1+ Xa1+ Xa1+ Xa= 1
X2+ X222+ Xsz+ Xa2= 1
X1z + X2z + Xsz+ Xaz= 1 ( 5 )
X1+ X2a+ Xza+ Xar = 1
xi= 0 1 (1j=1,2,3,4).
0-1 : ,
3.5

3.3
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: X:i( ) ,
Z. :
1
(1) ,
34 () ( 31 B
Z= 0.
(2) X1, X2
X1< 2 X1= 3,
(2),
(1)

max Z= 15x:+ 20x:,
6X1+ 4x.< 25
X1+ 3X2< 10

<2

X1

X1, X222 0.

(2< x1< 3)
(1).
).

(3) (2)
3.4

76

() C ) (1)

Xi< [ bi]

N |
N

)Z= 87.5

3.1

( X1= 2.5),

(2)

Xi2 [b]+ 1

X1= 2.5, x2= 2.5,

(1)

max Z= 15x:+ 20x:,

6X1+ 4x.< 25

X1+ 3X2< 10

X1 > 3
X1,X2=2 0.
R: R:, 3.1
,X1= 2, X2= 2.67 max Z= 83.3.



3.4

C - 15 20 0 0 0
Cs Xs b X1 X2 X3 X4 X5
() 15 X1 5/ 2 1 0 3/ 14 - 2/7
20 X2 5/ 2 0 1 - 114 37
Z 175/ 2 0 0 25/ 14 30/ 7
15 X1 5/ 2 1 0 3/ 14 - 217 0
20 X2 5/ 2 0 1 - 114 37 0
€ ) 0 Xs - 12 0 0 [- 3/14] 2/ 7 1
Z 175/ 2 0 0 25/ 14 30/ 7 0
15 X1 2 1 0 0 0 1
20 X2 8/ 3 0 1 0 V3 - U3
- 0 Xs 713 0 0 1 - 4/3 - 14/3
Z 250/ 3 0 0 0 20/ 3 25/ 3
(1) Xz : : (1)
X2 2 X223, (1) , (3) (4),
(3) (4)
max Z= 15xi+ 20x:, max Z= 15xi+ 20x:,
6X1+ 4x.< 25 6X1+ 4x.< 25
X1+ 3x.< 10 X1+ 3x.< 10
X1 <2 X1 <2
X2< 2 X22 3
X1, X22 0. X1, X22 0.
(4) (4) : : (3, X1=
2,x2= 2 max Z= 70. , ,
: 70( Z= 170 (3)
). : ,Z= 10 :
, Z= max{0, 70} = 70.
(5) , ,
(4) , x1= 1,x2= 3 max Z= 75.
; (4) : Z= max{70, 75}= 75.
3.2
(6) (2 , x1= 3,x2= 1.75 max Z= 80.
X2 : Z= 80> z= 75, : (2)
: (5 (6).

77



(5)
max Z= 15x:+ 20x:,
6X1+ 4X.< 25
X1+ 3xz2 < 10
3

v

X1

IN

X2

X1, X222 0.

(7) (5) ,
Z= 72.5< 7= 75,

(8) (6) :

78:

(6)
max Z= 15x1+ 20x:,
X1+ 4x2< 25

X1+ 3x2 < 10

v

X1

v

X2

X1, X222 0.

X1= 3.5, X.= 1 max Z= 72.5(

3.2

3.3

3.3).



3.3

3.3

=75,

3.4

)
(3) (4)

X1 =1,X>= 3.

(5)

. 79



(1)
(2)
( 3.3
(6)) .
( 3.3 (3) (4)).
( 3.3 (9))-.
( 3.3 (2).
3.4
4
3.4 0-1
0-1
3.4.1
0o 1 ( )
() ,
. 4
4 0-1

max Z= 17/x:+ 10x2+ 16xs,
4X .+ 2X3< 6
5X1t+ X2+ 2X3< 6
AX1- 2X2+ 3Xs< 7
BXx1+ 2X2+ 3Xx3< 7
xi=0 1 (j=1,2,3).
(1) (X1, X2, X3), 2’=8 :(0,0,0) (0,0,1) (0,1, 0)
(0,1,1) (1,0,0) (2,0,1) (1,1,0) (1,1,1).
(2) . , (X1, X2, X3) =
. 80



(0,0,0), , 2= 0. : ,
Z =0,
17x: + 10x2 + 16x3= O.
@ @
(3) : , @ 3.5
5 : x0T
: , z : 3.5 (0,0,1)
Z= 16, &
17x1+ 10x2+ 16x:=> 16 .
3.5
(X1, X2, X3) A z
(0,0,0) 0
(0,0,1) 16
(0,1,0) X
(0,1,1) 26
(1,0,0) X
(1,0,1) X
(1,1,0) 27
(1,1,1) x
(1,1,0) , 2= 217,
17x:+ 10x.+ 16xs= 27 .
: . 3.5 , (X1, X2, x3)= (1,1, 0) ,Z= 27
; 4 , ;
: Xi ( :
Z= 10x.+ 16xs+ 17x1), , ,
3. 6.
0-1 3.5.
: 0-1 ; ,

81-



3.6

(Xz, X3, Xl)

(0,0,
(0,0,
(0,1,
(0,1,
(1,0,
(1,0,
(1,1,
(1,1,

17

27

. 82.

3.5

0-1



(1)
(2)

(3)
(4)

0-1

0-1

(1)

0
0-1
0-1
max S = G Xi ( C< 0,
alej < bl ( 1= 1, 2, f m)
-1 (3-4)
xj= 0 1 (j= 1,2, ,n)
y - 1’
X Ci> 0, xi= 1- i Xi, Yi 0-1
Q Ol
13 2 ” ’ - 1’ 13 S ”
’ 13 S ” ’
n aqu S bl
Z aiX; = b '
il - Z aiX; < - hi
aqX] - bi(i: 1 2 k) (k+ 1) “ S K
aix; < b (1= 1,2, ,k)
k n k
- Z aijX; < - Z bi
(3-4)
0( ,
S=0 ) , ) ; )
0o 1, ( ),
! ( )1 O,
: (



(2)

. 84.

X1= 1- yi,X2= 1- y2,X3= 1- Vs, :
max Z = 43- 17y:- 10y2- 16ys,

yi= 1,

yo2= 1,

yo= 1,

- 4y, - y3:< 0
- Oy1 - Y- 2yss - 2
- dy:+ 2yl- 3ys< 2
- Byi- 2y.- 3y - 3
Y1, Y2, ¥ o 1.
max Z= 43+ max S, S= - 17y:- 10y.- 16ys.

max S= - 17y:- 10y.- 16ys,

Sy 1

4y,- 2ys< 0
- Ya- 2y - 2

4yi1+ 2y2- 3ys< 2

oy i-

2y2- 3ys< - 3

Y1, Y2,Ys o 1.

y1, y2, y3

0- 2
1- %
1+ R

1- R
0- %
0+ 2

, (y,y2,y3)= (0,0,0),

o
In
N
olo o o o

(v9]

o

IN

N
Nl © +— O



-4 0-2 1<0
-8 0- % 0-2 1< - 2,
-4 0+2 0- 38 1< 2,
-8 0-2 0-8 1<- 3
yi=1l vys=1 . Ci= - 17< Cs= - 16,
, Cs G S : : ys=1 ys=0
(1) (ys= 1) (2) (ys=0)
max S= - 16- 17y:- 10y, max S= - 17y:- 10ye,
- dy.< 2 ' - 4y< 0 "
- Byi- y2.< 0 ' - Byi- y.< - 2 "
- 4yi1+ 2y.< 5 ! - dyi+ 2y.< 2 "
- Byi- 2y:< 0 ' - Byi- 2y.< - 3 !
Yi,Y2 O 1. Yi,Y2 O 1.
(3) (D). y:1= y2= 0, (1) :
(y:,y2)= (0, 0) : ys=1,(ysyzy3)= (0,0 1)
, S=- 16 , S= - 16,
(4) (2). y:=y2= 0, (y1,y2) = (0,0)
(2) ? yi:
(a) ) :
(b) , C
C> S- ZKCiyi (K ) -
(a) , 1
(a) : (b) :
).
, (2 T hynye )
Ci=- 17 - 16- (- 1& 0)=- 16,
C.=- 10>- 16- (- 1& 0)=- 16.
: y (a) (b), Y= 1 y.=0

3.6

ol o o o
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3.7

0-1



Bi

16

(2) ;
(3) ( y==1) (4 ( y==0

max S= - 10- 17yu, max S= - 17y,
- byai< - 1 - byai< - 2
- 4y:< 0 - 4y.< 2
- Syi< -1 - Syi< - 3
Y1 0 1. Y1 0 1.
(5) (3). yi= 0, . yi= 1, (a),
(b)1 S> §: - 16 ’ (3)
(4). (3) , .
(6) : : : , S=
(yr, y2,y3)= (0,0, 1)
X1= 1- y1,X2= 1- y2,X3= 1- ys, max Z= 43+ max S,
(X1,X2,%x3)=(1,1,0), max Z= 27.
3.6
0-1 3.7
3.5
n ( A1, Az, , An, n B,
, Bn, , ) Ai
( ) GCi, , ?
Xi Ai Bi ,
Ai BJ
Xi =
0 Ai Bj
min Z = Z Z Gi X (Ci > O) ,
Xi=1 (1= 1,2, ,n)
Xi=1 (j= 1,2, ,n)
Xi 0 1.
Ci C= (GCi)» n . C
(D- Konig)
(Ci) ()

. 87



k(k ) ) (bi), (bw)

K.
. 4 ;
; (Ci), (bi)
, (Ci)
4 ,n= 4, -4 - 2
3 14 10 5 - 3 O 11 7 2 O 11 3 O
10 4 12 10 - 4 6 O 8 6 6 0 4 4
(Ci)= 9 14 15 13 - 9 0 5 6 4 0O 5 22:(bi)'
7 8 11 9 - 7 0 1 4 2 O 1 0 O
()
() : : ,
e, ; () (
) , ()
(i)
n ,
n 1, 0, ,
4 :
e 11 3
6 4 4
(by) = £ 5 o
€ 1 €
= n,
0O 0 0 1
.. 0100
)= 1 00 0
0O 01 O
A1 B C A B: LA B: , A Bs
Z = lelcijxiz 5+ 4+ 9+ 11= 29.
<n,
5 3.7

1,2
12 7 9 7 9
8 9 6 6 6
(Cy)= 7 17 12 14 12
15 14 6 6 10
4 10 7 10 6

1
A O N O N
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5 0 2 0 2 5 2 & 2
2 3 0 0 O 2 3 & e
010 575 10 5 7 5 = (i)
9 8 0 0 4 9 8 é 4
0O 6 3 6 2 e 6 3 6 2
3.7
B, B B B4 Bs
A1 12
A, 8
A3z 7 17 12 14 12
As 15 14 6 6 10
As 4 10 7 10 6
4 n= 5,
3
(1)
(2) e ;
(3) ;
(4) (2 (3), ;
(5) : :
5 5 : 1 : : 1,2,4
, 1
- - —2 —é — 2
— —3 —é —é —
10 5 7 5
— —8 — —é — 4
6 3 6 2
4 (bi),
5 4
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5 2 @ 2 7 0 2 0 2
2 3 é é 4 3 0 0 O
10 5 7 5 - 2 O 8 3 5 3
9 € 11 8 0 O 4
e 3 6 2 - 2 O 41 4 0
+ 2
7 2 e 2
4 3 & e
8 3 5 3
11 8 & 4
& 4 1 4
5= n,
O 1 0 0 O
O 0 01 O
(xi)= 1 0 0 0 O
O 01 0 O
O 0 0 0 1
Az B2 , A2 Ba , As B: , Aa Bs
Bs . Z = (7+ 6+ 7+ 6+ 4)+ (2+ 2- 2)= 32.
, () :
, max Z = lelaxij, Ci= M- G,
max{ci}, (M- Gi)= n. M- Ci= 0.

ZZ(M G X = ZZMX anznlcixn
= M - z ancixij.
| minan an(M' Ci) X maxz ancixn
max 2= an ancixij

= nM - I'T]inzn1 an(M - Cij)Xij

3.6

6( ) :
90

y As



b , ( )
?
Xi= 0 : (j= 1,2, ,n),
1 J
max S = lC;XJ,
ax;< b
—1
Xi O 1 (j=121,2 ,n
7 100 : :
3.8
?
3.8
P P2 Ps Pa Ps
( ) 56 20 54 42 15
«C ) 7 5 9 6 3
0 Pi _
Xj= 1 P, (i=12, ,9
max S= 7X:+ 5Xz+ 9X3+ 6Xs+ 3Xs,
56x: + 20x2+ 54x3+ 42x4+ 15xs < 100
xi= 0 1 (j= 1,2 ,5.
0-1 ,
X1= X+a=0,X2= Xs=Xxs= 1,z = 17
P2, Ps Ps, 17
, : Gl/a
; ; 1, b
7, : 0. 125, 0. 25, 0. 167,
0. 143, 0. 2, ,  x2= 1, x5= 1, xs= 1, xa= x4= 0. P2,
Ps, Ps, 17 , 89
8( ) n , m

b(j=1,2, ,m),
91.



Xij 1 J y
gi 1 ( );
di i )
Ci 1 J (
: [ j
g|+ CiXij XIJ > 0
fyX) = =1 (i= 1,2,
0 Xi = 0
f1(X) n
0] ,
0-1 Vi,
1 [
' o i
i i
Fi(X) = giyi+ Z CiXs  (i= 1,2, ,n).
’ I ’ X'J> 0 1yi 11 |
g"‘ZCXu, Xi= 0 ,vyi 0O 1
yi= 0
Xij
Xij - b (J = 11 21 lm)
-1
Xi £ diyi (1= 1,2, ,n)
Xi= 0 (1= 1,2, ,n,j=1,2, ,m)
Vi Xij,
min F(X) = Z fi(X)
= Z [giyi+ Z Cinij] ,
Xi = b (j = 1,2 , M)
Z Xii £ diyi (1= 1,2, ,n)
Xi= 0,yi= 1(1i= 12, ,n,j= 12

. 92.



, Vi 0] l, Xij
0-1
9( ) A,B,C ,
3.9
, 2

3.9
101 A 9 00 B 12 00
102 A 10 00 B 13 00
103 A 15 00 B 18 00
104 A 20 00 C 24 00
105 A 22 00 C 2 00( )
106 B 4 00 A 7 00
107 B 11 00 A 14 00
108 B 15 00 A 18 00
109 C 7 00 A 11 00
110 C 15 00 A 19 00
111 B 13 00 C 18 00
112 B 18 00 C 23 00
113 C 15 00 B 20 00
114 C 7 00 B 12 00

A , B , C 1] ”
A,B,C
k 2 4k 3
9%k
, A,B,C 3.10
3.10 A
101 102 103 104 105

106 4k 9k 64k 169k 225k

107 361k 400k 625k 36k 64k

108 225k 256k 441k 4k 16k

109 484k 529k 16k 81k 121k

110 196k 225k 400k 625k 9k

93



106 107 108 111 112
101 256k 529 9%k 625k 36k
102 225k 484k 4k 576k 25k
103 100k 289k 441k 361k 576k
113 64k 225k 361k 289 484k
114 256k 529K 9k 625k 36k
109 110 113 114
104 49k 225k 225k 49k
105 25k 169k 169k 25k
111 169k 441k 441k 169k
112 64k 256k 256k 64k
’ :(A) 101- (B)
108 (A) 105 (C) 110~ (A) 101 ,
(A) 102 (B) 106 (A) 102,
(A) 103 (B) 107 (A) 104 (C) 113 (B) 111
L(C)114- (B) 112 (C) 109 (A) 103 .
1 748k
3.1
(1)
(2)
(3)
(4
(5)
3.2 Wi Vi
ri 311
3.11
wi( Vi( 3) ri( )
1 5 1 4
2 8 8 7
3 3 6 6
4 2 5 5
5 7 4 4
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W= 112 V=109 °
3.3 7.4 100 2.9 2.1 1.5
3.4 0-1
(1) X1+ X222 2X1t 3X 2= §;
(2 X3 0,5,9,12;
(3) X254, Xs= 0, X< 3,
(4) 4 2
Xe+ X7 2
Xe<s 1
X< 5
Xe+ X722 3.
3.5
min z= fi(x1)+ fa(x2) ,
© (1) x22 10, x2= 10.
(1) '
2X1+ X222 15
X1+ X222 15
X1+ 2X22=2 15
(2) &Xi1- X650 5
(3) X:= 0,X.= 0,
20+ 5%, x1>0
=5 =0,
12+ 6Xx2, x2> 0
A
3.6 , 7 JA(E 1,2, ,7)
(1) v A1, A2 As :
(2) ) A As ;
(3 v As A7
Ai bi , Ci B
0-1
3.7 , , 5 , 3. 12
3.12
1 2 3 4 5 6
1 0 3 2 1 5 4
2 3 0 1 2 3 1
3 2 1 0 2 2 2
4 1 2 2 0 1 5
5 5 3 2 1 0 2
6 4 1 2 5 2 0
0-1

95.



3.8

3.13

3.13

193
191
187
186
180
185

< O © N~ 00 O

(1)
(2)
(3)
(4)

3.9

3. 14.

3.14

20
40

20

15
30

10

10

25

25

25

0-1

3.10

a,b,cd ef

3.15

10

96-



3.15

- 0 Q 0O T QO
w oo oo N Ul W

3.11 :
max z= 20x1+ 10Xz,
S5X 1+ 4x.< 24
(1) s.t. 2X1+ 5x.< 13

X1, X222 0
3.12 0-1

max z= 3X1+ 2Xz,
2X1+ 3X.< 14
(2) s.t. 2X1+ X2 9
X1, X22 0

max z= Xi+ XaXz- X3,

- X1+ 33X+ X3 3

S. t.
Xj =
3.13
max z= 3x1t+ 2xz,
2X1+ 3X2S 14
(1) s.t. 22X+ x< 9
X1, X2= 0
3.14

max z= 7Xi+ 9%,

- X1+ 3X2S 6
(1) s.t. 7x1+ x2< 35

X1, X22 0 X1

3.15 0-1
max z = 3Xai-
X1+
X1+

S.t. X1+

0 1,j=1,23.

max z= 20x1+ 10x2,
- X1+ 2X2+ X325 4
4x2- 3X3< 2

(2) st.
X1- 3X2+ 2X3S 3

X1, X2, X3

max z= 3X1+ X2+ 3Xs3,
- X1+ 2X2+ X3< 4

4x o= 3x 3< 2

(2 s.t.
X1- 33X+ 2X3< 3
X1,X2,X3=2 0, X1, Xs
2X2 + BXs,
2X; - X3< 2
4x, + X3< 4
X2< 3

4X2+ X3 < 6

Xj =
3.16 0-1
max z= 4xi1+ 3x2+ 2xs,
2X1- 5Xo2+ 3x3< 4
4X1+ X o+ 3X32 3
(1) s.t.
Xot+ X3= 1

X1,X2,X3= 0 1.

0 1 (j=1,23).

max z= 5xi1t+ 6x.t+ 7xs+ 8xat+ 9xs,
3X1- X2+ X3+ Xa- 2Xs5= 2
X1+ 3X2- X3- 2X4+ 2X5Z 0

(2 s.t.
- X1- Xot+ X3+ X4+ Xs5= 2

;=0 1,(j= 1,2 3 4,5) .
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max z= 3Xi- 2X2+ 5X3
X1t 2X2- X3 2
X1+ 4Xo+ X35 4
(3) s.t. X1t x2< 3
AX 2+ X35 6

X1, X2,X3= 0 1.

3.17 4 A1, A2, Az, Aa, B1, B2, B3, B4
3.16.
3.16
B: B2 Bs
A1 10 9 8 7
A> 3 4 5 6
As 2 1 1 2
As 4 3 5 6
3.18 4 4
3. 17
3.17
15 18 21 24
19 23 22 18
26 17 16 19
19 21 23 17
3.19 6 4 ,
3 6 2 6
7 1 4 4
3 8 5 8
C:
6 4 3 7
5 2 4 3
5 7 6 2
3.20 6 4 , 1 2
1 b ?
3 7 3 6 5 5
6 1 8 4 2 7
C:
2 7 5 3 4 6
6 4 8 7 3 2
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4.1

(Dynamic Programming ) 20
(Richard Belman)

( Multistage Programming) .

1 4.1 , A  E
Bi1, B2, Bs , C1,C2,Cs Di,D:
4.1 ,
E
4.1
A E

50

90.



& ”

A , p
; ?
; : 4.1 , A
Bs : Bi E
; A ,
Ci E . . Ci
E Di E D: D: E
: D D: E 3 4 :
4.1
A Bi Bi E A E
A B 2 11 13
B 4 9 13
Bs 3 9 12
1.
, Nn=4; s Kk (k=1, 2, 3, 4);
dx(X«) K Vk(S, de(s)) s di(s)
,fe(s) ) E
fs(s) = fs(E)= 0
k=4 f4(D1)= min{D:E+ fs(E)}= 3+ 0= 3
fis(D2)= 4.
k=3 f3(Ci)= min{vs(Ci,ds(Ci)) + fa(s)}
~ CiDi+ f4(Dy) 3+ 3
= min CiDa+ £ +(D2) = min 4t 4 =6
d:(C) {D1, D2} ( Ds(Ci)= {D1, D2}) .
C E Ci-D:i-E; 6; ds (C:) = Du.

- 100-



CD.+ f4(D1) 6+ 3

f3(C2) = min = min . = T1.
C:D:2 + fa4(D2) 3+ 4
C: E C:-D:-E; 7:
C:D1 + f4(Da) 3+ 3
f3(Cs) = min = min = 6.
C:D: + f4(D2) 3+ 4
C: E C:->Di1-E; 6;
B:Ci+ f3(Ci) 7+ 6
k=2 f2(B:)= min B:iCo+ f3(Cz) =min 4+ 7 =11.
B:Cs+ f3(Cs) 6+ 6
B1 E Bi-C->D:2-E; 11,
Ce.
B:C. + f3(C1) 3+ 6
f2(B2) = min B:C.+ f3(C2) = min 2+ 7 = 9.
B.Cs + f3(Cs) 4+ 6
B2 E B-C.->D:1-E B2-Cz2-D2-E;
d2(B2)=C  C.
BsC:+ f3(Cu) 6+ 6
f2(B:) = min BsCo+ fs(C:) = min 2+ 7 = 9.
BsCs+ f3(Cs) 5+ 6
Bs E Bs->C2-D2-E; 9,
AB:+ f2(B1) 2+ 11
k=1 f1(A)=min ABz+ f2(B2) = min 4+ 9 = 12.
ABs+ f 2(Ba) 3+ 9
A E A-5B3s-»Co-D2s E; 12,
Bs.

di (A)= Bs, di(Bs)=C: di(C)= Dz di(D2)=
p1(A)= (Bs, Cz, D2, E).
’ A—B:—C:—D2—E, 12

d: (C2) = D..

ds (Cs) = Da:.

d; (Bl)z

d; (Bs) = Co..

di (A)=

E .
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4.2

4.2.1
1.
k (k€ n,n ) 1,n =
4, k= 1,2,3,4.
2.
S k 1
S1 s= A . k
Sk. 1 Sa= {Bl, B,
Bs)
3.
dk(S<) k S« .dk(S<)
Dv(s). 1 ,D:(A)= {B., B2 Bs}.
4.
, k
S d« , k+1 Sc+ 1 ,
S+ 1= Tk(S<, dk)
& S+ 1 k S k- 1
dw- 1 , k- 1 -1
S 1= Twe 1(S de- 1)
& & 1
5 ( )

d(s) (k=1,2, ,n)
pln(Sl)= (di(s1),d2(s), ,dn(s)) .
, . : Pu(s).
k S k

Pin(8)= (di(s),di 1(S+1), dn(s))
k , K Pu(s).
. 102.



1.
vi(si, di(s))
Vi ()
: (
A
4.2.2
, opt

qk

k
dk(s) vi( s, di(sq)) .
V()= Vi(s, pu())
= an(S(,dk,Sk+1,dk+ 1, ,S,dn) .
Vin(s) = ZkVi(Si,di(Si)) .
[ Si di(s) .
fe(s). Kk &
) : 1 ,fi(A)
fe(s) = min{vk(s, di(sx)) + fura(S+1)}
di(s) D) (k= 4,32 1)
fs(s) =0
fo(sx) = opt{w(s, de(s)) + fra(Se1)}
d(s) D«(s) (k= n,n- 1, /1) (4.1)
n+ 1(Sn+ 1) =0
" (max) “ ”(min)
1000
. . P«
1 500

- 103-



4.2

= max{l7ss+ 6xs- 4ys}

0< ys< s

0< Xs< H + ys- s.

104-

( 4,
Xz = H,y: = s;
fa(s) = 13+ 6H .

2),

k Pk Ok
1 10 12
2 9 9
3 11 13
4 15 17
( )
: 4, k=1, 2, 3, 4
S , Xk Yk k
.H= 1000
S+1= St Xk- VY. (4.2
Vi( &, Xk, Yk) &, Xk, Y
f () k S k 4
Vi(Se, Xk, Yk) = OkYk = PrXx. (4.3)
fr(s) = max{vi(s, Xk,y«) + fr 1(Se+1)}
0< yvs «
(4.4
0< xxk< H+ yv- s (k= 4,321
fs(s) = 0.
(4.2) (4.3) ,
k=4
fa(s) = max{1l7y.- 15xa.}
0 y2< &
0< xa< H + ya- s
Ya =S, Xs=0 fa(s)= 17s.
k=3 ,
fa(s) = max{13ys- 1lxs+ fi()}
0< ys< s
0< Xs< H+ ys- s
= max{1l3ys- 1lxs+ 17(Ss- ys+ Xs3)}
0< ys3< s
0< Xs< H+ ys- s 4.2



, f2(2)= max{6H + 133+ 4Xx.- 4y}
O< ye< =
0< X2 H+ y2- s
x2=H, y>= s;
f2(s2)= 9%+ 10H
fi(s)= max{9s+ 10H + 3y:- xi}
O yiss
0< xi< H+ yi- s
x1=0, y1 = s;
fi(s)= 12s+ 10H .

s:= 500, H = 1000 , Xk
Y
X1 = 0, yi = s = 500;
X2 = H = 1000, y2 = = S+ X1 - yi1 = O
Xs = H = 1000, Y = $= S+ Xz - yz = 1000;
Xs =0 yi = &= S+ X3 - ys = 1000 .
4.3
4.3
Sk Yk Xk
1 500 500 0
2 0 0 1000
3 1000 1000 1000
4 1000 1000 0
f1(500)= 1% 500+ 18 1000= 16000.
4,3
fe(s) = opt{w(s,di(s)) + fw (s 1)}
d(s) Dus)(k= 1,2, ,n) (4. 5)

fo(s)= 0.
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, F(s) k S

V(s de(s)) Kk S de( )
&
(4.1 (4.5 ,
3 3 : : X,
X', 1. 3 . b= 100, b= 110, bs= 120.
s= 0, ss= 0. ?
, 3 . Xk k y & k
, k(& X«) Kk () 1 Kk
S 1= S- Xkt b, &= 0, xk= 0,k=1,2,3, <= 0,s=0.
fe(s) = min{w(s, Xx) + fw (s 1)}
xk=2 0 (k= 1,2,3)
fo(o) = 0.
k=1

f 1(s) = min vi(st, x1)= min{xi+ s} .
X1= b+ s- 9= b+ s,
fi(s)= (b+ s)’+ 5,2 0.
k= 2
f2(s)= min{x:+ s+ fi(s)}= min{x2+ s+ (b+ 22)°+ s}
= min{xz+ S+ (bt k- X+ 2)°+ (k- X2+ &)} .

X2 , X X2 0,
2X2- 2(b+ et s2)+ 2x2- 1= 0.
x5 = 1/2(lnt b+ )+ 1/42 0 .

fo(e) = U2[(h+ b+ )+ Y2]°- U4+ - h,s2 0.
k= 3
fa(s)= min{xi+ s+ f2(2)}= min{x;+ s+ U2[(lh+ b+ )+ 1/2]°
+ $- bi- 14
mn{xi+ s+ U2[(bh+ b+ b- xs+ )+ U2 + bs- xs+ - b- 14
min{x3+ U 2[(b:+ b+ bs- xa) + U2]°+ - xs- h- 1/4}.
X3 , X X3 0,
2Xs- (bt b+ be- xa+ 1/2)- 1= 0.
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X: = 1 3(bu+ bt be)+ 1/2 .

b1, bz, bs , :
Xxs = 110.5,
&= - X3+ ss= 9.5,
x> = 110,
sS= b- X2+ 2= 9.5,
x1= 109.5.
: fs(ss)= 110.5+ 0.5 220°+ 120- 110.5 100- 0.25
= 36319.5 .
4.4
4( ) 4. 4
4.4
1 2 3 4 5 6
( ) 1 2 5 3 2 1
4.4 : 4 : 3
: 4 :
1 6
; : ?
: 6 , =6, k=1, 2, 3, 4, 5, 6.
& Kk ,
d« k :
k ;
(k=6, 5 4, 3 2, 1)
S 1= S+ di- G
: vk(s, di),
4+ 10d« + s 0< dv< 4
Vi( s, di) =
0+ s de = 0.

f () Kk s , Kk 6
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f(s) = min{w(s,d«) + fu1(S+1)}

0 dik< 4
S+ de >
f 7(S7) = 0.
k: 6 06: 11 s: 01 ) 85 1, d6 O.
4.5
4.5
Ve(Ss, de) X
S6 ds S7 f 6(ss) ds ()
0 14 0 14 14
0 0 1 1
4.5 , S, )
ds (s).
k=5 G=2,%=0 1, S 0,1, 2 3.
4.6
4.6
vs(ss, ds) .
Ss ds S f 6(Ss) fs(s) ds ()
0 2 24 0 24 0 14 38
3 34 0 34 1 1 35 3
1 1 14 1 15 0 14 29
2 24 1 25 1 1 26"
2 0 0 2 2 0 14 16
1 14 2 16 1 1 17
3 0 0 3 3 1 1 4" 0
k=4,3,2,1 4.7 4.10
4.7
V4(&1 d4) *
Ss da S f s(ss) fa(s) da (s4)
0 3 34 0 34 0 35 69" 3
4 44 0 44 1 26 70
1 2 14 1 25 0 35 60" 2
3 34 1 35 1 26 61
4 44 1 45 2 16 61
2 1 14 2 16 0 35 51
2 24 2 26 1 26 52
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Va(s, da)

S4 das S f 5(Ss) fa(s) dZ(SA.)
3 34 2 36 2 16 52
2 4 44 2 46 3 4 50 4
3 0 0 3 3 0 35 38" 0
1 14 3 17 1 26 43
2 24 3 27 2 16 43
3 34 3 37 3 4 41
4.8
va(ss, ds) .
Ss ds S f a(s1) fs(s) ds (ss)
1 4 44 1 45 0 69 114° 4
2 3 34 2 36 0 69 105
4 44 2 46 1 60 106
3 2 24 3 27 0 69 96" 2
3 34 3 37 1 60 97
4 44 3 47 2 50 97
4.9
v2(2, d2) .
S2 d2 3 f 3(ss) f2(2) d2 (S2)
0 3 34 0 34 1 114 148" 3
4 44 0 44 2 105 149
1 2 24 1 25 1 114 139" 2
3 34 1 35 2 105 140
4 44 1 45 3 96 141
2 1 14 2 16 1 114 130" 1
2 24 2 26 2 105 131
3 34 2 36 3 96 132
3 0 0 3 3 1 114 117 0
1 14 3 17 2 105 122
2 24 3 27 3 96 123
4.10
vi(s, di) .
St d:1 () f2(s2) fi1(s) di (s1)
0 1 14 0 14 0 148 162
2 24 0 24 1 139 163
3 34 0 34 2 130 164
4 44 0 44 3 117 161 4
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4.10 :

4.10 f1(0)= 161,

d: = 4(1 4 ); &= s+ di- = 0+ 4 1= 3. 4.9
f> (= 3)= 117, d> = 0, , 4.11
4.11
6
k Y dk o} S+ 1 vi( s, dk) fr(s)
1 0 4 1 3 44 161
2 3 0 2 1 3 117
3 1 4 5 0 45 114
4 0 3 3 0 34 69
5 0 3 2 1 34 35
6 1 0 1 0 1 1
5( ) : 4.12
?
4.12
(¢ 7 ) «( 1)
1 2 80
2 4 180
3 3 130
: Kk k (k= 1, 2, 3).
) k ;
Xk k )
ax k ; Cx k :
V(s Xk) Xk k ;
f () S Kk
S= S 1+ aXe, k=1,2,3
= 0.
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fr(sx) = max{cxk + fw 1(&- 1)}
x« {0,1, ,[s/a]}, k= 1,2,3

fa(s) = max{1l30xs + f2(s - 3Xs3)}
X3 Ds(Ss).
= 0,1,2 , Di(s) = {0},

fo() = 0.
k=1
fi(s) = max{80x:}
X1 Di(s) .
s= 01 ,Di(s) = {0},
s= 2,3 , Dis) = {01},
s= 45 , Di(s) = {012,
s=6 , Di(s)={0123} .
4.13
4.13
C1 X1 .
fi(sw) X1
St 0 1 2 3
0,1 0 0 0
2,3 0 80 80 1
4,5 0 80 160 160 2
6 0 80 160 240 240 3
k= 2
f2(g) = max{180x: + fi(s2- 4X2)}
X2 Doa(s) .
= 0,1,2,3 , D:=g)= {0},
= 4,56 , D:(g)= {0,1}.
4.14
4.14
180x.+ f 1(S- 4X2)
s . ) f 2(s2) X2
S
0,1 0+ 0 0 0
2,3 0+ 80 80 0
4,5 0+ 160 180+ 0 180 1
6 0+ 240 180+ 80 260 1
k=3

111.



s= 3,45 , Ds(s) = {01},
s= 6 , Dss) = {012 .
4.15
4.15
130xs+ f 2(ss- 3X3)
f 3( ) X 3
Xs 0 1 2 i i
S
6 0+ 260 130+ 0 260+ 0 260 2

(1) xi= 0, X2= 0, Xs= 2; (2) x1=1, x2=1, xs= 0.

260
6( 4
: : ( )
4.16 , k=1, 2, 3, 4.

4.16

i 0 1 2 3 4 5
re( ) 16 14 11 8 5 2
vie () 1 2 2 3 4 4
ck( i) — 18 21 25 29 34
ts( 1) — 15 12 8 3 0

4 ,
. n= 4.
S k ( ),
d« (k= 1,2,3,4) S
(R) (K), D«(s)={R, K}.
s+ 1 di= K
S+ 1=
1 di= R .
,  ts5(s) 4 ( 5 ) Ss
re( &) k S ;
Uk () k S
E
(%) k S (
).
k
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re(s) - U(s) de = K
Vk( S, d«) =
re(0) - w(0) - () di = R.
f () k 4 : S :
Vk(S, dk) + fui(s+1) @@= K
fe(s) = aXx
Vk(S, dv) + fu1(1)Cdlk =
de  {K,R} k= 4321
fs(s) = ts5()
Fs(s)= t5(S) . 4.17
4.17
Ss 1 2 3 6
fs(ss) 15 12 8 0
k= 4 s= 2, S 1,235 s {1,235}
4. 18
4.18
S 1 2 3 5
f a(s4) 24 17 8 — -2
da K K K — K
ra(1) - us(l) + fs(2) @.(1) = K
fa(1l)= max
ra(0) - us(0) - ca(1) + fs(1)@e(l) = R
14- 2+ 12
= max =
16- 1- 18+ 15
di (1) = K .
ra(5) - us(5) + fs(6) @.(5) = K
f4(5)= max
ra(0) - us(0) - ca(5) + fs(1)&«(5) = R
2- 4+ 0
= max =- 2.
16- 1- 34+ 15
ds (5) = K .
k=3 , s {1,264}, 4.19
4.19
Ss 1 2 3 4
f 3(ss) 29 18 — 10
ds () K R — R
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rs(1) - us(l) + f4(2) @s(1) = K

fs(1l)= max
rs(0) - us(0)- cs3(1) + fa(1)&s(1) = R
14- 2+ 17
= max = 29.
16- 1- 18+ 24
d: (1) = K .
rs(2) - us(2) + fa(3) @s(2) = K
f3(2)= max
rs(0) - us(0) - cs(2) + f4a(1)&s(2) = R
11- 2+ 8
= max . = 18.
16- 1- 21+ 24
d: (2) = R.
k=2 , s {1,3}, 4.20
4.20
S 1 2 3
f 2(s2) 30 — 19
dz () K — R
r(1) - uz2(l) + fs(2) @-(1) = K
f2(1)= max
r(0) - u2(0) - c2(1) + f3(1)&2(1) = R
14- 2+ 18
= max = 30.
16- 1- 18+ 29
dz (1) = K .
r(3) - u2A3) + fs(4) @s(3) = K
f2(3)= max
r(0) - u2(0) - c2(3) + f3(1)&2(3) = R
8- 3+ 10
= max . = 19.
16- 1- 25+ 29
d2(3) = R.
k=1 . Si= 2.
ri(2) - uw(2) + f2(3 @.(2) = K
f1(2)= max
r«(0) - w(0) + f2(1) - ca(2A@:(2) = R
11- 2+ 19
= max = 28.
16- 1- 21+ 30
di (2) = K .
s=2 di(2)=K s= 3. 4.20 d:(3) =R, , = 1. 4. 19
ds (1)= K, ,S$= 2, 4.18 d«(2)= K.
{K,R,K,K}, 4 : 2 4 28
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4.5

11 , , ,
: 11 : 2 1
8 : n ’
gx(x) K X
fx(x) X k,k+ 1, ,n
, di k :
f(x) = max{ge(dc) + fia(x- di)}
d«= 0,1, ,X (4. 6)
far2(0)= 0
,k=1,2, ,n;x=0,1, ,8.

3 , 3 , N
= 3. 3 ,5 (
4.21),

4.21
X 0 1 2 3 4 5 6 7 8
g1(x) 0 5 35 48 60 90 95 118 136
g2(x) 0 4 45 58 65 70 83 94 115
g3(X) 0 23 58 76 88 95 105 125 135
(4.6) 4. 17
k=3 x- ds= 0, fs(x)= gs:(x), 4. 22
4,22
X 0 1 2 3 4 5 6 7 8
f 3(x) 0 23 58 76 88 95 105 125 135
d3 0 1 2 3 4 5 6 7 8
k= 2 (4.6) fa2(x) do 4.23
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4.23

X 1 2 3 4 5 6 7 8
f2(x) 23 58 68 103 121 134 146 153
d> 0 0 2 2 2 3 3 3,4
f2(0)= g2(0) + fs(0) = 0,
f2(1)= drzfg@(l{gz(dz) + fs(1- d2)}
g2(0) + fs(1) 0+ 23
T g+ o) T " a0 T
f2(2)= d{pg{(’Z{QZ(dZ) + f3(2- do)}
g2(0) + fs(2) 0+ 58
= max g2(1) + fs(1) = max 4+ 23 = 58,
g:(2) + f3(0) 45+ 0
f2(6)= dzzrggxﬁ{gz(dz) + fa(6- d2)}
g2(0) + fs(6) 0+ 105
g2(1) + fs(5) 4+ 95
g2(2) + fs(4) 45+ 88
= max g2(3) + fs(3) = max 58+ 76 = 134,
g:2(4) + f3(2) 65+ 58
02(5) + fs(1) 70+ 23
g2(6) + f3(0) 83+ 0
k=1 ,x=8. (4. 6)
f2(8)=  max {gi(d:) + T2(8- di)}
9:(0) + f2(8) 0+ 153
g:(1) + f2(7) 5+ 146
9:(2) + f2(6) 35+ 134
g:(3) + f2(5) 48 + 121
= max gi1(4) + f:(4) = max 60+ 103 = 169.
g:1(5) + f2(3) 90 + 68
g:(6) + f2(2) 95 + 58
g:(7) + f2(1) 118+ 23
9:(8) + f2(0) 136+ 0
, di=2 d2= 3, ds = 3. f 1(8)
= 169 f1(8)= gi1(2)+ g2(3)+ gs(3)= 35 + 58 + 76 = 169
, 8 2 ,
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4 ( 3
4. 24.
4.24
X 0 1 2 3 4 5 6 7 8
g1(x) 0 5 35 48 60 90 95 118 136
g2(x) 0 4 45 58 65 70 83 94 115
g3(x) 0 23 58 76 88 95 105 125 135
g4(x) 0 3 45 67 75 89 97 110 134
(4.6) ,
f1(8)= 188 f1(8)= g2(2)+ gs(3)+ g«(3)= 45 + 76 + 67
= 188
, 8 0 ; ;
3 3
5 ( 2 )
4. 25.
4.25
X 0 1 2 3 4 5 6 7 8
g1(x) 0 25 45 68 76 90 98 118 136
g2(x) 0 18 35 58 75 88 98 114 135
gs(x) 0 23 58 76 88 95 105 125 135
ga4(X) 0 3 45 67 75 89 97 110 134
gs(x) 0 2 55 60 70 75 90 120 132
(4. 6) f1(8)= 205
f1(8)= gu(1)+ g:(2) + ga(3) + gs(2)= 25+ 58+ 67+ 55= 205 ( ).
, 8 : 1 : 0o ;
2 3 : 2
205 , ,
8
4.1 A 4.3
G
4.2 3 (A, B,C)
4.26
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4.3

4.26
J 1 2 3
i
1(A) 10 9 14
2(B) 9 12 10
3(C) 6 5 8
tii, )
H Al 1
?
4. 3 ) 900
4.27 200 ,
4.27
1 40 45
2 38 42
3 40 40
4 42 44
4.4 100 , , , X1
, 1/3 x1
1/ 10
7, ) ?
4.5 3
4. 28 ).
, ?
4.28
0 10 20 30
1 2.5 10
8.5
9
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4.6

max Z = (4X1+ 7Xz+ 8X3)

2X1+ 3X2+ 4X3S 8

Xj = 0 1j = 11 25 3 '
4.7 ’ 4.29
4.29
1 2 4
2 3 4
3( )
1( ).
4.8 5 ,
4.30 1 ,
( 5
4.30
0 1 2 3 4 5
20 19 18 16 14 10
4 4 6 6 9 10
25 27 30 32 35 36
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(Sdten)
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5.2

5.2.1

5.1

5.1

A~ AN AN N

SN N N N N
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S ={om, 2, ,om} ,
S = {Bl, Bz, ,Bn}
: a B, (oi, Bi),
ai(i= 1,2, ,mj=1212, ,n),
aii a1z Ain
d21 A2 dan
A: (Aij)m n —
dm1 am2 Amn
- A.
r=( , ;S ,S ;A} r={S ,S ;A}.
1 ,
52
52
B1 B2 Bs
0
(001 10 -1 3
(07 12 10
O3 6 8
, r={s ,s ;A}, S = {ou, o, &}, S
{B1, B2, Bs} :
10 - 1 3
A= 12 10 - 5 ,
6 8
S S A , “ "
( ),
5.2.2
1 :
A , 12,
o2, , (s, 12,
5 5( - 5)’ B31
s,
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, . O, O, OB ( )

min(10, - 1,3) =- 1,
min(12,10, - 5) =- 5,
min(6,8,5) = 5.
, , Q.
max{min(10, - 1, 3), min(12,10,- 5 ,min(6,8,5}=5.
: : O, 5% .
By, B2, s
max (10, 12,6)= 12,
max (- 1,10, 8)= 10,
max(3,- 5,5)=5.
, , Bs.
min{max (10, 12, 6), max(- 1,10, 8),max(3,- 55)}=5.
, , Bs, 5% .

;o (o8, Be) ;
5% : : :
5%
, r={S .S ;A}, Si= {ou, e, ,om}, Se= {Ps, Bz, B}, A=
(ai)m n.
max mjina; = mjin maxai = ar;’ (5.1)

. I , V= airi* . (5.1) (Oﬁ*,Bj*)
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1 (o ,Bi" )= (s, Ba), Vr= 5%, o Bs

a
1 r={s ,S ;A} : (o,
Bi*) =1,2, ,m,j=12, ,n,
ai” < airi” < ai. (5.2
2 r={S ,S ;A}, S = {ou,0e, 06 0}, S = {B:, Bz, Bz, Be},
6 4 5 4
5 4 6 4
A=
0O 2 7 3
8 3 2 1
6 5
5 6
A =
2 7 3

Vr= 4.
((11, Bz), ((}1, B4) ) (Gz, Bz) ((Xz, B4) .

(1) . ((Xil,le) ((]iz, sz) I

ail* jl* = aiz* jz* )
(2) . (O(il,le) (aiz,sz) I , (ail, sz) ((xiz, le)
r
5.2.3

max min a; = min max a;
i i j i
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max min ai;= 7# min max a;= 8
i | ] i

aa, 9 ) [32,
7, ; oz,
8, , B: :
21 Bll o, !
(o] (07 X1 Xz, X122 0,X22 0, X1+ X2= 1;
B: B Yi Y2, VY12 0,y:2 0,y1+ y.= 1.
(X1,X2) (yl,yZ) ( ), X1, X2, Y1,
y2 , :
2 2
E(X,Y) = Z Z ai XiY;j .
, r={S ,S ;A},
X= (X1,X2, ,Xm), Y= (Yy1,Y2, ,Yn) .
S = X@{iZ 0; Z Xxi= 1
S* = Y@{j > 0; Vi = 1
X Si,Y S ,
X1Y ) ’ (GIBJ) X'yl ]
E(X,Y) = Z Z ai Xiyj = XAY'.
(X,Y) :
., "={S:,S:;E} r
maxminE(X,Y) = minmaxE(X,Y) = E(X ,Y")
. E(X,Y) r (X, Y) r ( ).
X Y ( ).
X Xi oi, Y yi
Bi. , (o ,B ), X xi= 1 Y o yi= 1,
3 , .
X=(x,1- x), Y=(y,1- y),

E(X,Y)= XAY'
_ 9 7 vy _
= (x,1- x) 28 1.y = 8xy- Xx- 6y+ 8.
125.



_E_ o . _ 1
X—8y —O, y_81
_E_ _ _ 3
y—8-6—0, X= 4
~_ 31 . 1 7
X = 44 'Y~ g'8g
. S R R
E(X,Y)—8|04|0y 4 oy + 8—74,
. 1 1 1
E(X,Y):8iaxic§- X - 6io§+ 8= 72,
N R SR | 1 R
E(X,Y)—8|04|08- 4 6|08+ 8—74
~_ 3 1 . _
' X = 414 ' y -
1 7 1
818 1 741 1
- 3 1 -1 7
X = 4’ 4 ¥ = 8' 8
, Vr:7%
1
741 1
( ) :
3 X" s,Y s, (X.,Y)
E(X,Y )< E(X",Y )< E(X",Y) . (5.3)
3 ] ) 1
, E(X,Y) ,
E(X,Y) X, X,
Y, E(X,Y ),
, Y, Y,
(X ,Y) :
4
9 8 7
A= 2 6 8
4 5 6
-~ _ 3 1 s _ 1 7
X - 4,4,O,Y_ 8’0,8 ]
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1
9 8 8
_ r_ 31 R
Vi= X'AY "= 550 2 6 0 =77.
4 5 6 17
8
- 11 1
X X= "3i3h 3
Y,
1
9 8 7 8
S N N 3
E(X,Y" ) = 3 3 3 2 6 8 0 64<Vr.
4 5 A
8
X, , ,
Y, .
4 X sS.,Y S, (X.,Y)
E(oi, Y ) < E(X ,Y )< E(X ,B) (5.4)
Lj(i=1,2, ,mj=12 ,n)
(5.4) (5.3) , , (5.4) (5.3)
(5.3) , , , (5-4)
(5.4 0 : ,  Xi= 1, xi=0
(j# 1) : » Bi : , , (5.4)
, (5.4) , & m , i 1,
E(oi, Y ) = @AY X = ine?.

E(X,Y )= XAY '

m

=y xie AY
—1

= Z (@AY ' )x;
= Zm E(Gi,Y*)Xi,
xi2 0, (5.4)
XiE(a,y ) < E(X .,y )Xi
E(X,Y )= Z XiE(a, Y )

<y E(X,Y )x:
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= E(X*,Y*)mei

X1+ X2+ Xs+ Xa+ Xs+ Xe= 1
xi= 0 (i= 1,2, ,6).
128-

Yi+ Yo+ Ys+ Yo+ Yys+ Yye= 1
yi2 0 (j= 1,2, ,6) .

= E(X ,Y) lei: 1
. (5.4 E(X ,Y)2 E(X ,Y)
, E(X,Y )< E(X ,Y)<SE(X ,Y). O
: 4 :
5 X S.,¥Y S, (X.,Y) v,
XY
1a.inz v (j=1,2, ,n)
(1 & (5.5)
=1
xi=> 0 (1= 1,2, ,m)
Zla;yis v (i= 1,2, ,m)
(29 & (5.6)
_1yi_ 1
yi= 0 (j= 1,2, ,n)
, v= Vr.
5 , Xy,
(5.5) (5.6).
5 “ ”
3 1 1 1 1 -1
1 3 1 1 -1 1
A= 1 -1 3 1 1 1
-1 1 1 3 1 1
1 1 -1 1 3 1
1 1 1 -1 1 3
S :
X1+ X2+ Xs- Xat+ Xs+ Xe= V Y1+ Y2+ Ys- Yat+ Ys+ Ye= V
X1+ 3Xz2- Xzt Xa+ Xs+ X6 V Yyi+ 3yz2- Y3+ Yit Ys+ Ye< V
X1+ X2+ 3Xs+ Xa- Xs+ X6 V Yi+ Yo+ 3ys+ Yi- Ys+ Ye< V
L Xt Xet Xa 3Xs+ Xs- Xe= V W Yrtoyzt o ys+t 3ys+ Ys- Ye< V
(1) X1i- X2+ Xs+ Xa+ 3Xs+ Xe= V (29 Yi- Yot Yzt Yyat+t 3ys+ Ye< V
- X1+ X2+ Xst+ Xa+ Xst+ 3Xe= V - Vit Yo+ Yzt Yat+ ys+ 3ye <V



6’

A 1
, (1°) (2
6(x1+ X2+ X3+ Xat+ Xst+ Xs) = 6v .
6(y:1+ y2+ ys+ yst ys+ ye)= 6v
6 6
Xi= 1, = 1, ,v=1
2. 2.
A ] ) )
X' = 1l 11 1 1 1
6'6°’6°6"6"6 '
Y = 1 11 1 11
- 6'6'6°6°6"6
V=1
. ” : 5 : 5
5.3
5.3.1
5 r={S ,S A} X = (X1,X2, L, xXm) Y = (y1,
yZ, ,y:)
Z aixiz v(j= 1,2 ,n) Z aiy; < v(r= 1,2, ,m)
(19 me__ . (29) Z __
i— yl—
Xxi= 0 (1= 1,2, ,m). yi= 0 (j=21,2 ,n).
v= Vr= max min aiXi= min max aiyi.
X g lsjsndey yj g* 1s is mé—y
: ( v> 0):
Xi ‘
xi= M= 1,2, ,m)  y'= %/L(j=1,2, n), (19 (2
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(P) aixi =2 1 (j = 1,2, ,n)

max W = yi
-1
(D) aiyi < 1 (1= 1,2, ,m)
yi =2 0 (j= 1,2, ,n)
e, 1 e
min Z = le., V=3 ,maxW—Zly,,
_ 1
v= o , (P) (D)
, (P) (D) , Vr . V= vz 0 )
v>0 v<O. A= (ai) : v> 0,
(P) (D) : X'= (xi,x2, ,xm') Y= (yd,y7,
,yn') . A aii , v 0 . Xi
yi' : (P) (D)
, A : 6 .
6 r={s ,s ;A} r'={s ,s ;A}, A= (ai)m o, A'= (ai+
k)m< n,k , I [’ , Vr= Vr- k.
6, A
A = (a.] )m< n — (ai + k)m n.
= - min{a;}. A’ ' ’
, V' A \Y; K,
,V=V'- k.
r:{S ,S ,A}, A= (aij)m n,
: ki, A= (ai)= (ait+ k) ;
, A (P) (D), (D),
X'= (xd,%x2", ,xa') Y= (yd,y, ,y');
. W= Zlyj' v'= vlv V', v=Vv- kX =vX,Y =vY
Vr= v , X, Y
6
-1 -2 -1
A= - 2 -1 0
1 o - 2
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= - min{ai}= 2,

1 0 1
A= (a3 + 2)= 0 1 2
3 2 0
mn Z= Xi + X' + X3 max W= y:' + y7 + vy
X! + 3X3=>1 yi' o+ ys < 1
(P) X2+ 2X3' =2 1 (D) ys + 2ysd' < 1
i+ 2x)) =21 y.' + 2yl <1
xi 2 0,(i= 1,2,3) . yi'2 0,(j= 1,23) .
(D), 5.3
5.3
ys b yr y? ys y4 ys' ye
yd 1 1 0 1 1 0 0
ys 1 0 1 2 0 1 0
ye 1 [3] 2 0 0 0 1
W 0 -1 -1 1 0 0 0
y4d 2/ 3 0 - 23 1 1 0 - U3
ys 1 0 1 [2] 0 1 0
y1 3 1 2/ 3 0 0 0 1/3
W 13 0 - 13 -1 0 0 1/3
yd 16 0 - 76 0 1 - 1/2 - U3
y3d 1/ 2 0 1/2 1 0 1/ 2 0
y1 3 1 2/ 3 0 0 0 1/3
W 5/ 6 0 1/6 0 0 12 1/3
Y'= (yi,y,yd)= % 0,_% W= % X'= Xd,XZ,Xs' = O%% :
v'= W1= % Vr=v= V- k= % 2= - %
=v'x'= O%% Y = v'y'= %0%
Vr> 0 , A ,
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maxW = y:1+ y2+ Vs

- Yi- 2y2- ys3< 1
(D) - 2Y1- Y2 < 1
V1 - 2ys< 1
yi2 0 (= 1,23)
( 5.4:
5.4
Ys y1 y2 ys3 ya ys ye
Y4 1 - 2 -1 1 0 0
ys 1 1 0 0 1 0
Yo 1 0 -2 0 0 1
w 1 1 -1 0 0 0
y2’ 1 ) ]
5.3.2 % n
du A din
A=
da Az dan
X
1. 8 2
X1,X2,y1 Y2 A
(P) (D)
min z= = max W= -+
\Y \'%
(P") auXi1t aziXz22 V (D') aunyit any:< Vv
AnX1t az2X22 V a1t azny:< Vv
X1, X32 yi1,yY22 0
X1, X2, Y1, Y2 : ,(P") (D')

X1+ X2= 1,y:1+ y.= 1,(P") (D")

132.

aiiX1+ azX2=V
ai2X1+ az2X2=V
X1+ X2= 1

X1, X2= 0

auyi+ azy.= V

aryi+ axzy.= V
yit y.=1
y1,y22 0



Y. = d» - Az X* _ Al - A
YT o (ant @) - (aw+ ax)’ 0T (au+ az) - (az+ axn) '
. d22 - A2 " dil - a2
Y1 = y Y2 = ’
(a11+ azz) - (a12+ a21) (a11+ a22) - (a12+ a21)
Vi= v= di1d22 - dizdz
" - (au + a2) - (awzt+ ax) °
0= (au+ az)- (ant+ aa),detA= auaz- awa:, (5.7)
X* _ Az - ada « _ du - du
1 = S , X2 = S ,
« _ de2- Az « _ du- deo
yl - 5 ,y2 - be) '
Vr = deté
(5.8) ,2 2
: 0.0 A
X1,Xz2 ,Y1,Y2 S, X1, X2
yi, Yz
Vr 0, detA, CAC]
7 3,
9 7
A=
2 8
5= (9+ 8)- (2+ 7)=8 ,
X*_ Az2- do1 8- 2_ 3 * dii- diz 9- 7_ 1
T s T 8 T4 T 5 T g T a4
« Q2= A1 8 7 1 « @u- aan_ 9 2 7
y»= 5 T 8~ 8 YT 5§ T 8 8
_detA & 8 X 7 58 _1
Vi= St ST
8 r={s ,S ;A},
1) A= ) ’ 2) A=
N €
(1) A ,
5= (1+ 1) - (- 1- 3= 6,
X;_l--l_lxz_l--3_l
a 6 -3 a 6 -3
« _1- (-3 2 « _1- (-1 21
yr = 6 377 6 3

(5.7)

(5.8)
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134-

V_lx 1- (- 1) (- 3)_ 1
r— 6 - 3 .
X = (X1,X2)= %% Y = (yi,y2)= %% ,Vr=%
(2) , (5-1) :
1
3
(07) B2 Vr= 2, (C(; ,BI)
, X'>0 Y>0
2. 2 n
& n : X n Ch 2 2
(5.7) n
9
7 13
A=
9 0 - 2
(1) A :
13 7 13
1= , = , 3=
- 2 O -2
(2) Ar A As
Vs = 9 0 21
MT o1+ 0)- (9+ 7)) 57
1 13
9 - 2 119
Va. = = .
2~ (1- 2)- (9+ 13) _ 23
As , VA3:7
. .21 119 21
(3)  Vr=min{Va, Va,,Va}= min 32—37 =g -
(4) Vr= Va,= 2_51, [ A,
y(10)= 115’ y(zo)_ 1_85 -
A1 A k=1 = 2 A 3
X 3
s _ oy _ 3 2 f_ oy L8
X = X7= 5’5’Y_Y_15’15’O’
Vr = 2_51



2 n A CG 2 2 Ai;
Ai ;
Vr= min{Va, Va, ,Va}=Va,1< ks N, N= Cr, A« A
k | ,
; A [a X ¥? X =x?, Y n- 2
( A K | ) Y, (X,Y) 2 n
3. 2 n
X=(x,1- x), (5.4 ,
Vr = Xmgg(ymiS[)E(X,YF maxminE(X, Bi) ,
0
E(XB)= (x,1- x) ) g
aoi aj n
0
= (x,1- x) X
azj
= (auy- az)x+ az.
Vr= OTgxquin{(&j- &)X+ az} . (5.9)
Ve X=X , li:(ay- az)x+ az(j=
1,2, ,n) : x [0, 1] :
5.1 . M X= X
M Vr.
51 52
9.
x= (x,1- x), :
5.2
[1:v= - 8x+ 9,
l[2:v= 7x ,
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2

5.3

[s:v= 15x- 2.
, (5.9 x=0, v=aa,
x=1, v=ay.
y aij azj X=1 X= 0( ) ’ ’
i
x [0, 1] ABMC, M [1
v=- 8+ 9
V= 71X
X*=%, Vr= 2_;
M |1 2 , s , ,
7
0
Az ~_ 8
(5-8) Y1715 Y7 15
~_ 3 2 ~_ 1 8
’ X= %% Y= 15150
Vr= 2_51
10 A
2 7
A= 6 6
11 2
m 2 , 2 n
Y= (y’ 1- y)’
li:v=- by + 7,
[.:v= 6,
l[s:v= 9y + 2.
y [0, 1] AM:M:B, M1
M 2 , 1 l2, |3 |2
, Vr= 6,
- 5y+ 7:
9y+ 2= 5.3
_d el A - 1
OCi= 7, 0C:= . , y =(y.1-y), 5
y X* = (01 1! O)! GZ.
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, (
) ] ]
11 A
2 0 2
A= 0 3 1
1 2 1
k k= 1, ot, 5.5
mjin ai= 0, Bz, 5. 6.
55 5.6
B1 B2 Bs ou (07 o
1 o 2 0 2 1 B2 0 3 2
k= 2, B2, maxaiz= 3, o2, 5 7.
2
min ai = 2, B1, 5.8
! 1
5.7 5.8
B1 B2 Bs ou o2 s
1 (o} 2 0 2 1 B2 0 3 2
2 (07 0 3 1 2 B1 2 0 1
2 3 3 2 3 3
2
k= 3, 5. 8, m_axz aij = 3, , o, 5. 9.
! -1
3
rnjlnzl aj = 2, B, 5. 10.
59 5.10
B1 B2 Bs o o o
1 o 2 0 2 1 Bs 0 3 2
@ 0 3 1 B2 2 0 1
3 07 0 3 1 3 B1 2 0 1
2 6 4 4 3 4
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5 11 30 5.11 3
, ; 5 k
6 k K,
: 7 k k, Vi« ;
8 Vi : .V« 9,10
k
511
k (B1, B2, B2) (on, 02,08 | Va | Vi | Vi x (0 y(®
1 a (2,0, 2) B2 | (1,32 0 3 |32 (1,0, 0) (0, 1, 0)
2 o (2,3,3) B1 (2,3,3) 212 | 32 | 54 (1 2,1/ 2,0) (1/2, 1 2,0)
3 o (2,6, 4) B1 (4,3,4) | 213 | 43| 1 (1 3,2/3,0) (2/3, 1 3,0)
4 o (4,6, 6) B1 (6, 3,5) 4/4 | 6/4 | 5/4 (2/ 4,2/ 4,0) (3/4, 1/ 4,0)
5 o (6,6,8 B1 (8, 3,6) 6/5 | 85| 75 (3/5,2/5,0) (4/5,1/5,0)
6 o (8,6, 10) B2 (8, 6,8) 6/6 | 8/6 | 7/6 (4/6,2/6,0) (416, 2/ 6,0)
7 a | (10,6, 12) B2 (8,9,10) | 6/7 |10/7| 87 (5/7,2/7,0) (417,31 7,0)
8 o | (11,8, 13) B2 | (812,12) | 8/8 |12/8] 54 (5/8,2/ 8,1 8) (418, 4/8,0)
9 o |(11,11,14) | By | (10 12,13) |11/9| 13/9| 43 (5/9,3/9, 1/ 9) (5/9, 4/ 9,0)
10 o | (12,13,15) | B: | (12 12 14) |12/10|14/ 10{13/ 10| (5/ 10, 3/10,2/ 10) (6/ 10, 4/ 10, 0)
11 o | (13,15,16) | Bi | (14, 12 15) |13/11|15/ 11|14/ 11| (5/ 11, 3/11,3/11) (7/11, 4/ 11, 0)
12 o | (14,17,17) | B1 | (16,12, 16) |14/ 12|16/ 12| 54 | (6/12, 3/12,4/12) (8/12, 4/ 12, 0)
13 o | (16,17,19) | PB: | (18,12 17) |16/13|18/ 13|17/ 13| (6/13,3/13,4/13) (9/ 13, 4/ 13, 0)
14 o |(18,17,21) | B2 | (18 15 19) |17/14|19 14| 97 | (7 14, 3/14,4/ 14) (9/ 14, 5/ 14, 0)
15 s |(19,19,22) | B1 | (20, 15 20) |19/ 15|20/ 15|13/ 10| (7/ 15, 3/15,5/ 15) (10/15, 5/ 15, 0)
16 o | (21,19,24) | B2 | (20,18, Z) 19/ 16|22/ 16|41/ 32| (8/ 16, 3/16,5/ 16) (10/ 16, 6/ 16, 0)
17 e | (22,21, 25) | Ba | (20, 21,24) |21/ 17|24/ 17|45/ 34| (8/17,3/17,6/17) (10/17, 7/ 17, 0)
18 o | (23,23,26) | By | (22 21,25) |23/18|25/ 18 43 | (8 18 3/18,7/18) 11/ 18, 7/ 18, 0)
19 o | (24,25,27) | Bi | (24,21, 26) |24/19|26/ 19|25/ 19| (8/ 19, 3/19,8/19) (12/19, 7/ 19, 0)
20 o | (25,27,28) | B1 | (26, 21,27) |25/20(27/20(13/ 10| (8 20, 3/20,9/ 20) (13/20, 7/ 20, 0)
21 w | (26,29,29) | B1 | (28 21 28) |26/21|28/ 21|27/ 21| (8 21, 3/21, 10/ 21) (14/21, 7/ 21, 0)
22 o | (28,29,31) | B1 | (30 21 29) |28/ 22|30/ 22|29/ 22| (9 22, 3/22, 10/ 22) (15/22, 7/ 22, 0)
23 o |(30,29,33) | B2 | (30 24 31) |29/23|31 23|30/ 23| (10/ 23, 3/23,10/ 23) | (15/23, 8 23, 0)
24 o | (31,31,34) | By | (32 24,32) |31/ 24|32 24|21/ 16| (10/ 24, 3/24,11/ 24) | (16/24, 8/ 24, 0)
25 o | (33,31,36) | B2 | (32 27, 34) |31/25(34/ 25|13/ 10| (11 25, 3/25,11/25) | (16/25, 9 25, 0)
26 o | (34,33,37) | B2 | (32 30,36) |33/26|36/ 26|69/ 52| (11 26, 3/26,12/26) | (16/ 26, 10/ 26, 0)
27 o |(35,3538) | B: | (34 30, 37) |35/27|37/ 27| 43 | (1V 27 3/27,13/27) | (17/ 27, 10/ 27, 0)
28 o |(36,37,39) | B: | (36 30,38) |36/28(38/28(37/ 28| (11 28, 3/28,14/28) | (18/ 28, 10/ 28, 0)
29 o | (37,39,40) | B: | (38 30, 39) |37/29|39 29|38/ 29| (11/ 29, 3/29,15/29) | (19/29, 10/ 29, 0)
30 o | (38,41,41) | B1 | (40, 30, 40) |38/ 30|40/ 30|39/ 30| (11/ 30, 3/30, 16/ 30) | (20/ 30, 10/ 30, 0)
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, k=30 , O, Ok, O 11, 3, 16;
B1, Bz, Bs 20, 10, 0, ,
x = x“Y = (1130, 3/30, 16/30) = (0.37,0.10, 0.53) ,
y = y“ = (20/30,10/30,0) = (0.67,0.33,0) ,
Vr= Vo= 39/30= 1.3 .

1 1) Vk Vr’
5.4
5.4.1
r
10 - 1 3
A= 12 10 - 5
6 8 5
A 1 Bli
, B1 Bs :
ps s, y1=0
Bl 1 A ) 3 3 3 2
-1
A= 10 - 5
8 5
) r: {S 1S ’A}i S :{a11a27 ,Gn},S :{[-31,[321 ’
Bn},A: (ai)m ny k I
ai= ai(j=1,2, ,n),
k Ok | o P q
aips diqg (i: 11 2! 1m) '
p Be q Ba.
Ok o, A | :
Xr = O- Bp BQl A q ’
ya = 0. A ,
12 A ;
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3 4 0 3 O
5 0 2 5 8
7 3 9 5 8
4 6 8 7 5

A=

6 0 8 8 3

5

o,

Ok, O

A1

7 3 9 5 8
4 6 8 7 5

A=

6 0 8 8 3

A1

Az

3,4

B,

4 6 5

Az=

A2

Az

13

1
10

10
12

5

A=
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10 -1 3
= = 10 -5
AT 12 10 -5 y;:oAl : X1 =0
6 8 5 °
i) .5 «
A= 10 - 5 - L Az= . As= [5] .
3 5 y2=0 ) X2=0
x1=(0,0,1),y =(0,0,1), V= 5.
) A 1
( 13). 14 . ,
, A o (Bi,) Oiz, O, , Oim(Biz, Bis, , Bin)

Oit £ A20i2 + MO + + )\mosm,z A= 1,
—2

(leZ |Jz|3j2+ H3sz+ + “nBjn,Z Mk = 1) .
-2

A Bo( ),

14 A
3 2 4 0
3 4 2 14
A=
4 2 4 0
O 4 0 8
3 2 4 0 - | |
3 4 2 4 3 4 2 4 2 4
A= . = . = ,
4 2 4 0 Xx1= 0 ' 4 2 4 yi=0 ’ 2 4 0
0O 4 0 8 O 4 0O 8 4 0 8
4 2 4
1 1
S =+ L
4 0 8
A: 1 2 3 , 1

«—

o O H

2

Az, As= 4
0

0
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(2,4)= %(4,0 ; %(0,8) ,

5.4.2 A
1. A
7 r={S .S ;A},A n : ait, az, , am,
a1, @z, |, amn ., X =y = a)l\l’i’ ,a:\n . Vr= A
A= : ant
.
15 r{S ,S ; A},
1 0 O
A= 0 2 O
O 0 3
.
A= 11 1 6+ g+ ZZﬁ’
1+ E+§
16 , : ,
: 3 , : :
, r={S .S A},
- 3 1 1 1
A= 1 -3 1 1
1 1 -3 1
1 1 1 -3
, , A 1,
- 4 0 0 0
oo 0 -4 0 0
0 0O - 14 0
0 0 0O -4
7, A= -
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6, n= 6,

n

X
K

17

©| ©
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5.5

3

8

(1)
(2)
(3)
(4)
(5)



5.5.1

18
3 5 :
4
5.12.
5.12
Ba( ) Ba( )
o ( ) (3,3) (6,- 4)
Oz ) (- 4,6) (5,9
5.12 S
= {0, e}, S = {B, B}, (ai Bi) (&, bi) ai,
bi . , (- 4,6) (oe, B) 4
6
r={S ,S ;(A,B)} : S S
S ={a, @ o}, S ={fu By B}, A=
(ai)m n B= (bi)m » , (A,B)= (ai, bi)m A+
B# 0.
A, B
B=- A
A= B= :
- 5
5 12
: (ou,
B1) . 3
4
2
19 ( ) (
",
300, 100(  50), 10.
5.13
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5.13

Ba( ) Ba( )
o ) (40, 50) (- 10,0)
oe( ) (0, 300) (0, 300)
5.13 S - on( )
o ( ) S :Ba( ) Ba( )
40 - 10 50 0
A 0 ~ 300 300 °
(o, B ( , ) (o, B2)( ) :
o ( ) Bx( ) 50, 0,
, B( ) : Bx( ) o
( ) O2( ) B( ) Be( )
Ba( ) 0 )
5.5.2
1_ -
18 Bx( )
ot ( ) O ) Bz ( )
on ( ) oe( ) B1 B,
ou( ) on ( )
o( ), Ba( ) (ou, B1)
(Gl1 Bl)
r={s .,s ;(A,B)}, a S,p S
(a ,Bi)
(A, B) A
(A, B) B
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b1

18 19
18 5.12
Ba( ) Ba( )
ou( ) (3,3) (6,- 4)
o( ) (- 4,9 (5 5)
5.12 A aun= 3 2= 6,
B1, Be,
o ( ) 5.12
=3 b= 6, : o,
Bl( ), (a11, b11): (3, 3)
! (3’ 3) - (al, Bl)
1) 3
(e, B2) ( )
3
S , 4
(0, B2)
! )
19 5.13
Ba( ) B( )
ou( ) (40, 50) (- 10,0)
oz( ) (0, 300) (0, 300)
( ( )
2.
20
5.14
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5.14

(312) (_ 1!2’)
(- 1,1 (9,0
5. 14, : , ;
A, B , m n ,
S* = X@{iZ 0, Z Xi= 1 ,
S = YQ} = 0O, Z yi= 1
(X,Y)
XAY "< X' AY' T, X BY < X BY |,
- (X* ;Y*) ’ XIY
20
X , 1- x , (x,1- x),
y ’ 1- y 1 (y1 1- y)

Ea(X,Y)= XAY'

(x,1 ) 3 1 vy c
= (x,1- X = BXy- X - .
-1 0O 1-vy Y Y

_Ea_ _ ~_ 1
X_5y- 1= 01 y = 5
1
) ) ] 5
4 ~_ 1 4
15 ) Y - 51 5 .
. 2 3y
Es(X,Y)= XBY = (x,1- x) = - 2xy+ X+ vy.
1 0 1 vy
Es .

_y=-2x+1:O, X =7
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*,Y*)

(X

*

X
~
>
| O -
X
A =
. L
— O
N
>
—~
R >
X
1_2(
<
A LL
- X
—|
V
X
—
S Ry I
X
\ -
> -

(x ,y)

100

3.2

10.8

14

21

(1)

(o]
< —
o
—
N~ -
— .
—
(qV]
4
~ n/mz
S
Lo
(o]
< (40
- (q\]
1P I
o W
—
N ™ < T9)
~ ~ ~ ~

16.4
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: 80% : 4.5
: ?
X 6
. b
5.15
5.15
(B1) (B2) (Bs) (B4) (Bs) (Bs)
(on) 14 10.8 11.7 16.4 14 - 4.5
(o) 2 2 2 - 0.4 - 1.6 2
: 15 2 2
14 10.8 14 11.7 14 16.4
1= , = , Asz=
2 2 2 2 2 - 04
14 14 14 - 4.5 10.8 11.7
As= : As= : As= :
2 - 1.6 2 2 2
10.8 16.4 10.8 14 10.8 - 4.5
A7: y 8— y 9= )
2 - 04 2 - 1.6 2 2
11.7 16.4 11.7 14 11.7 - 4.5
10= , Au= ) 12— )
2 - 0.4 2 - 1.6 2 2
16.4 14 16.4 - 4.5 14 - 4.5
13= y RA14= , A15=
- 04 - 1.6 - 04 2 - 1.6 2
Va, = VA6: Va,= VA8: 10.8 ,
Va,= Va,,= Va, = 11.7 ,
Va,= Va,= Va = 14 ,
VA5: VA9: Va,,= 2 ,
Va, = 1.33 ) VA .= 0.94 .
VA15: 0.94,

Vr= VA15: 0.94.

x = (0.16,0.84),y = (0,0,0,0,0.29,0.71) .
0.94

, 5. 16

0. 16,

149.



5.16

(Bv) (B2) (Bs) (Ba)
(ou) 9.6 7.5 11.3 9.6
() 1.5 1.5 1.5 - 0.2
4 ,Vr=7.5,X =(1,0).
7.5
22 A B
5. 17 (a) , (b) :
( A ( ) B (
), A.B ?
5.17
(a) (b)
B B
A A
400, 400 800, 0 - 300,- 300 100, 0
0, 800 0,0 0,100 0,0
, A, B : )
( ) A, B
, 400  ( ). (
). ( : ) ( : ) 5.5
5.4 A
A 5.17 (a)
5.18.
5.18
B
A
400, 400 800, 0
B ( : )
( : ) ( : ) -
N -1 3 ,_ 1 3
(XY ), X = 2437 4y
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5.1
(1) :

(2) ,

(3)

(4) :
5.2

), ) : :

5.3 A,B 1 S 1
5.4

5.5

5.19

5.19 ,

B2

Bs Ba

R

30%

5.6 A,B )

50% , 30%
(1) :
(2) 2A, B
5.7 ,

c . , ,

(1) :
(2) ? , ?

5.4

50% .

, 20%

? ?

40% A, 30%

B
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5.8 P g : (a, b)

bh b2 bs b: b2 bs
ai 1q 6 ai 2 4 5
(1) a p 5 10 , (20 a 10 7 ¢
as 6 3 as 4 p 6
5-9 1
4 - 3
(1) A= > 04 (2) A= 2 1
- 2 75 -
-1 3
5.10 x 2 r(s .,s ,A), A
1 3
(1) A= ; (2) A=
4 2
5.11 x 3
_ 2 3 11
7 5 2
5.12 P(S ,S ,A):
7 2 9
A= 2 9 0
9 0 11
5.13
3 -1 -3 1 2 3
(1) A= - 3 3 -1 , (2 A= 4 0 1
- 4 - 3 2 2 30
5.14 , A
2 7 2 1
2 21
(1) 3 4 4 (2) 2 234
' 3 5 4 4
2 1 6
2 316
340 30
1 0 3 4
5 0 2 5 9
(3)'1401 (44 7 3 9 5 9
2 2 2 3
4 6 8 7 6
0 4 1 1
6 0 8 8 3
5.15
1 2 5
A= 8 4 7
- 15 -6
x = (0,11/14,3/14),y = (0, 13/ 14,1/ 14), 59/ 14,
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3 4 7 -1 2 - 2 8 10 16
(a) 10 6 9 , (b) 1 4 5, (¢) 24 14 20
1 7 - 4 2 - 9 - 4 6 16 - 6
5.16 5.20 B x = 0.6y = 0.4, A
5.20
B
Bs B2
A
o'} - 2
(o3 3 2
06 1 5
5.17
2 3 .ooN1 N2
2 ,my My 1 2 : : ni< ma,
ny + 1, , N < NMp, n, + 1, , Ny > My, mi+ 1, N, > My,
m+ 1, ,
(1) :
(2)
5.18 , A1, Az As,
B, B2, Bs , , :
A1 B: 2 1 Az B: 3 7
A: B 3 1 A, B 3 2
A1 Bs 1 2 A, Bs 1 3
As Ba 3 1, As Bs 2 1
As B 1 4
: ?
5.19 ,
0 1 2
A= -1 0 3
-2 -30
(D (X, Y) . (YL XD ; (2) 0.
5.20 I, . m nmx m . , & 4
1 3 2 4
2 4 3 1
3 1 4 2
4 2 1 3
mK m (m+ 1)/2.
5.21 : : , :
: 1 ; : 8 :
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5.22

1,
4,
5.23 5.21
521
Bl [32
o (0,0) (2,1)
07 (- 2,- 1 (3, - 2)
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6.1.1

18
(

6.1(b) .

6.1(b)
1736
2

6.1(a)

6.1(a)

6.2(a)

6

).

6.1

4

6.1

A, B,CD,

a, bcdef
a
f

- 155
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b,c,d,e : , b 6.2(b) . 6.2 (a)

(b) : ,
6.2
3
6.3
6.3 A , H
B,C,D,E,F ( )
A H : ?
, ( )
V= {vi,ve, ,w} p E={ene, .e&} (¢
&= (vi,vi)= (vi,vi), vi, Vi V.
V E , G=(V,E).
6.4 G ,V={vi Vv, Vs Vi},p= 4, E={e,e, ,e}, 0= 7, e=
= {vi,vi},e= (v1,Vv2),s= e= (vz2,v3),e= (vs, Vi), &= (vs, Vvi).
&= (Vi,Vj), Vi Vi (S , Vi Vi
, , 6.4 e
6.2 f.
1 ’ 6 4 e‘i, &
! 6.4
G= (V,E) G'=(V'E"), V' V,E' E, G
G . 6.5 (b) (c) (a) : V'=V,E' E, G G

. 6.5 (c) (3
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6.5

D= (V,A). V=
{vi,v2, ,Vp},A={e,e, ,e&}.e= (viyVvi)x (Vi,Vi),Vy,V,i V, & Vi , Vi
6.3
G= (V,E), {vi, &1, Viz, €, , Vit 1), 6+ 1,
Vit} Vi Vit , {vu, vio, ,Vi}. = (ex,ew1),k=1,2, ,t- L
6.2 {a,b c},{a,bed},{a bc a} , Vi, Vit
6.2 {a, b, c, a}
D= (V,A) , {vu, viz, , Vit} Vit : Vit
Vii= Vi, . 6.3 , A H ,
: G : G
6.2 , f, .
G , ( ) (vi,vi) Wij , G
( ), G= (V,E,W)(D= (V,A,W)). "
6.3
6.1.2
G= (V,E) , G , T=(V,E). 6.6
(1)
(2)
(3) ,
(4) P P- 1 .
6.5 (a) (c)
G= (V,E) G'=(V.E') G G 6.6
?
1 G G
G (1) G , G (2 G

. 157



G

4 6.5 (a)
{Vl,V2,V3,V1}, (VZ,V3)1 {Vl,V3,V4,V1}, (VS’V4);
{ V1, vz, Vs, V1}, (v2,Vs); {V1,Va, Vs, V1}, (vi, Vs)
) 6.5(a) : 6.7
6.7 6.8
5 6.8a) 5 , (),
, 5 :
: G=(V,E,W) , G T
=(V,E)(E'" E), E' wii (= 0)
W(T ) = min Wi .
(T°) = min 3 w
T ,
(1)
5.
6.8(a) |, {v1, vz, vs, 1}, W= 6 (w1, vs). {v1,
V2, Vs, Va, Vi}, (vs, va). {v1, vz, Vs, vi}, (vz, vs). {v1, Vs, vs, v},
Wu= W= 4, , (s, Vs). , ( 6.8
(b)), 5 We=11( ).
(2) ——Kruskal
Kruskal , , ,
= 1’ Eo=

& E\Ei-l, Ei 1 {ei} ,
- 158-



T=(V,E: 1)

= it 1,
6 5.
i— 1, Eo= E (v1,v2),
1= 2, E/E. (Vz,V3),
i=3, E/E: (v1, vs),
V5) .
1= 4, E/Es (V1,V4) (V4,V5)(
(vz,va), (vi,vs), (vi,ve)} = Ea (vi,va4)
= 5, E/ E4 E.
W(T )= 11( ). 6.8(b).
6.2
6.2.1
3 6.3 A
H
D= (V,A), \Y
) & A
), D
Vi) fi (vi, vi)
6.9 (wi, fg),
, (vs, v1) (8 6),
6.
6.9
6.9 , (1)
+ 3= 9, Vi 5+ 4= 9,
4- (3+ 1)= 0.
D= (V,A, W)
(1) O< fais wi (vi,vi)

Ei= {v1, v2}.
E.= {(V1,V2), (Vz,Va)}.
Es= {(v1, v2), (v2,v3),(vi,vs)}= Ez2 (v,

Wis= Was= 4), E.= {(Vl,VZ),
, T=(V,E4),
B,C,D,E, F
) Vs, (
W (vi, vi)= 0O( Wi ,
D= (V,A,W). D |, (Vi,
f={fu} D
8,
;(2) Vs 6
V2

f

- 159.



v(f) i=s
(2) S fi- T fu= 0 iz st
- ov(f)  i=t
v(f) :
6.2.2
D f={fi}, v(f) :
max v(f)
0< fi< Wi (vi,vi) A, (6.1)
v(f) i= s
Y fy- Y fu= 0 iz st (6.2)
- ov(f) =
, : 2
1.
D= (V,A,W) |, f={fi}, :
(fs= wi); (fa< wi);
(fs= 0); (f s> 0).
6.9 ,(vi,Vva) : : :
U D Vs Vi , , M
: b ,
, U 6.9 , U= {vs, vz, vi, va, va, vi} 17 = {(vs, v2),
(vi,va), (vs, v) b = {(vz, v1), (v, va)}.
f,u Vs Wi : u T
v f 6.9  pi= {Vs, V2, V1, Vs, Vi}
, M= {vs, vz, V1, Ve, wi} , M , H
2.
D=(V,A,W) V Vs Vs, Vs Vs, vt Vs, VsN Vs=
Vs V=V, V. V. Ve Vs , (Vs Vo),
(Vs, Vs) = {vi,viQ}i Vs,vi Vs (vi,vi) A}, (Vs, Vs)

, W(Vs,Vs). D ,
. 160-



Vs Vi . D
, 6.9 Vs= {vs},Vs= {v1, vz, Vs, va, v},
(Vs, Vs, )= {(vs, V1), (Vs,V2)},
W( Vs, Vs)= ws+ ws,= 8+ 7= 15.
Vs= {vs,vi}, Vs= {vz2, Vs, vs, 1) },
(Vs, Vs) = {(vs, v2) , (Vi, V2) (V1,Vs), (Va, Va) },
W(Vs, Vo= 7+ 6+ 4+ 3= 20 .

6.9 , 7 : 13 (Vs Vs)
: v(f) ;o v(f) < W(Vs,
Vs). f v(f )= W(Vs ,Vs ), f° . (Vs ,Vs)
D ,
; f
; Vs Vi : : f f
v(f) , f : .
, (Ford- Fulkerson)
; f , Vs , D
f : , f : :
o (vi,vi)  p L fa< Wap (vi,vi) g L fg> 0. ;
6= min{rrin(Wij- fij),rEl_inf i}> 0, (6.3)
fi+ 0 (vi,vi) P
fi'= fi- O (vi,vi) o (6.4)
fi (vivi) M
fr,
f( ,f=0).
: M. (vi, [(vi)) ,
; M, v 0
, , Vo,
, Vs, Vs.
Vs (0, + ). Vo= {vs,Vs ,Vs= {vi, ,vi}.
Vo , , ,
Vo Vi, Vi Vs Vi (vi,vi), Vs Vi Vi
(vi, Vi), Vi
(i) (vi, vi), : Vi (vi, [ (vi)), [(vi)= min{l(vi),ws
- fi}, Vi Vs : Vo. Vi Vo, f M,
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(II) (Vj,Vi), , Vj (- Vi,I(Vj)), ,|(Vj)=

min{l(vi),fii}, Vi Vs : Vo.
% Vs.
M fr
vt Vo, Vi \ Vi Y,
Vs Wi u. (6.3) (6.4) v
f.
; fr={fs} v(f") (Vs ,Vs),
7 (Ford- Fulkerson) 6.10
6.10
f 6.10
Vs (0,+ ), Vo= {vs}, Vs= |, Vs= { V1, V2, Vs, Vi, Vi}.
Vs, (vs,vi) ,fa= wa= 7, , Vi .
(vs, v2) We- fe= 8 3= 5> 0, V2 (s, 1(v2))), | (v2) =
min{+ o , 5}= 5, Vo= {vz}, Vs= {vs}, Vs= {v1, vs, vs, vi}.
V2, (vz,Vvs) : V& (v, v2) f 2= 3> 0,
Vi (- vz, 1(v1)), [(vi) = min{l(vz), f 21} = min{5, 3} = 3, , Vo
= {vi}, Vs= {(vs, va}, Vs= {vs, va, vi}.
Vi, (Vvs, V1) : : Vs ; (V1, Va)
Va (v1, 1(va)), | (va) = min{l(v1),wi- fia}= min{3, 4}= 3, , Vo
= {va},Vs= {(Vs, V2, 1}, Vs= {vs, ni}.
Va. (va, vi) : , Vi (va, 1 (w)), | (vi) =
min{l(vs), Wa- fa«}=min{3,6}= 3. Vi : Vs
Vo= {v, Vs= {vs, v2, v1, va}, Vs= {vs} .
Vi M= {Vs, V2, V1, Vs, Vi},
6.10
b= {(vs,v2), (va,ve) , (va,v) }
o= {(vs,vo)}
Vi 6= 3, ¥
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fo'=fet B=3+3=6 (Vs,V2) [
fau'=fut 0= 4+ 3= 7 (vi,vs) M
firz fa'=fat 0=4+3=7 (vs,vy) |
fo'="fwr 6=3 3=0 (vi,Vv2) M

fi (Vs,VZ) | M
6.11 : 6.11 :
6.11
y V2 (VS1 2) ’ ’ VS: {VS! VZ} ' VS: {Vl’ Vs, V4, Vt}’ VO
= . y ) (VS* ’VS* ): {(V2,V3) ’ (VS’Vl)}’

V(f )= fat+ fs= 6+ 7= 13,

6.3
D v(f) : :
, 6.12 (a), (b), v(f) =56 :
(bii, i) :
(a) b(f)= ¥ 6+ % 3+ % 3+4& 1+ k¥ 2+ ¥ 2= 23 (h)
b(f)= % 6+ & 6= 30. ,
— : ( v(f)=1) ,
Vs Vit . ) )
6.12
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6.3.1

6.13 w , Vo , V2, V3, , Vs V1 Vo
) Vi Vi . V1 Vo,
?
6.13
D= (V,A, W), W3 (Vvi, Vi) (
). vs vt D , P Vs Wt D , Vs Vi
, , Vs Ve P
W(P") = minZ Wi,
P W(P')  vs w , ds, . ds de.
4 ,
, P D Vs Wi Vi P , vs P
Vi Vs Vi
D wi= 0 , Vs Vi Dijkstra
Dijkstra \ Vi( P ) Vai( T
). Vs Vi : Vs ( vs Vi, P(v)=0 ,
Vi, T(vi)=+ o) : Vs Vi Vi T Vi P
Vs Vi vs D , V1 p- 1 T
V. P : Vi Vi T V. P
Vs Vi
Dijkstra
(i=0), D V Vi Vi, VinVi= Vi Vi=V, 1= {Vs},
P(vs)= 0, Vi Vi, T(wvi)=+ .
Vi=V : Vi Vi,ds= P(v), Vs
Vi ,
ViV :
(1) v Vi, T(wv)>P(vi)+ wi, T(vi) P(vi)+ wi, (2).
(2) T(vio))= min{T(viz), T(j2), ,T(wvii)}, Jo ,
(3) P(vio)= T (vio), Vijo Vi, ( Vio T P ), = i+ 1
8 Dijkstra 6.14 wv:
6.15(a) (e , V1 Vi, dii= P(vi),
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6.14

V1 Vi Vi, T(vi)= P(vi)+ Wi.
i= 0 Vi= {wi}, P(v1)= 0, Vi Vi, T(vi)=+ 0. wv: V2,
Vs, (1), T(v2)= 1,T(vs)= 4, 6.15(a) . (2),(3)
P(Vio)= T(vio)= min{T(v2), T(vs)}= min{1,4}= 1= T (v2), V2 Vi,
6. 15(b)
= 1: V.2 V, : 6. 15(b) , Vi Vi, V2 Vs,
V4, T(vs)= 4> P(v2)+ was= 1+ 2= 3, : T(vs)= 3. T(va)= P(v2)+ Was= 1+
3= 4,P(vio)= T(Vvie)= min{T(vs), T(va)}=T(vs)=3, v Vi, 6.15(b), (c)
6.15(c), (d), (e) =234
6.15(a) (e)
vs Vi, Vs : , . 6.15(e)
Vi daj
Vi V] , dy- dui= wi, Vi,
Vi Vi
Vi Ve
die- dia= 5 4= 1= wus, Va,
dis- di2= 4- 1= 3= waa, V2,

d12- d11: 1- O: 1= Wi2.
- 165-



,P1s= {V1, V2, Vs, Vs}, P= {vi, V2}, P1a= {Vi1, V2, va}, P1a= {v1, V2, Va}.

wi= 0, Dijkstra Vs Vi : : vs D
D : ,
, D wi< 0 , Dijkstra : Warshall -
Floyd
Warshall- Floyd ;
(k= 0), L= (17") 6= (67),
1(9) = \+Noo (o)A
6= j(ij=12 ,p) .
k=r(1< r<p) LY k k L&Y ,
’ L= (I(ik))
157 = min{ 1§ 7,15 P+ 167 V) (6. 5)
’em :
e ", FREN P
6= 'kk ) |<]”< |<:k' ) - (6.6)
: Ii'< 0 (1 i< p), , D Vi
. di= W(Q)< 0 . e j=1,2, ,P) ; . k= k+ 1.
k= p, 1= + oo, D Vi oV ; :
di= 1, Vi Vi , e(i”)(i,j: 1,2, ,p)
9 Warshall- Floyd 6. 16
: () ()
k= 0, 6. 16
) W14= Wa1= 9, Was= Ws2= 2. 6.16
, L= ), %= (6"), 6.1 k=0
I.<: 1, LY 1 1 L 6.16
( ), (6.5)
2 = min{l2, 19 + 19} = {0,9+ 3} = 12,
9= min{l%,19 + 1%} = {0 ,9+ 4} = 13.
, k=1 ., (6.6) W= @Y= 1,6%= ér'= 1,
6.1 k=1 .
k=2, LY 2 2 L ,  (6.5)

159 = min{l%, 12+ 158}= min{4, 3+ (- 4}=- 1,

2= min{li, 1%+ 155 }= min{e ,3+ 2}= 5
D= min{l¥, 12+ 159}= min{13, 12+ (- 4)}: 8,
(2)

5= min{ls, &+ 153)= {0, 2+ (- 4)}=- 2.
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6.1

=0 k=1 k= 2 =3 k= 4 =5
0 34 9w|0 3 4 9w(0 Bol 9 0 3-(1 0 3-12 0 3-12 [
w0 0- 400 2|0 0- 40 2@ P—4w 2| O0-|40l0l 0-4 (1028 0- 4 1-|2
[L§9]]0 0o O 3 3|cp 0o 0 3 3[0 p 0 3 3w 33 0 4 12 0 3 P
9 00 0- 19 0- 19 12 0- 19128 0- Irot89=—19 030-|1
©w 200 o 0|p 2 0 0 Ol P02 0o 2-]|2 0|10 2-21 0102721
123 4 5|1 2 3 4512 4 1 2 2 1 2 22 1222 2
123 45|12 34512 345|123 2 3 3 3233 3
[65] |1 2 3 4 5|1 2 3 4512 3 45|1234°75 3 4 4 34 4
123 4 5|1 4 5(1 1 4 5/1 114 5|1 11451 4 5
123 4 5|1 2 3 4512 4 5|1 2 2 5 2 22522225
, 159,18, 152, 153
67 , (6.6) =gz 260= 6= 260= 6= 1,6)= 6)= 2,
, 6.1 k=2
k= 3,4,5 6.1 :
L= 1§ 6.16 67 =[6] ViV
, Vi Vs (L2 = 1),
B = 2( V2), B = 3( Va), g3 = 4( va),
g2 = 5, Vi Vs (vi,V2,Vs3, Vi, Vs) . , Vs V1 10,
(vs, vz, Vs, Va, V1) .
10 Warshall- Floyd 6.17
6.17
k=0, 6. 18 LY=11"1 6°=1[6"1, (6.5 (6.6)

6.2(k=0, 1,2 3).
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6.2

k=0 k=1 k=2
0 1 3 w0l 1 o o ol
) 0 2 -2 0 2 - 2 2 - 2
[Li]
) -2 0 -64 -2 0 6 0 o4
2 3 6 0 ol - 6 0 2 - 6 03
1 2 3 4 2 3 4
1 2 3 4 2 3 4 3 4
[ 6°]
1 2 3 4 2 3 4 3
1 2 3 4 3 4 3 1
1= - 3< 0, 6.17 Va Q, [67 i = 1, 65
2,67= 4 , Q= {Va, Vs, V2, Va}, daa= 132 = - ,
; P di - o ;
ViV (1,j=1,2,3,4).
6.3.2
D= (V,A,W) , (vi,vi) A, Wi
bi> 0.f={f;} D b(f) = ¥ bifs. ,
v(f)=v, b(f) ,
b (f) = mln(zrvj)lcxjf\ i
b(f ) v(f)
(f o= 0) D(fs)
Vs Vi Mo, Mo 6.2 ,
fi v(fi)=v, f
D(f1), D(f1) Vs Vi VE Vi
, , f Y ,
fo=0
: D(fo) Vs Mo, Mo
(6.3), (6.4) ,
: f D(f). v, A
v
(vi,vi) p° fa<wi, (vivi) W fi> 0, :
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- by

(vi,vi) W' fi=wi, (viivi) M fi= 0, ,
- bij;
v : :
D(f) Vs Vi : , f
Vs Vi : : .
D(f) (6.3)(6.4) f ,
f'. v(f')=v, , .
11 6.18 Vs , Vi : 10
: ? (bii, wi), b
» Wij
6.18
v(f)= 10
fo= 0 D(fo), 6.19(a).
(1) D(fo) Dijkstra Vs Vi ( ) o= { Vs, V2,
Vi, Vi}, 6.19(a) : Mo 6= min{8,5 7}=5, o
(vs,v2) Mo, (vz,vi) o, (Vi,ve) o . ,  fs2=fa=fw=5, ,
fi , (b)
(2)  D(fo) po= {vs,vz,vi, v} : fa D(f1):
(Vs,v2) Mo ,f 2= 5< we, , , Jbes= - 1 (ve,vi)
Wo ,f21= 5= wo, : ;o b= - 25 (v, V) o, fas=
5< Wz, : : b= - 1,
(c)
(3) D(f) Vs Ve ( ) pi= {vs, v1, vi}, M
; fo , (d) :
(4) D(f2), D(f:) Ve W 2=
{Vs, V2, Vs, Vi}, M2 , T3, ()
v(fs)= 10, , . , b (f)=2 4+8 1+% 2+ % 1
+ 8 3+ 2= 48.
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6.19

12
fs : , fs
D(f2) 2= {vs V2, Vs, Vi} : fs D(fs),
Vs Wi bs= {Vs, V1, V2, Vs, vi}, Ws f a. 6.19 (g)
(h)
fa D(f4)( 6.19 (i) ), D(fs+) Warshall
- Floyd Vs Vi : 6.3
6.3
k=0, 1 k=2 k=3 k= 4,5
0O 4 oo o o | 0 (@4 0 o | 0 4 |2 00 0O 4 2 5 o
4 0 2 6 o 4—10 2~ 6 ™ 4 0 42 00 4 0 2 1 o
[BP] |-1 2 0 3 o |02 2 0 3 o[22 3 (-2 3 0 3 o
0 3 0 o |0 ¢ 3 0 o 13 0 o 5-1-3 0 o
00 7 o0 3 0|t -7 o9 3 0 11- 7 -9 0 11- 7-9-6 0
[b5”] . Vs W o fa Vs Vi
,fa : v(fa)= 11, 55
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6.4

(CPM)
(PERT).
6.4.1
( )
( )
[13 OH
1,2, ,n
13 6.4
6.4
()
a — 5 d b e f 3] i
b — 7 e b d.g k g, 1
c a 4 f b c b, c m h, k




6.4 , 6. 20

6.20
6.20 a,b, ,m 12 :
11 ;
- g- g
e,f , ef g : g
: g h k
g h, k
(1) : , .
(2) . . 6. 21
(a) , (b)
6.21
(3) : ,
, , . 6.22 (a)
, (b)
6.22
6.22(b) b : s ,
(4) : :
, : ( )
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6.23(a) a 30

b . , 6.23(b)
6. 23
(5)
(6)
6.4.2 ,
6. 24 ( ).
6.24
8 6.5
5 . 3 5
15 . ., 5
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6.5

1 — — — 1+ 2+ 5= 8
2 — — — — 1+ 2+ 2+ 2= 7
3 R 1+ 2+ 5+ 5= 13
4 S S S S, 1+ 2+ 5+ 2+ 2= 12
5 — — — 5+ 5+ 5= 15
6 - - - = 5+ 5+ 2+ 2= 14
7 — — — 5+ 3+ 2= 10
8 — — — — 1+ 2+ 3+ 2= 8
Lj(i<j)
( tii)
, m,
, a, : b
ti] [13 ”
: m,a, b : ti : :
Lii
at 4m+ b
b- a ’
o’= 5 - (6.8)
ai+ 4dmi + b
Te=y . (6.9)
2 bi- ai 2
Ce = Z 6 (610)
Tk, Tx N(Te, o), T« ,
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U= ——— Tk = Te+ Uce. (6.11)
Oe
U (U N(0,1)), : ,
Tk, , U, (6.11) Txk.
14 , a
b m, (6.7)(6-8) ti on
6. 6 . 21
6.6
()
i 02!
a m b
. 1 3 2 19
- 3 4 11 5 16/ 9
= 5 6 13 7 16/ 9
- 3 6 9 6 1
6.6,
Te = Ztij: 2+ 5+ 7+ 6= 20( ) ,
_ ,_ 1 16 16, ,_
0= Zo?,— ot ot 9+1—2.16.
Te=21( ), (6.11)
_21- 20
U= 516 0.46 .
P(U)= 0.68. 21 0.68.
_ _19- 20 )
1 ( T«x=19 )), U= 516 - 0.46 .
P(U)= 0.32. 19 0.32.
1
P(U)= 0.9, u= 1.3. ,
Tk=Te+ Uge= 20+ 1.3 2.16=> 22.8= 23( ) .
, (6.11) ,
1.
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Te()) J , Te()),
J

Te(1) = 0
: _ : (6.12)
Te(j) = max{Te() + ti} (j = 2,3, ,n).
6.24 ;
Te(1)=0,Te(2)= 1,Te(3)= max{Te(2)+ tzs, Te(1)+ tis}= max{3,5}= 5,
Te(4)= max{Te(2) + tza, Te(3)+ tsa}= max{3, 10}= 10,
Te(5)= max{Te(3)+ tss, Te(4) + tas}= max{8, 12}= 12,
Te(6)= max{Te(4)+ tss, Te(5) + tse}= max{ 15, 14} = 15.
, Te(6) = 15 : :
To()) ] : To(]).
( Te(n)) j n
J
J
reiny= Ten) | (6.13)
To()) = J.rrllrl{TL(k) - t«} (j=n- 1L,n- 2, ,1).
6.24
Tu(6)= Te(6)= 15,
T(5)=T.(6)- tse= 15- 2= 13,
To(4)= min{T.(6)- tes, TL(5)- tss}=min{10, 11}= 10,
To(3)= min{T.(5)- tss, T (4)- te}= min{10, 5} = 5,
Te(2)= min{T.(4)- tas, TL(3)- tz}= min{8,3}= 3,
Te(1)= min{T.(3)- tis, TL(2)- t}= min{0,2}= 0.
6.25 b, e h : - - -

6.25

(6.12) Te(j),

. 176



(6.13) To(j),

T'—(j)_ TE(J)(i: 1’21 ’n)1

tes(i,j)
tes(1,j). 1
tes(.ij) = Te(1) N | (6.14)
tes(j,K) = max{tes(1,j) + ts} (j = 2,3, ,n- 1).
ter (i, )
tEF(i,j).
ter (1)) = tes(1,j) + ti. (6.15)
tes(i,j)
th( i,])
tes(n,)) = min{ts(j,k) - ti} . (6.16)
tLF(i,j)
tLF( i,])
ter(0,)) = ts(1,)) + ti. (6.17)
R(i,]) , ( )
( ), R(i.j),
R(Lj) = tes(h,]) - tes(h,j) = te(l,j) - tee(0,]) . (6.18)
r(i,j) ,
( ), r(ij).
r(nj) = tes(j,k) - ter(1,]) (1< j< k). (6.19)
tes(j, k)= Te(j), ter(ij)= Te(D+ ti,
r(nj)= Te(j) - Te(D - ti. (6.20)
r(i,j) ,(6.20)
(1) (6.14) (6.15) tes(h k) ter(ihj);
(2) (6.16) (6.17) tes(i,j)  tee(inj);
(3) (6-18) (6-19) R(L]) r(ij);
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R(1j)=0

*
6.24 , 6.7
6.7
(i,j) ti | tes(ij) | ter(i)) | tus(ij) | te(ij) [ R(Lj) | r(L])
a (1,2) | 1 0 1 2 3 2 0
b (1,3) | 5 0 5 0 5 0 0 *
c (2,3) | 2 1 3 3 5 2 2
d (2,4) | 2 1 3 8 10 7 7
e (3,4) | 5 5 10 5 10 0 0 *
f (3,5) | 3 5 8 10 13 5 4
g (4,5) | 2 10 12 11 13 1 0
h (4,6) | 5 10 15 10 15 0 0 *
i (5,6) | 2 12 14 13 15 1 1
6.7 : b, e h , - - o 6.24 :
6.25 , ,
Te(j)=To(j), 6.7 tes(i,j) = tes(,j)( tee (0, )= tee(inj)).

R(i,j)=0 Y(ij)=0.

R(1j)# 0, JR(1j)

6.4.3

(1) :

(2) : :
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Cij

(i,j) i ki (i
Sij, Ui,
o Ui - Sij
Gi= 0 ke
: (L) ,
6.25 ( 6.8)
6.8 , _
( 6.25
X .
= 4250+ 18 200= 7250( ).
min{150, 350, 100}= 100= Css, h
+ X

6. 26.

= 7250+ ¥ 100- ¥ 200= 7 150( ).

)

6.8

(L)) :

(6.21)

min{Cls, Caa, C46} =

6. 26 6.8
- - -, min{Caus, Cas, Css} = 100= Cus,
- - - - ,min{Cls, Cass, Cus, C56}= 150= Cis= Css.
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6. 26

6.8
(Ci)
(i) () si( ) ki( ) ui () I
(1,2 200 1 200 —
(1,3 1000 3 1300 150
(2,3 300 1 400 100
(2, 4) 250 2 250 —
(3,4 800 3 1500 350
(3,5) 400 2 700 300
(4,5) 300 2 300 —
(4, 6) 700 3 900 100
(5, 6) 300 1 450 150
4 250
200 /
: b, h,i 2 ,1 ,1 3
= 7150+ ® 150+ ¥ 100+ ¥ 150- 8 200= 7 100( ).
: 4 11 . 6. 27.
6. 27
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6. 27 , b

11

Ci

(1)
(2)

(1)
(2)

(3)

6. 28 : (ti, Xi),

6.9.

6.28

- 181.



6.9

(ij) ti R(Lj) -
2 | 3 8| 9|10|11|12]13]|14]| 15
a(1,2) 1 2
b(1, 3) 5 0 60
c(2, 3) 2 2 3
d(2, 4) 2 7 414
e(3, 4) 5 0 e R
f (3, 5) 3 5 4
9(4, 5) 2 1 414
h(46) c 0 5| 5555
i(5, 6) 2 1 414
13 | 13 9|s5|5|9lol|ol|lols
6.8 , , 2,3
9 4,5 6 |
) 6.10
6.10
(ij) ts R(i,j) -
2 | 3 8| o9|10|11|12]|13]|14]| 15
a(l,2) 1 2
b(1, 3) 5 0 o
c(2, 3) 2 2 313
d(2, 4) 2 7
e(3, 4) 5 0 54515
f (3, 5) 3 5 4144
g(4, 5) 2 1 414
h( 4,6) c 0 5ls5]5]51[+5
i(5, 6) 2 1 4 14
9|9 9l9|lo9|lololol|ols
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6.5

15 ( ), Ai(i= 1,2,3) Bj(j: 1, 2, 3,
4) . Ai B;
6. 11 ( 0 ).
6.11
Wi B: B> B3 B.
Al 30 10 0 40 20
A2 0 0 10 50 20
As 20 10 40 5 100
20 20 60 20
, 6.29 . Az, Az, As ,B1, B2, Bs, Bs
) Wi . S SAi
t,Bijt
6. 29
, 6. 30(8) 1= {S, Aa,Bl,Al,Bz,t},e
= 10, VB , 6. 30(b). , 6. 30 (c), (d)
, , 110. 6.12
6.11 , , Bs 10
(Asz, Bs) 50, Bs .
16 ( ) 5 Ai(i= 1,2, ,5) 5 Bi(j=1,2, ,5),
6. 13 “ " Ai B
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6.30

6.12
B1 B2 Bs B4
A1 5 10 5 20
A2 10 10 20
As 15 10 40 5 100
20 20 60 20
6. 13, 6.31 , Ai
Bi 6.31 ’
Ai( i- 1, 2, ;5) S, Bj(j: 1, 2’ J 5)
t, SAi, Bjt(i,j: 1,2, ,5), 1, (Ai, Bj) 0
),  6.32(a) . (AL B) 1, A
Bi

184-



6.13

B1 B2 Bs B4 Bs
A1
A2
As
Aa
As
6.31
6.32(h) , 4,
A1, Az, Az As B, Bi1, Bs, B4
6.32
4 ) ) )
, 4 . 4 A1, Az, Az, As,
6.14  ( )
, ?
, 4
, , 6. 14 ,
5 7, 2, 4. 7, 7
: 7 : 7
6. 15.
6.14
Al 4 7 6
A2 9 3 5
As 8 11 3
Az 7 5 1

185-



6.15

A1 O @) o)
Az o
As o)
As o @) 6. 33
6.15 6. 33.
max V(f): 4, Al—»Bl,A2—>B4,A3—>Bg,A4_,BZ,max{S’ 5, 215}: 5. ’
Al ’A2 1A3 ,A4
6
max v(f)< 4, ?
17 ( ) 4
! (4 )
6.16 4 |
6.16
1 2 3 4
( ) 2.5 2.6 2.8 3.1
C ) 1 1.5 2 4
Vi Vs (V5 4
). 6.34 (vi, vi) i i ( j- 1 ),
6.16
6.34
) Vi Vs
{v1, vz, vs}, 1
4 10.3( ).
6.17 , (4
?
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6.17

1.1

6.1
(1) : :

(2) G , \Y% : G
(3) Vi ) V1

(4)

6.2 6.35

6.3 Vi, V2, V7 [ ) 6.36 (1)
2 (2) :

6.35 6.36

6.4 6.37 (wi, i)
6.5 6.38 ( (wi,fi)).

6.37 6.38

6.6 3 A11A27A3 4 811 B2yB3)B4)
6.18,
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6.18

B: B2 Bs B4
A1 0 20
A, 0 12
As 0 12
14 9 10
6.7 Ai Bi,
6. 19 ), )
?
6.19
B: B2 Bz B4
A1 30 10 0 40 20
A 00 00 10 50 20
As 20 10 40 5 100
20 20 60 20
6.8 1 5 ,
, ?
?
6.9  Dijkstra 6.39(a) (b) wi :
( ViV
6.39
6.10 Warsall-Floyd 6.40(a) (b)
6.11 3 6. 20,
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6.40

6.20
Vi V2 V3
A, 46 62 39
A 24 31 49
As 29 38 56
6.12 6.41 ,
6.41
6.13 , :
6. 21 i j (
) , i 5
6.21
j
: 2 3 4 5
1 0.4 0.54 0.98 1.37
2 0.43 0.62 0.81
3 0.48 0.71
4 0.49
6.14 ci, ,Gs , G G (L)
(o0 )
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0 50 o 40 25 10
50 0 15 20 o 25
o 15 0 10 20 20
40 20 10 O 10 25
25 oo 20 10 O 55
10 25 o 25 55 O
6.15 6.42 s » Vit , 10 )
( , (wi,bs,wi) , b ).
6.16 (1) 6.43 v(f)=15 ( (wi, bi), Wi s b
).
6.42 6.43
(2) 6.43
6.17 6. 22
6.22
B1 B: Bs
A1 20 24 5 8
Az 30 22 20 7
4 5 6
6.18 6. 23 (1) - (2)
(3)
6.23
a 12 f C 5 X h 3
b 3 g c 6 p f 7
C 5 h a,g 4 r n 3
d 7 n d,e 3 w m 2
e 8 m e 8 y X, p,r 2
6.19 6.24
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L < O N <~ m o

20
30
15
5
18
40
10
15
153

5(

b, d
ef,g

| @ © ©

6.24

<t © © ™ 1~ < M

T 2 © - 0 o £

6. 25

12
17
11

9
21
7

6. 20

N © 1 O M M

6.25

C.D

< < o

< m OO0 wWwuwo

(1)
(2)

(3)

(1)

(ii)
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7.1

0. 30
0.45 0. 30
0.15
: 7.1
7.1
D 120 140 150 160
P(D) 0.15 0.3 0.25 0.1
) ?
Q D.
Q=D F=0.30(Q- D);
Q< D F= 0.15(D- Q).
7.2
7.2
120 130 140 150 160
F P
Q 0.15 0.2 0.3 0.25 0.1
120 0 1.5 3 4.5 6 2. 925
130 3 0 1.5 3 4.5 2.1
140 6 3 0 1.5 3 2. 175
150 9 6 3 0 1.5 3.6
160 12 9 6 3 0 6.15

192.



130

TF(Q),
TF(Q) = Z 0.30(Q- D)P(D) + Z 0.15(D - Q)P (D).
TF(Q) Q :

TF(Q) - TF(Q- d)< 0
TF(Q) - TF(Q+ d)= 0.
d= mip @- DO}=10, Qtd S= {120,130, 140, 150,160 }.

Z- 0.30 P(D) - Z 0.15 P(D) < 0

0.30 P(D) - 0.15P(D) = 0.
2, 2.

(0.30+ 0. 15) ;oZ P(D) - 0.15< 0
DEW- d

(0.30+ 0. 15) ioz P(D)- 0.15> 0

T Q

5 PD)s %s y P(D) .
P(120) + + P(Q- d)< 0.3333< P(120) + + P(Q) .
P(120) = 0.15 P(120)+ P(130) = 0.35,  ,Q= 130.

(7.1)

[

TF(Q) = o.jso :(Q- X)P(x)d(x) - oﬁs; (x - QYP(x)d(x) .
, P(X)

dTE(Q) _ |
dQ — -

(0.30+ O. 36) :P(x)d(x) - 0.15= 0.

2.1

(7.2

(7.2)

- 193-



(7.2)

(D
(2)
(3)
(4)
(5)

(6)

(7)

7.3.1

. 194

Q TF(Q) Q.

7.2

C:
K
= f ( , ), F=1(Q)
7.3
(EOQ)
EOQ
( )
C:.
(

R
C:
F=f (Q,R) .
)

t= Q/ D,



f(Q),

F(Q Q

(7.3)

f(Q) :
| - _ Q

f(Q*): 2C.K D .

(7.4

60

(7.3)

o - w: 300 .

(7.4)

i 30 0.1=3

300

7.3.2 EOQ

- 195.



7.1

Os

= GC:

D 7

Cs,
Q, EA= Q. GA= Qs,

C.Q’ j
21D ( 2% EAB

C2(Qs- Q)° (Qs- Q)° BEC

2D

f(Q.Qs) 2CQ 2C(Qs- Q)

( D )

7.1

G
2Qs
C(Qs- Q)°
20s ’

KD
Qs

f(QQ),
Cl i C2 S~ 2
f(Q @)= So+ s D

Q  2Qs’ 2Q. -
f(Q.Q)_  CQ° 2C(Qs- Q)Qs- Co(Qs- Q)°
Qs 2Q¢ 2Q%

(7.5)

- 196-

(Cit+ C2) Q= C2Qs

- CiQ*+ 2C:Qs(Qs- Q)- C2(Qs- Q)*- 2KD=

_ 2KD G
Q= Ci(Cit C2) -

. G+ G . 2KD(C+ C)
Qs = c. Q7 C.C> '
3000 60

5

KD _
Q&

0.

0.

C.

(7.5)

(7.6)



~_ 2 68 3008 5_

Q = W— 50 000= 224 .
¢ Qs 2K(Cit &)
- D~ C.C:D
- X _6x (4+ 5 T———=
t = » 5 3000 - 0-018= 0.134.
30 , 38 0.134=4 4 , 224
7.4
7.4.1
D , EOQ , Q
. _  2KD
Q = c - (7.7
, K , C
( ). ,
R= 1+ Bo. (7.8)
R ) L ' B ,
Bo
B 1- o 100a , P(X> B)
= a’
, , , R, Q
3 : 60 500
40 8 15 2
99. 9% ?

99. 9%, B= 3,
R= 15+ X 2= 21

197-



21 39

7.4.2
D,K,C , C2 , R , Q,
X f(x) F(x),
( ) ( )
J’ :(R- x)f (x)dx Qj? :(R- x)f (x)dx |
Qf R(R+ x)f (x)dx .
C QJC ) (R- x)f (x)dx .
KD
Q"
R ,
_[ :(x- R)f (x)dx.
% :(x- R)f (x) dx.
TF(R,Q)
TF(R,Q) = @+ Cs Qf - x)f(x)dx + %ﬁD :(x— R)f (x)dx . (7.9)
TF(R, Q) :
E(R&—lefcl :f(x)dx- % f(x)dx= 0. (7.10)
TFS - . %—?+ % %%:(x- R)f (x)dx = 0. (7.11)
(7.10)
I :f(x)dx: 1- (%Q
(7.11)
2D K+IC2 :(x- R)f (x)dx
Q= Cs
Q R
Cs
F(R)=1- aDQ (7.12)

o 2D K+ q xf(x)dx- R[1- F(R)] (7.13
C: '

Q R’
- 198



(1 Q= 2

(2) Q=0 (7.12) R\- 1
(3) R= R: (7 13) Q2;
(4 Q (7.12), (2) (3), ) Q

4 , 1000 2 |
10 5 [0, 200]

D= 1000 ,K:].O ,C1:2 ,C2=5

[0, 200] ,
f(x) = ﬁ).
(7.12) (7.13)
(7.12)
I Oﬁ)dx = 1- ﬁ&)
R= 200- @/ 10. (7.14)
(7.13)
200
o 2 1000 10+ f ﬁ)dx- R 1- 2—50
2
Q= 12.5R’- 5000R+ 510000 . (7.15)
Q.= 2 1@21000: 100 (7.14) , Ru.= 192
R: (7.15) , Q= 103.9.
Q: (7.14) , Re= 191.7.
R: (7.15) , Q= 104.2.
Qs (7.14) , Rs= 191.7.
R: Ra : R =192 Q = 104
5 10 000 300 40
: K=70 C:= 0.6
99. 9% , (7.7)
Qo = %’: 1528( ) .
99. 9% , 99.9% (7.8)
B= 3,
R= 300+ % 40= 420( ) .
420 , 1528
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, : C.=1.50 . (7.12)
(7.13) R o
Q:= Qo= 1528, (7.12),

15000 - 0.6x 1528
15 000 = 0.9389.

F(Rl) =

R:= 300+ 1.54& 40= 362 .

R: (7.13) ,
2 10000 70+ 1.ﬁ _xf(x)dx - 362 0.0612
Q= 0.6
_ 20000¢ (70+ 1.5¢ 1.07) _ gpp
0.6
(7.12)
_ 15000- 0.6x 1545 _
F(R:) = 15000 = 0.9382.
R.= 300+ 1.54 40= 362.
,R:= R, , R = 362, Q = 1545
7.5
: [0, 1]
[0, 1] . [0,1]
[0,1]
P{X=a}=p, j=1,2, ,m. (7.16)
0< pi < 1,2 pi = 1.
Po= 0

P, = Zrlp,-, r=1,2, ,m

U [0 1]
200-



X = a, P.:<s U< Pnh,r= 1,2, ,m,
X (7. 16)
: [0, 1] 7.3
7.3
120 0.15 0.15 0.00 0.14
130 0.2 0.35 0.15 0.34
140 0.3 0.65 0.35 0.64
150 0.25 0.90 0.65 0.89
160 0.1 1.00 0.90 0.99
0. b9, 7.3 140; 0.12, 7.3
120, . : )
7.2
n—10,TF <0,F < 0, Q
fori= 1ton
D
Q= D?
F=0.30(Q- D) F= 0.15(D- Q)
TEF=TF+ F
TF= TF/n
TF
7.2
Q 120, 130, 140, 150, 160, 10 7.4 , Q=
120 7.5
7.4
Q 120 130 140 150 160
TF 3.15 1. 80 2.25 3.90 8. 70
7.5 , Q=120 10 3.5 3.15
7.4 : 130

201-



7.5

n 0 U D F
1 120 0.34 130 1. 50
2 120 0.67 150 4. 50
3 120 0.40 140 3. 00
4 120 0.82 150 4. 50
5 120 0.21 130 1. 50
6 120 0.28 130 1. 50
7 120 0. 89 150 4. 50
8 120 0. 88 150 4. 50
9 120 0.65 140 3. 00
10 120 0.62 140 3. 00
7.6
, , 7.6
7.6
( ) 0 1 2 3 4 5
0.11 0.18 021 0.22 0. 16 0. 12
| 2.5, 1.52.
20 | a0 16 . R
Q , 10
| 7.7
7.7
() 7 8 9 10 11 12 13
0.08 0.12 0.18 0.25 0. 20 0.10 0. 07
10, 2.8 10= 25,
1.52  10= 5. 360 | D= 2.5 360=
900. Ci= 20 ,K=40 ,Co= 16 . TF(R, Q), (7.9) ,
F(R,Q) = %ﬁ 20¢ %f :(R- ) (x)\%dx + 16<4(ﬂ®, (x- RYf(x)dx.
Q= %0900: 60, (7.12),

202-



16<  900- 20< 60 _

F(R.) = 16 900 = 0.9167 .
,B= 1. 38,
Ri= 25+ 1.3& 5= 32.
R: (7 13) ,
% 900 40 + JJ% xf(x)dx - 3 0.0833
Q2= 20
1800k (40+ 16x 0.10)
= = 61.
20
(7.12)
_ 1ec 900- 20 61 _
F(R:2) = 16 900 = 0.9153.
B= 1.375.
R:= 25+ 1.37% 5= 32.
, Ri= Ro, , R = 32, Q =61 .
: TF(R ,Q ) = 1378 , 1- 0. 9153=
0. 0847, 91.53%.
7.8 7.9 [0,1]
. TF(R, Q) R Q . , R=
31, 32, 33, Q= 60, 61, . R O,
RT Q.
7.8
0 0.11 0.11 0.00 0.10
1 0.18 0.29 0.11 0.28
2 0.21 0.50 0.29 0.49
3 0.22 0.72 0.50 0.71
4 0.16 0.88 0.72 0.87
5 0.12 1.00 0.88 0.99
7.9
7 0. 08 0.08 0.00 0.07
8 0. 12 0.20 0.08 0.19
9 0. 18 0. 38 0.20 0. 37
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10 0. 25 0.63 0.38 0.62
11 0. 20 0.83 0.63 0.82
12 0. 10 0.93 0.83 0.92
13 0. 07 1.00 0.93 0.99
S y HF , OF , LF
So, So= 60. 360
7.3
S~S0,n-360, LF-0,HF -0,0F -0, X -0
For i 1ton
D
5
ScS+Q,X<X-Q
D> S?
LF «LF+ 16(D- S) HF «HF+ 20(S- D)
S0 S<S- D
S+ XM
OF -« OF+ 40
X <X+ Q
TF= LF+ HF+ OF
TF
7.3
Q= 61,R= 32,
HF= 757.61 OF= 560 , LF= 45
TF= 1362.61
7.1 400 14.4 20
7.2 600 , 900
180 ,
7.3 50 60 40
? 40
?
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7.4 : 24 30 . ,

, 7.10
7.10
() 32 33 34 35
0.1 0.3 0.5 0.1
7.5 60 147 40 5
10 2 . 99. 9%
) ] ?
7.6 800 , 16
4 8 . [0, 200] ,
7.7 , , 100 , 200
, 100 . , 60
, 7.11
7.11
( ) 200 210 220 230
0.3 0. 4 0.2 0.1
30 ,
7.8 , 200 50
7.12  7.13
7.12
( ) 0 1 2 3 4 5 6 7 8
19 27 42 49 34 17 9 2 1
7.13
() 4 5 6 7 8 9 10
11 7 3 21 5 2 1
400 | 100 / 0.32 | -
100 / . (1) 10 25 (2 15
25 . 30 ,

205-



8.1

8.1

8.1

20

8.2.1

2
0.6 0.4,

28 0.6+ (- 8¢ 0.4= 8.8,

8.2

- 206-
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Optd= f(a,s, Q) .

d , a ;'S (
) .= g(a, 9 ( ) S
a
A= {a} ,S={¢g A= {a,a , am},
S={s,s, ,s} , m n gi= g(ai,s), ™ n
S1 S S
ar (Qur Qu2 Qun
Q= a Q21 Q2 (2n
a.m qml qm2 qmn
8.2.2
1 : :
F(ar) ; (a2) ; (@s)
( 8% )
( 6% ) ( 4% )
8.2
8.2
A S1 S S3
50 30 20
80 40 0
120 20 - 40
: S={s, 2, s}, S, &2, S8
A= {a1, a2, as}, ai, az, as

. 207



a. 50 30 20
az 80 40 0
as 120 20 - 40

(1)
d = max min{qs}
, ai,  di= min{au}, dk = max{ di}
, ai(i= 1,2,3),
d:= min{ 50, 30, 20}= 20,
d-= min{ 80, 40, 0} = 0,
ds= min{ 120, 20,- 40}= - 40,
d: = max{20, 0, - 40}= 20.
ai
(2)
Q
d = max max {as) .
: a, d= max{a}, di = max{d:}
, ai(i= 1,2,3),
d:= max{50, 30, 20} = 50,
d-= max{80, 40, 0}= 80,
ds= max{120, 20, - 40}= 120.
ds' = max{50, 80, 120} = 120.
as

(3)
. 208



<1,

a(0< «a

T o= mgax{aiaq? + (1- ) joge} .

o = max{a}, g = min{qy}.

as

(4)

g = max{as}.

(3)

ai, d=o g+ (1 a g, dc=max{dd}
o= 0. 6, ai(i= 1, 2, 3),
d:i= 0.6 50+ 0.4 20= 38,
d-= 0.6 80+ 0.4 0= 48,
ds= 0.8 120+ 0.4 (- 40)= 56.

ds = max{38, 48,56} = 56 .

d’ = min mjax{qf - o).
ai, di= mjax{qf - i}, de = min{ di} ax
a(i= 1,2,3),
di= max{ 70, 10, 0} = 70 ,
d.= max{ 40,0, 20} = 40 ,

ds= max{0, 20, 60} = 60 .

d>" = min{ 70, 40, 60}= 40 .
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. 1c
d = max o Zilq"
, di= " o di = d
. di, i — nzlql, k = m?.X{ '}
' a'(i: 11213)’
= (50+ 30+ 20)/3= 33.3,

.= (80+ 40+ 0)/ 3= 40,
ds= (120+ 20- 40)/3= 33.3.

d-" = max{33. 3, 40, 33. 3} = 40 .

a
2 ’
8.3
8.3
S (s) (=)
(&) 140 - 20
(a) 95 35
() 100 5
(o= 0.8)
(1) : ai(i= 1,2, 3),
d:= min{140, - 20}= - 20,
d.= min{ 95, 35} = 35,
ds= min{100, 5} = 5.
d2" = max{- 20,35, 5= 35.
az
(2) (o= 0. 8), a(i= 1,2,3),
d:= 0.8 140+ 0.8 (- 20)= 108,
d-= 0.8 95+ 0.&% 35= 83,
d:= 0.8 100+ 0.k 5= 81.
d:" = max{ 108, 83,81} = 108 .
a1l
(3) , ai(i= 1, 2, 3),
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d:= max{0, 55} = 55,
d.= max{45, 0} = 45,
ds= max{40, 30}= 40 .

ds" = min{55, 45, 40}= 40.

as
8.2.3
s p(s),
3 1 ;
p(s)=0.3 p(s2)= 0.5 p(s)= 0.2, 8.4
8.4
S s1(8%) 2(6%) o( 4%)
A 0.3 0.5 0.2
a 50 30 20
a 80 40 0
as 120 20 - 40
(1)
d = max { s} -
t p(s)= max{p(s)} .
, ai,  d=gn t p(s)= max{p(s)}, di= max{ds}
ak .
,p(=)=max{p(s)}, ai(i= 1,2, 3),
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di= g= 30,
d>= g== 40,
ds= Q2= 20 .

d2" = max{30, 40, 20} = 40 .

az
(2)
d = max Z qGp S
, ai, di= Z gip(s), d«= max{d:}
, ai(i= 1,2, 3),
d:i= 0.8 50+ 0.8 30+ 0.8 20= 34,
d:= 0.3 80+ 0.8 40+ 0. 0= 44,
d:= 0.8 120+ 0.% 20+ 0.8 (- 40)= 38.
d=" = max{34, 44, 38} = 44.
a
(3)
d = min Z p(s) iMg - ai)
g = max{qs}.
, an  di= 3 p(s) i7(g - gi), dc= min{ds}
Ak
, ai(i= 1,2, 3),
d:= 0.8 70+ 0.8 10+ 0.2 0= 26,
d:= 0.8 40+ 0.8 O+ 0.% 20= 16,
d:= 0.8 0+ 0.5 20+ 0.% 60= 22.
d. = min{26, 16,22} = 16.
a
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(4)

p(s©x)

, p(xCy)

40

8.5

*

d =

max Z i P(s )

p(xCH)p(s)

P(s®}) =

Z P(XC¥)p(s)

X, X

p(xC4)= Cax 0. 08
p(xC%)= Cix 0. 06X
p(xC%)= Cax 0. 04%

40 : 3

0.92°= 0. 2313,
0.94°"= 0. 2162,
0.96°'= 0. 1396.

di=
d2=
ds=

8.5

0.2313 0.3+ 0.216% 0.5+ 0.1398 0.2= 0.2054,

0.2313 0.3_

p(s&R)= 0. 2054 = 0. 3378,

0.216% 0.5
P(s®)= "9 o054 -

0.1368 0.2
P(s®)=""0 o084 -

0. 5264 ,

0. 1358 .

1,2,3),
50+ 0.5264 30+ 0.1358 20= 35. 398,
80+ 0.5264 40+ 0.1358 0= 48. 04,

ai(i=
0. 3378
0. 3378
0. 3378

d2 = max{35. 398, 48. 04, 45. 632} = 48. 04.

30
1000 . :

120+ 0.5264 20+ 0.1358 (- 40)= 45.632.

s(j=1,2,3)

P(x)

0.1 0.2 0.5

0.2
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S={0,1, 2, 3},

={0, 1,2 3},
8.6
8.6
S 0 1 2 3
A 0.1 0.2 0.5 0.2
0 0 0 0 0
1 0.5 1.2 1.2 1.2
2 - 1.0 0.7 2.4 2.4
3 - 1.5 0.2 1.9 3.6
(1) ,p(s:)= max{p(s)}, ai(i= 1,2 3),
d:= q= 0,
d2= Q= 1.2,
ds= = 2.4,
ds= us= 1. 9.
ds" = max{0,1.2,2.4,1.9}=2.4.
as
(2) , ai(i= 1, 2, 3, 4),
di=0.%x 0+0.2 0+0.%5 0+ 0.2 0=0,
d= 0.% (- 0.5+ 0.2 1.2+ 0.% 1.2+ 0.% 1.2=1.03,
d:i= 0.% (- 1.0)+ 0.2 0.7+ 0.5 2.4+ 0.8 2 4= 1.72,
di=0.% (- 1.5)+ 0.2 0.2+ 0.% 1.9+ 0. 3.6= 1.56.
ds" = max{0, 1. 03,1.72, 1.56}= 1.72.
as

2 000
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, , 120 as; ,
40 az, , 20
a. 0.3,0.5,0. 2. ,
d* = Z max gip(s) = 0.3 120+ 0.5¢ 40+ 0.% 20= 60,
d = max Z qip(s) = max{34, 44,38} = 44.
d - d = 60- 44= 16 ,
16 .16 ( ?).
EVPI,
EVPI = -
EVPI = Z max{qip(s)} - max Z gip(s)
EVPI= 16 : , 16
5 :
: : S
So. 8.7
8.7
A S St Sz
A1 155 000 35000
As: 135 000 85000
As: 100 000 100 000
S 0.3, S. 0.7.
(1) : Ai(i= 1,2,3),
d:= 0.8 155000+ 0.%¥ 35000= 71000,
d-= 0.8 135000+ 0.%¥ 85000= 100 000,
ds= 0.8 100000+ 0.%¥ 100 000= 100 000 .
d. = ds = max{71 000, 100 000, 100 000} = 100 000.
A:  As
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, a(i= 1,2,3),

di= 0.3 (155000- 155000)+ 0.% (100000- 35 000)= 45 500,
d.= 0.3 (155000- 135000)+ 0.% (100000- 85 000)= 16500,
ds= 0.3 (155000- 100000)+ 0.% (100000- 100 000)= 16 500.

d-" = ds° = min{ 45500, 16 500, 16 500} = 16 500.

Az As
16500 , EVPI= 16500.
AZ A3 ’
( )
, . A 15 000, As
01 A3,
, , 6
6 3 , 1.5
8.8 : ,
0.8 0.2 , 0.5; ,
0.3 0.7.
8.8
St 2 S3
X1 p(x1G4)= 0.8 p(x1G%) = 0.5 p(x1@)= 0.3
X2 p(x2C5) = 0.2 p(x2C%)= 0.5 p(x2C%)= 0.7

p(x:1)=0.8 0.3+ 0.5 0.5+0.3 0.2= 0.55,

p(s©}:)= %’: 0. 4364,

0.8 0.5

p(sSf.)= T o055 - 0. 4545,
_ 0.8 0.2
p(sCti)= 0.55 - 0. 1091.

: ) ai(i= 1, 2, 3),
d:©}:= 0.4364 50+ 0.4545 30+ 0.109% 20= 37.637,
d:©}:= 0.4364 80+ 0.4548 40+ 0.109% 0= 53.092,
d:@:= 0.4364 120+ 0.454% 20+ 0.109% (- 40)= 57.094.
di©%: i .
ds  ©f:= max{37. 637, 53.092, 57. 094} = 57. 094.
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as

p(x:)=0.% 0.3+ 0.5 0.5+ 0.% 0.2= 0.45,

_ 0.2 0.3
p(s©%2)= 045 - 0. 1333,

0.8 0.5

p(sO}z)= ~= == 0.5556
_ 0% 0.2
p(sOt2)= 0.45 - 0.3111.
’ ) a'( i: 1! 25 3) H

d:@.= 0.1338 50+ 0.5556 30+ 0.311% 20= 29. 555,
d:©}.= 0.1338 80+ 0.5556 40+ 0.311% 0= 32.888,
ds@}.= 0.1338 120+ 0.5558 20+ 0.311% (- 40)= 14.664.
di©}2 i :
d2" ©f.= max{29. 555, 32. 888, 14. 664} = 32. 888.
az

= p(x1)(di &)+ p(x2)(d: ©f2)
= 0.58 57.094+ 0.45 32. 888
= 46.2.

44,

: EVSI,
EVSI= -

EVSI = Z pP(Xk) max Z Qip(SH«) - max Z dip(s)

EVSI = 46.2- 44= 2. 2.
: 2.2 : 1.5

8.4

60, 120, 180

) ql* = 150, CI2* = 90, Q3* = 30.
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8.9

X (s1) (s2) (S9)
60 (av) 30 30 30
120 (a2) 90 90 0
180 (as) 150 60 - 20

ai(i= 1, 2, 3),
d:= max{150- 30, 90- 30, 30- 30} = 120,
d-= max{150- 90, 90- 90, 30- 0}= 60,
ds= max{150- 150, 90- 60, 30- (- 20)}= 50,
s = min{ 120, 60, 50} = 50.
as , 180
8.10
8.10
S (s) (s2) (s9)
P 0.2 0.5 0.3
’ a'( i= 11213)1
d:= 0. 30+ 0.8 30+ 0.3 30= 30,
d.= 0.% 90+ 0.5 90+ 0.3 0= 63,
ds= 0.% 150+ 0.% 60+ 0.8 (- 20)= 54,
d-" = max{ 30, 63, 54} = 63.
az , 120
: p(xiC¥) 8. 11
8.11
X (s) (=) (s3)
(x1) 0.8 0.6 0.1
(x2) 0.2 0.4 0.9
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p(x:)=0.8 0.2+ 0.6 0.5+ 0.% 0.3= 0.49,

_ 0.8 02
p(sC}:)= g9~ = 0.3265,

_ 0.8 0.5_
p (%)= 0.49 - 0.6123,

_0.% 0.3
p(sOf1)= 0.49 - 0. 0612.

, a(i= 1,2,3),
d:©{:= 0.326% 30+ 0.6128 30+ 0.061% 30= 30,
d-©f:= 0.3268 90+ 0.6128 90+ 0.0618 0= 84.492,
ds@:= 0.3268 150+ 0.6128 60+ 0.061% (- 20)= 84. 489,

d>" ©f:= max{30, 84.492, 84. 489} = 84.492.

p(x2)= 0.% 0.2+ 0.4 0.5+ 0.& 0.3= 0.51,

_ 0.2 0.2
p(s©f2)= 05 - 0.0784,

_ 0.4 0.5
p (%)= 051 - 0.3922,

_ 0.8 0.3
p(sOf2)= 051 - 0.5294.

, a(i= 1,2,3),
d.©.= 0.0784 30+ 0.3928 30+ 0.5294 30= 30,
d.©.= 0.0784 90+ 0.392% 90+ 0.5294 0= 42.354,
ds@.= 0.0784 150+ 0.392% 60+ 0.5294 (- 20)= 24.704,

d>" ©f>= max{30, 42. 354, 24. 704} = 42. 354.

= p(x1) (d2” ©}1) + p(x2) (d2 &)
= 0.48 84.492+ 0.5% 42. 354
= 63
63,

EVSI = 63- 63= 0.
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8.1 Si(j=1,2,3,4,5,6) Ai(i= 1,2, 34,5, 6)
8.12
A S: S S3 Ss Ss Se
A1 7 9 10 8
A2 10 5 8 4
Az 6 11 10 7
Aas 4 12 9 5
As 6 8 4 11 9
Ag 10 7 10 6 6
8.2 , A1, A2, As
(S1) (S2) (S3), , 8.13
8.13
S So Ss
A1 50 10 -
Az 30 25
As 10 10 10
(o= 0.7)
8.3 8.14
8.14
S
A
48 000 30000 12500
35700 22000 18 000
(0] a )
8.4 , 20 , 60 , 40
20 , 8.15
8.15
S 100 110 120 130
P 0.2 0.4 0.3 0.1
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8.5

, 0. 35, 0. 45, 0. 20. 8.16
8.16
A S (s) (=) ()
1 20 3 - 18
15 - 10
10 0 - 2
, EVPI
8.6 , 0. 6, 0. 4.
8.17  ( C ).
8.17
A T— s (s) (s)
(&) 80 - 30
(a2) - 40 100
2.5 , 8.18
8.18
N (s) (s)
(x1) 0.80 0.10
(x2) 0.10 0.75
(X3) 0.10 0.15
2.5 ?
8.7 , 1 000 , 400
30%. , 60 , )
B; , Ai , P (AiCB)) 8.19
8.19
P(AiCB;) Bj
Ai
0.75 0. 40
0.25 0.60
8.8 )
8. 20 ( ).
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8.20

(s1) (=) (=)

0.25 0.30 0. 45

(a) 15 _ 6

(a2) 0 0 0
0.6
8.21
8.21
(s1) (2) ()
(x1) 0.70 0.30 0. 10
(x2) 0.20 0.50 0. 15
(x3) 0.10 0.20 0.75
EVSI, 0.6

222.



9.1

9.1

9.1).

9.1
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9.2.1

(1)

(2)
(3)

(4)

i1,

, T

- 224.

9.2

( )
4
1 2
t k P«(t)
Pu(t) = €™ io%)—, k= 0,1,2,
) M t
Ti(i= 1,2, ), To=0,
= 1,2,
P{t:> t}= P{ [0, 1] 0} = po(t)= e ",
P{t-> tQh= s}= P{ (s st t] 0cth= s}
= P{ (s, st t] 0}
= po(t)= e ™.
t2 1/ A
n= 2
P{t> tGp= s,te= 2, ,tr 1= S 1}
=P{ (st + s 1,5+ + s 1+t 0}
= po(t)= e ™.
t(i= 1,2, )
e t=0
A(t) =
t <



p> 0

(1)
(2)

(3)

9.2.2

B(x) =

9.2

x= 0
x< 0
1/

(

9.2(a)).
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9.2.3

1.

2.
B

3.

M Gy ©1
Pn(t).

(1)
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-MEGCE

W
(
, Pa(1)
Po
P.

Ls= ilnPn

(
9.3 Mayct
t n(
,Pa() - ;oo
P,

= 1- p p< 1

= (1- pp n= 1,2,

( ) Ls

00

Z1n(1- p)pn: ilnpﬂ_ ilanl

e . P
= le_ 1. p(O< p< 1 .

p= M.

’P”(t)_’P” t

(9. 1)



Ls= 1_' p: IJ' )\ (9 2)
(2) ( )La
© © © 2
= - = - = - = _L
Lq= Zl(n 1)Pa ZlnPn Zan Ls- p 1- o
)\2
L= = oL-. 9.3
ETTUER (59
(3) Ws
M- A : ,
1 1
Ws = = . 9.4
u- A" p(1- p) (94
(4) W,
1 D D
We= Ws- — = = . 9.5
! U M- A p(l- p) (9-5)
(5) |
A 1 1
_ 1
1= 3. (9. 6)
(6) B
_P(ﬂZl)_l-Po_l__L_l_;
e S Vi T U T (9.7)
1 , 6
, 1 :
1 8 ]
1
A=6/8=0.75 |/ u=1 / , p= 0.75/ 1= 0.75.
Po= 1- p= 1- 0.75= 0. 25.
25%
P.= p’(1- p)= 0.14.
1
pP= P(nz 1): 1- Po= 1- (l— p)= 0.75.
75% , 1
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=3-omn 40 )

_La_ 2.25_
W= A 075_3( )
1 1
B= - AN 1 o075 40 )
9.4 MEMert
MCWOE(C= 2) ;
M @V ©1 : C : :
N VI VEE R T T : Cu.
_ A
’ p_ C”<1 ’
C-1
_ 1 A", 1L A°_cy
Po = > nl + cl u Cu- A (9.8
1 A Po n<s C
n
P.= ) : (9.9)
L A Po n> C
cccp
(1) Lq
o0 o0 CC
Lq= Z (n- C)P.= Z (n- ©C) C!pnPo
_ C C+ 1 k- 1 _ (C_O)C
= Po Z kp“ * = (1. p)szo. (9.10)
(2) Ls
Ls= Lo+ Cp. (9.11)
(3) W,
Lq
Wo= 5P (9.12)
(4) W
Ls
Wo= == Wo+ Hl (9.13)
, Pc= (_%%)—Po,
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Lq=(1_ )ch, Ls= Cp (1- )ch,
We= N1- p)°F Wszﬁ N1- )
2 2 , 14
10 . | , Po, La, Ls,
Wa, We.
C= 2, )= 14, u= 10,p= 14/(2 10)= 0. 7.
Po
.
Po= # (1.4)° + l%'< (14" + 2!(1_1 07y (14’
= (5.6667) ' = 0.1765.
L,
Lo= [21% (1- 0.7)% % (L4)% 0.1765= 1.3453.
Ls
L.= 1.3453+ 1.4= 2.7453
W
W, = 1.3453/14= 0.0961 ( ).
W
W.= 2.7453/14= 0.1961( ).
3 : , 15
, 3 8 . 1 14
?
A=15 /| ,u=20 |/
1 , \vie e , P
o= 15/20= 0. 75.
Po= 1- pi= 0.25
L.= ;pl—plz 2= 3( )
2 : M CM C2 , P2
o = ﬁ: 2(1520: 0.375
Po= 1+ 0.75+ 2(0.75°—%— = 045
2! 1- 0.375

(X% 0. 375)2x
2(1- 0.375)°

0.375% 0.45+ 2= 0.87( ).

Ls= 20"
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W
<
'Y
N
o

(Cp:)? 1 °°
3 1- p

(1+ 0.75+ 0.28+ 0.09) '= 0.47.

Po= 1+ Cps+ %(Cp3)2+

_ (X 0.25)° _
L= 3020 55 047+ 0.75= 0.765( ).

31(1- 0.25)
, 1 3- 0.87=
2. 13, 2. 13 , 14 2.1% 8 =
17. 04 . , 1 . 3 2
0.87- 0.765= 0.105( ), 1 0.105
, 14 0.10% 8= 0.84 ,
3 , 2
9.5
: [0, 1]
[0, 1]
1.
, [0,1] u A(t)
X, A Al ,
x= A "(u), (9. 14)
2.
Bty = e’ 20 (9. 15)
0 t< 0 '
-1 _1
B (9=- HIn(1— S). (9.14)
1 1
X=- —"In(l- u), X =- ~lnu. 9.16
Y ( ) ' ( )
(9. 15) , u [0,1]
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&1, &,
(9. 15) . ,

X1, X2,

X1, X2, , Xk,

X11X21 )
X1, X1+ X2, X1+ X2+ Xs,
(9.16)
4, Ex
NTTVia M
(k- 1)! ’
Ex k
, (9. 16) k
Xk (9. 17)
5.
g8, &
n,
E: 1_2 El_l_ Ez+
n
n= 12.
n= a+ o,
a, o .
(9.18) (9.19 a,
X=a+ O 1F2 U + U2 +
Ui, i= 11 21 1n [O’ 1]
m
L ]
) L;
Time. ,
A:

X1, X2,

(9.17)

(9. 15)

X= X1+ X2+t +

(9.18)

(9.19)

(9. 20)
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Bi(i=1,2, ,m): i ( I
: ; i : Time);
Ci(i= 1,2, ,m): i 1, 0;
L: ,
TL L, L2, :
N : X
T:
9. 3.
N=0,T=0,L=0,TL= 0,A= 0,Bj= Time Cj=0(j= 1,2, ,m)
A
, T= min{A,B1, B2, ,Bm}
?
(T= A) (T=8))
NN+ 1 L=07?
A c=0 LoL-
Ck= 02
TLPTHCL::Clﬁ M PSR Bj= Time 5,
Bk Lo L+1
T< Time
N=0 2
TL<O TL-TL/N
TL,N
9.3
9.6
n m (m> n),
S (s m), S
, , M n n :
n , ,
: ( ), :
: ( 9.4)
: 1 (n=1)1 (s= 1) :
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9.4

(1) : ,
(2 : m , ,
(3) . 1

(4) . m
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- Q
a= 4 -
Q T ,H=TE T
, ( ) ,
Al i (i= 1, 2, , m) :
i ( ), All]
C[ 1] 1 (1=1,2, ,m)
, : 0,1,2,3 v
5 J1,J2,D,G H .
J: 1Enlnm(A[ ).
E : , A[3]=A[5=A[8]=
gﬂqﬁA[ﬂ), A[1]¢]ggm(A[ﬂ),AIZ]il@Q%A([ﬂ), J2 3.
D ;
G ,
H
9.5

H-0U~0OV-0,F-0,Q-~0

Fori= ltoHg

D<—0,G<—0,A[i_|<—0 C[i]<—0,i= 1,2, , M
Jiemin(A[1]),J2<
C[ Jz] =02

D < J C[Jz] =172
F(_F+ Jl- DU(_U+ D- JlA[Jz] Q_Jl+ rNZ] = 2 ?
D«~J1 C[J2] 2 E= max(G- J1,0) A[J2] « Ja+ 1
TN VeV+E C[J2] -0

A[J2] <D+ TN TE s
D -A[J2] A[Jo] <Ji+E+C+ TE
ClJs <1
2] G-A[J2] Q-Q+S
C[J2] -3

AlJ2] < 360

9.5
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9.1

9.2

0= N \;

9.3

9.4

9.5

9.6

9.7
9.8

0= P{n> 0};

0= L+ Lg; 0= Wq/ W,

4 ,
2
2 :
?
: , 24
, :Po,Lg,Ls, Waq, Ws.
, ?
, 504 240
Po, La Ls, W@, Ws.
, M G € : Ls Laq.
8
10 ).
10 2
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10

10. 1
10. 2
10. 2. 1
X, f(X)

( ) ,

fi  fo
10.1 1 2

1 f- 2 1 fa 2 .
6 0, 3
1 2 3 4 6 3 4

6 6 3
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10.1

4. . 56,7, 8
( )
10. 2. 2
A
1.
x= (X1,X2, ,Xn) : : X : (

) X={x E.&@i(x)=0i=1 ,p}, gi(x) i . ]

(j=12 ,m).

OPLF (x)= (1), f (%), m(x))"

.m=2 x X X.

maxF(x)= (f1(x), f2(x), ,fn(x))"
X X

. 237



X X, F(x )= F(x).
X X, F(x )< F(x).
X X, F(x )< F(x).

2.
X= (X1, X2, ,Xn) n
fi(xi) j [ :
maxF (x)= (f1(x),f2(x),
X X
=U(f1,f2, ,fm). ai=fi(x),

am),j=1,2, ,n. :
ordU(x)= (U(x1), U(x2),

yFa, o,

(X))

U (x)

,U(xn)) "

(10. 1)

ord
10. 3
10.3. 1
maxF(x) = (f1(x),f2(x), ,fn(x))’
X X
(10.1) f1(x)
maxf 1(X)
filx)2a, j=2,3, ,m.
(10. 1) :
maxf 1( x)
X X'
X'= {x® X,fi(X)=a,j=23, ,m}.
1 (10. 2)
x  (10.2) , x X',
fi(x )= fi(x).
x X', X  X. X (10. 1)
X (10. 1) , X' X,
fi(x') > fi(x), =12
X X/,

fi(x)= o, j= 23,

. m.

fm m

U (x)
U(xi)= U(au, az,

(10. 1)

(10. 2)

(10. 3)

(10. 4)



fi(x)=z o, = 2,3, ,m.
x X', X (10.2) . (10.3),
fa(x") 2 fa(x')
(10. 4)

10.1

10.1

A 9 4 240
200

C 3 10 300

w

400 600

70 120

X1, X2

maxf 1(x) = 70x1+ 120x2( ),
maxf 2(x) = 400x:+ 600x2( ),
min(- fa(x))= 3x1+ 2x2( ).

Ox1+ 4x.< 240,
4x.:+ 5x.< 200,
3xi1+ 10x2< 300,

X1, X2= 0.

maxF(x) = (f 1(x),f2(x),fa(x))"
Ox1+ 4x.< 240
4x:1+ 5x.< 200
3x1+ 10x2< 300
X1,X22 0
3 ;
20 000

90 ,
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10. 3. 2

X*

X1, X220
,  x1= 12.5,x2= 26.25,f 1(x)= 4 025. ,f2(x)= 20 750, f s(x)= 90.
(10. 1), fa(x),f2(x), ,fm(Xx)
fi Wiz O(i= 1, 2, ,m), ZWi: 1
U(x) = Z wif i( X) .
(10. 1
maxU (x) = Z wif i( X)
—! (10. 5)
x X
, (10.5) X (10.1)
2 wi>0,1=1,2, ,m, wit w2t + Wn= 1, (10.5)
(10.1)
x  (10.5) X (10. 1) , X X
F(x)= F(x ) .
wi>0,1=1,2, ,m, , fi(x)>0, 1< I m.
Z wif i(x) > Z wifi(x ) .
(10. 5) :
3 w2 0,i= 1,2, ,m, w:it w2t + Wn= 1, (10.5)
(10. 1
, 4 A1 Az, As, As.
fi, 100 f2, fs, (
fs, fe. 4 fi 10. 2

) f 4,

. 240.

f2(X) = 400x:+ 600x2> 20 000,
fs(x)= 3xi1+ 2x2< 90.

maxf 1(x)= 70x:1+ 120x2
400x:+ 600x2= 20 000
X1+ 2x2< 90

Ox1+ 4x.< 240

4x1+ 5x.< 200

3x:1+ 10x.< 300



10.2 4

(fi) fa f2 fs fa fs fe
A, 2.0 1 500 4 55
Az 2.5 2 700 3.6 65
As 2.0 2 000 4.2 45
As 2.2 1 800 4 50
1| |3 |5 |7 |9
| | | | |
1 3 5 7 9
, 10.3
10.3
5 7
3 5
7 9
9 5
9 f ij - f J* )
ai = x - + 1.
J fi - f
fi=maxfus,fi = minf,.
(ai) 10.4
10.4
(ai) fi1 f2 fs fa fs fe
Al 1 1 67 50.5 34 50.5
Az 100 100 1 100 1 1
As 1 42. 25 100 1 67 100
A 40. 6 25. 75 67 25.75 100 1

w=(0.20.1,0.1,0.1,0. 2 0. 3),
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6
U(Xl) = lej'a.u = 34,
6

U(x:2) = ZleaZi: 40. 6,
6

U(xs) = lejasz 57. 925,
6

U(xa) = ZleaAj = 40. 27.

U = maxU= U(xs).

As
10.4
10.4. 1
: (10.1),
fi(x)> f20x)> > fm(x)
f1(x)
maxf 1(X)
x X
X, fi=fi(x). x , X (10.1)
, ; , k=1,
f o 1(X) k+ 1
maxf k+1(X)
x X'
X'={x&t X,fu(x)=f:i ,i=1, ,k}. k+ 1= m,
(10. 1) : ; :
; X, frei =fei(x ). x . X
(10. 1) : ; ,  k+1 Kk
: (10.1)
3 2
fe> f1> fs> fo> fa> fs,
fe

- 242.



maxf s( X)
X {Al,AZ,A3,A4}

X* = Az, As. fi
maxf 1(X)
X {Al, A3}
X* = A, As. fs
maxf s(X)
X {Al, A3}
X* = As. As, , ,As
10. 4. 2
STEM . )
, (10.1) (f ,f2, ,fm)
, fi (i= 1,2 ,m) ,
m
maxf i( x) = Z Cij Xj
=1 . (1= 1,2, ,m) (10. 6)
X X
x" (i 1,2, ,m), fi(i=12 ,m),
Zki ) Zki—= f k(Xi* ), kz i, k=1, 2, , M.
10. 5.
10.5
X fa fo fi fm
x" fi 221 Zu Zm1
x" Z1i Z2i fi Z mi
x™ Zim Zom Zim fm
10. 5 m m . , i

fi,i= 1,2 ,m.
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minA
m(fi - fi(x)) < A i= 1,2, ,m

. X (10. 7)
A= 0
m= o (10. 8)
Qi
fi- f7 o< , -we .

o Zlc. , fi>0
O = P TR * (10.9)

o lci , i< 0

(10.7) i - fa(x) i , Th
y A : X A
(10.7) Xo f1(xo0),f2(x0), ,fm(xo)
j Af | ,(10.7) X X',
X
X'= fj(x)= fj(xo) - Afj,j= 1,2, ,k
fi(x) = fi(xo),1# j,1= 1,2, ,m
(10. 7) : fi(j=12 ,k)
Tt ;
4
: 1, 3 .
: 1.5 : 1 : ( )
C ) «C ) :
0. 5x:+ 0. 25x2.< 8 ( ),
0. 2x1+ 0. 2x.< 4 ( ),
X1+ Bx.< 72 ( ).
y X1, X2 .
f 1(X) 2" (X) : fa(x)=- f2'(x),

max F(x) = (fi(x),f2(x))"
x X' .

fi(x)= X1+ 3X2,f2(X)= - 1.5X1- Xo,

. 244.



0.5x:+ 0.25x.< 8
0.2x:1+ 0.2x2< 4

X'= X:+ Bx,< 72

Xx1= 0

X22=2 0

maxf 1(X) = X1+ 3X:
x X

1

maxf 2(X) = - 1.5X:1- X2
x X!

x"=(7,13), f. = 46,
x> =(0,0, f2 =0.

( 10.6).
10.6
X fa f2
(7,13 46 - 23.5
(0,0 0 0
(10.9) o.= 0. 316, ce= 0. 555. (10. 8) = 0. 363,
= 0. 637.
minA
0.363(46- Xi- 3x2) € A
0.637(0+ 3x1+ 2X2) £ A
x X'
A= 0
X1 = 0, X2= 7. 064,
fi= 21.192, f.=- 7.064.
, (21.192, - 7.064) (46, 0)

f2

10

X
- 1.5%x:- x2=2- 10
X1+ 3X2= 21.192
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10.5. 1

Saaty)

. 246.

AHP

o= 0, e=1. (10.7)

minA
46- Xi1- 3x2< A
X  X?

10. 5

AHP(Analytic Hirrarchy Process)

AHP

10. 2

(T.



10. 2

A Ax Bi, B2, , Bn ,
Ax B1 B: Bn
B: bu b b1n
B2 b2 b2 b2n
Bn b11 bn2 bnn
bij Ax , Bi Bi by 1,2, ,9 ,
1 Bi Bi : ;
3 Bi B; ;
) Bi B; :
7 Bi Bi ,
9 Bi Bi
2,4,6,8 :
bi = 1, bi = 1/bi (i,j: 1,2, ,n).
, n : n(n- 1)/2
A AW= AW Amax
W,
, n , Amax , Max= N. Anax
’ ’ ax = n’ y
bi= /b (ij,k= 1,2, ,n).
)\max' n
Cl=———

n- 1
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, RI. 1 9 10.7
10.7
1 2 3 4 5 6 7 8 9
RI 0.00 0.00 0.58 0. 90 1. 12 1. 24 1. 32 1. 41 1. 45
, 1,2 , Rl : 1,2
2 Cl RI
CR, CR= CI/RI< 0. 10 :
A m A, Az, ,Anm,
allazl lam! B n Bll le 1Bn1 AJ
by, b2, ,bi( Bx A , b= 0), B
10. 8
10. 8
Al A Anm B
ai az am
B1 b11 br2 bim W1
B2 b21 077 bem W2
Bn bn1 'Y bhm Wh
D Wi= Zla;bi, i= 1,2, ,n.
B A
Cli, Rli, B
Z a;Cl
CR= =
Z aRI;
-1
, CR< 0.10 ,
10. 5. 2
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Mi = bi, 1= 1,2, ,n
=h
M n Vi
Vi= Mi .
V= (V1, V2, ,V.)' ,
W, = nVi
Vi
-1
W= (W1, Wz, , W)’
)\max:
< (BW),
Anac = Zl nwWi -
(BW) i BW i
5 B( 10.9) Amax W:
10.9
b1 bo bs
b 1 15 1/ 3
be 5 1 3
bs 3 1/3 1
(1) Mi:
M.:= 0.067, M.= 15, Ms:= 1
(2) Mi 3 Vi
Vi= 0. 403, V.= 2 446, Vs= 1
(3) V= (V1, Ve, Va)'

W.= 0.105, W:= 0.637, Ws= 0.258.

W= (0. 105, 0. 637, 0. 258) .
(4) Anax

_ < (BW:_ _0318
Z nWi X 0.105

A : :
; C ,

1.936 0.785 _

x 0.637 3x 0.258 3. 037

, , : A B,C

, B ,

10. 3.
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10.3

(S1, S2, Ss) G , ,
: , . 10.10
10.10
G S S Ss
S 1 5 3
S 1/5 1 1/ 3
Ss 13 3 1
M:= 15, M-.= 0.0667, M= 1.
Vi= *15= 2.466, V.= °0.0667= 0.405 V.= ° 1= 1.
2 466 _ 2.466_ 0,405 1

W= 5466+ 0.405+ 1 3,871 0037 W= 570, = 0.105 We= 57g0= 0.258.

Ma = 3.0385, Cl = 0.0192, CR= 0.0192/0.58= 0.0332< 0.10.

, 10.11,
10.12, 10.13, 10.14. Si( )

10.11
S1 A B C W
A 1 1/4 2 0. 1818
B 4 1 8 0. 7272

1/2 1/8 1 0. 0910
Mma= 3.0, CI=0.0, CR= 0.0< 0.10.

Ss( )

10.12
S A B C W
A 1 4 1/3 0. 2559
B 1/4 1 1/ 8 0. 0733
C 3 8 1 0. 6708

Ma= 3.0183, Cl= 0.0091, CR= 0.0157< 0.10.
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Ss( )
10.13
Ss A B C W
A 1 1 13 0. 1851
B 1 1 1/5 0. 1562
C 3 5 1 0. 6587
Mma= 3.0290, CI= 0.0145, CR= 0.0250< 0.10.
10.14
St S S3
0. 637 0. 105 0.258
A 0. 1818 0. 2559 0. 1851 0. 1904
B 0. 7272 0. 0733 0. 1562 0. 5112
C 0. 0910 0. 6708 0. 6587 0. 2984
CR= 0.0081< 0.10.
, B
10. 5. 3
1) G’ C’ P’
P G
P : P ,
D: G ; ¢,j=1,2,3; pi, I=
1, 2, 3. a(j= 1,2 3 G w; wi= 0.6, wz= 0.3, ws= 0. 1,
W'= (0.6,0.3,0.1)". pi c(j=1,273) wi(i= 1,2 3)
W’ ;
0.6 0.1 0.3
W= 0.3 0.4 0.6
0.1 0.5 0.1
Pi G Wi
W= WW = (0.42,0.36,0.22)".
wi= 0. 42, wa= 0. 36, ws= 0. 22, p: y P2
D', D : D p:
p2, w p: p2 : , pi
ca(j=1,2,3) wi= Wil (wi+ wa), i= 1, 2.
0.6667 0.2 0.3333
W = (wi) =

0.3333 0.8 0.6667
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, p; G wi' W= WW'= (0.49,0.51)"

) (Wl' WZ)(Wll- Wz')
) - , [SERNNN oF: D D’ .pr pe

w2'=a, w:i=0.9- o ws=0. 1
w:i= 0.6(0.9- o)+ 0.1o+ 0.8 0.1,
w2= 0.3(0.9- o)+ 0.40+ 0.8 O.1.
Wi= Wz, o= 0.4, W= W W,
wi'= 0.6667(0.9- o)+ 0. 20+ 0.3338 0.1,
w2'= 0.3333(0.9- o)+ 0.8+ 0.666% 0. 1.
wi'=wz2', oo'= 0.2857.
., W22 0.4( w:i'€0.5) ,wi<w: wi'< w2, p:
w2'< 0.2857(  w:'= 0.6143) ,wi> w:
0.2857< w2'< 0.4( 0.5< w:'< 0.6143)

wi'= wa', p1

,p1 p2 .
, , w2=0.3 o= 0.2857 ,
Cb— 0.4 . W2l (O 0143), p1 D D'
P2 D D' : w2 0.3 0. 4.
] p2
10. 6
2000 2000 ,
0.5%
, 1990 1% ,
., 1990 1. 5%
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: 1990 2. 5%,
, 2000 0. 78,
, 4
(1) 2000 4 10. 15.
10.15
0. 5% 1% 1. 5% 2.5%
1.87 1. 25 0.94 0. 78
1.9 1.1 0.92 0.8
1.56 1. 46 0.8 0. 57
2.58 2.3 1.71 1.61
0.5% 2000 ,
, ,0.5%
, , 3
(2) , 2. 5% ( 10.16) .
10.16
0. 5% 1% 1. 5% 2.5%
( ) 10. 4 8 6.6 4.1
() — 4.5 4.1 2.8
,2.5% ,2.5%
(3) ,
, ,2000 4 17
10. 17 2000 4
0.5% 1% 1. 5% 2. 5%
( ) 72 146 221 371
( ) 1826 1174 926 788
( ) 1 898 1320 1147 1159
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, 1. 5%

, 4 , 1.5%
,0.5% 2.5% , 1%
1. 5% : , ? , .
2%, 0.27%, 0. 18%. ,
,1.5% 1% 0. 18, 0. 66,
0.59, 21% . , ,1.5% 4
(1) 10.18:
10.18
1 n
1 f f 1n
m fmi f mn
(2) fi
|
ll';niél)r(nf i = f 1* 1£nii<nmf i = fj* i
(3) Y
Vi = ¥ (- B ), (i= 1, ,m).
fi - f;
(4) P:
j ’ pJ y Z pj = 1.
(5) Z
Zi = Z PiVYii.
, f i 10. 19, f i 1 j 1980, 1985,
1990, 1995 2000 , 1980 2000
’ ’ ( ) ) ) 1! 3
10 000 1 000, 2% 1.5% 2.5%
4
10. 19
0. 5% 4 855. 0 2422.0 212. 7 42534 80 484
(2. 0597) (4.7015)
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1% 3863.1 2422.0 394.1 42 555 80 351
(2. 5886) (2.5374)
3283.0 3016.6 575. 3 42559 80 221
1. 5%
(3. 0432 (1.7382)
2. 0% 3147. 4 3113.3 755. 2 42500 80 054
(3.1772) (1.3242)
2. 5% 3008.7 3210.0 935.0 42 441 79 887
(3.3237) (1. 0695)
, 4
10. 20
1 0. 1667 0. 1667 0. 1667 0.25 0.25
2 0.15 0.15 0. 15 0.35 0.2
3 0.2 0.2 0.2 0.2 0.2
4 0.1 0.2 0.1 0.3 0.3
5 10.20 ,
0.4 4 0.6 , 0.5 0.55,
, 10.21
10.21
Z
(0.5%) (1%) (1.5%) (2%) (2.5%)
1 61.8 66.9 70.5 51.7 34.0
2 63.5 70. 3 74.5 52.1 30.7
3 56.2 62. 8 68.9 54.1 40.6
4 64.0 70. 6 73.5 51.8 30.7
. 1.5%
_P+1 ,
Z= N min .
P . N |
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f i , 10.22
10. 22
- 0. 5% 1% 1.5% 2% 2.5%
z 11.91 10. 00 9. 07 9.18 9. 29
1. 5%
, 1. 5% )
1. 5%
10.1 .3 10.23 5
0.2,0.1,0.3,0.2,0. 2,
10.23
1. 145. 8 119. 3 113.5
2. 5 4 3
3. 260 196 220
4. % 12 15 13
5.
10.2 : 4 (A1);
(A2); (As); (Aa). ;
; : 10.24
10.24
A1 7.1 1500
A2 4. 05 310
As 2.8 325
A 0.7 100
0.3 0.2 0.3 0. 15 0.05
?
10.3 200 50 20 3
3 §] K F
R 10. 25. 3



10.25

U K P F R
1 57.99 0.29 0. 4052 81.04 34.49
2 132. 11 2.64 0. 0089 0. 445 130. 93
3 192. 46 9.62 0.0418 0. 836 184. 42
10.4 , A1, A2, Az, As 5 10.26
10.26
X1 X2 X3 X4 Xs
A1 352 1400 30 8.5
A2 404 2500 24 7.8
Az 316 2200 26 8.0
As 435 1900 30 8.0
X3> X5> X1> Xo> Xy,
10. 5 A,B 100 ,B 80 A
3 , B 2 120 , 48
A 90 ,B 70 A, B 30
) ) ) ) ?
10. 6
maxZ 1(x) = 100x .+ 90x.+ 80xs+ 70X4,
MinZz(x)= 3X1+ 2Xa4,
X1+ Xo2 30
X3+ X422 30
3X1+ 2X3S
3X2+ 2X4S
Xi= 0, i=123,4
10. 7 )
, 3 10. 27
10.27
1 4 1/2
1 3
2 13 1
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10.8

(P1);

(P2);

(P3);

(Ps) . (Cu,
(C2), (Ca). 10.28
10.31 , ( ),C (C1, C2,C3),P (P1, P2, Ps,
P4, P5s). 5
10.28 A- C
A C. C Cs
C: 5 1/3
C 1 3
Cs 13 1
10.29 C:- P
C: P1 P2 Ps P4 Ps
Pi1 1 3 5 4 7
P2 13 1 3 2 5
Ps 15 1/3 1 1/2 3
P4 1/ 4 1/2 2 1 3
Ps V7 1/5 1/3 1/3 1
10.30 C- P
C: P Ps Pa Ps
P2 1 1/7 1/3 /5
Ps 7 1 5 3
Pa 3 1/5 13
Ps 5 1/3 3 1
10.31 C:- P
Cs Pi P> Ps Pa
Pi1 1 1 3 3
P, 1 1 3 3
Ps 1/3 1/3 1 1
P4 1/3 1/3 1 1
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, UCDOS , TurboC?20
] 0_1

(1)
/* lpinput.c* /
# indude "stdio. h"
# define vnum 60
# define strnum 20
FILE * in, * out;
main()
{
inti,j;
float x,y;
if ((in= fopen("Ipinput.dat”, "rb+ "))! = NULL)
{printf(" Ipinput.dat ! \n");}
in= fopen("lpinput. dat", "wb+ ");
printf(" m n\n");
scanf( "% f%f", &x, &Y) ;
fwrite( &x,4, 1,in); fwrite( &y, 4,1,in) ;
m= (int)x;n= (int) vy;
printf(" < = , > = , = \n");
for (i= 1;i< = 3;i+ +)
{scanf("%f", &x);
fwrite( &x, 4, 1,in);}
printf(" (0- - MAX; 1- - MIN):");
scanf( "% f", &x) ;
if (x!' =1) x=0;
fwrite( &x, 4, 1,in);
printf("\'n");
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printf(" (CLiD):\n");
for (i= 1;i< = m;it+ +)
{scanf("%f", &X) ;
fwrite( &x, 4, 1,in);}

printf(" A alil [j].

for (i= 1;i< = n;i+ +)
{
for (j= Lj< = m+ 2/j+ +)
{scanf(" %f", &x);
fwrite(&x, 4,1,in) ; }
}
fdose(in);
}
(2)
I* lpsolve.c * /
# include "stdio. h"
# include "dos. h"
# define vnum 60
# define strnum 20
FILE * in, ™ out;
int co, m, n,ii,jj, kk, I, k, d[ strnum] , st;
11 *
/* d[] *
int maxminflag; /* maxminflag
int f1flag;/ * fiflag
int wjflag; /* wijflag
int zjflag;/ * zjflag

1 0:

(0:<=,1:>=,2:=)

1. MIN;O: MAX™ [/
*

float JI[vhum] , c[ vnum], c1[ vhum], cb[ strnum] ;

B

b[i]:\n");

float b[ strnum], b1l[strnum], b2[ strnum] , a strnum] [ vnum] , al[ strnum] [ strnum], I[ strnum] ;

I* allll *
= all]l] =l
1* d] =l
/* cl[] *
/* cb[] *
/* 1[] *
main()
{

inti,j,flag;

float x,y;

void oacurs();

oacurs(0, 0, 0,0,0);

if ((in= fopen("Ipinput.dat”, "rb+ "))= = NULL)

{printf(" Ipinput.dat ! \n");
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return;

}
in= fopen("lIpinput.dat","rb+ ");
fread( &x, 4, 1,in); m= (int)x;/* m *
fread(&x,4, 1,in); n=(int)x;/* n *
fread( &x, 4, 1,in); ii= (int)x;/* ii <= */
fread(&x,4, 1,in); jj= (int)x;/>* jj > = * !
fread( &x, 4, 1,in); kk= (int)x;/* Kk = * |
co=m; /* co ( : ) *

st=0; /* st *
fread( &x, 4, 1,in); maxminflag= (int)x;
for(i= 1;i< =m; i+ +)
fread( &c[ 1] ,4, 1,in);
I* if (maxminflag> 0)
for(i= L i< =m; i+ +)
cl[i]=- di];* [
flag= setaij();
if (flag)
{printf("\nA(i,}) 't \n");
fdose(in);
exit(0);
}
for(i= 1;i< =n; i+ +)
for(j= 1;j< =n; j+ +)
{it(i==j) alilljl= 1,
else al[i][j]= 0;}

danxunxin();

}
int setaij() /* a(i, ) *
{
inti,j,s,rgv,flag;/* rgv : *
float x;
flag= O;

rgv= m+ n- KkKk;
for (i= 1;i< = vnum; i+ + )
clfi]= O;
for (i= 1;i< = nji+ +)
{for(j= Lij< =m; j+ +)

fread(&ali][j].4. 1,in);

fread(&x, 4,1,in);

s= (int)x;
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switch((int)s)

{
case 0: /* < = *
for(k= m+ 1, k< = 3* m;k+ +)
ali] [k] = 0;
Cco= co+ 1;
ali][col = 1; c[co]l = O; d[i]= co;
break;
case 1. /* > = * |/
for(k= m+ 1;k< = 3* m; k+ +)
ali][k]= 0
co= co+ L;a[i]l[co]l= - 1, c[co]= O; cl[co] = O;
rgv=rgv+ 1;st= st+ 1;
alillrgvl= 1; c[rgvl= - ma; clfrgv]= 1,
dli]= rgv; I[st]= rgv;
break;
case 2. | * = */
for(k= m+ 1;k< = 3* m;k+ + )
ali][k] = O;

rgv= rgvt+ 1; st= st+ 1,
ali][rgv]=1;, crgv]l=- maclfrgv]= 1; d[i]=rgv; I[st]= rgv;
break ;
default: {flag= 1;}
}
fread( &b[i],4,1,in);
b2[i]= b[i];
}
co= co+ st;
if ((ii+ jj+ kk! =n)@&igv! = (m+ n+ jj))
flag= 1,
return(flag);

result() /* * |/
{int i, j, zbf;
float y;
out= fopen("lpout.dat","w+ ");
printf("\n :\n");
fprintf(out, " \n");
y=0;
for (i= L)i< = m;i+ +)
{zbf= O;
for (j=1;j< =n;j+ +)
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if (i= = d[j]) {zbf= 1 break;}
if (zbf)
{y=y+ b[jl* cbljl;
printf (" x%d= %- 6.3f\n",i, b[j]);

fprintf(out,”  x%d= %- 6.3f\n",i,b[j]);
}
else
{ printf(" x%d= 0\n",i);
fprintf(out, " x%d= 0\n",i);
}
}
if (maxminflag)
{printf(" MIN Z= %- 6.3f\n",y);
fprintf (out, " MIN Z= %- 6.3f\n",y);}
else
{printf(" MAX Z= %- 6.3f\n",y);
fprintf(out, " MAX Z= %- 6.3f\n",y);}
fclose(out);
}
setch() /* CB* /
{int i, j;

for (i= ;i< =n;i+ +)
{j= dlil;cblil= djl;}

setcb1() /* cBl* /
{int i, j;
for (i= Li< =n;i+ +)
{j= d[il; cblil= c1[j];}

setch2() /* CB2* /
{int i, j;
for (i= ;i< =n;i+ +)
{i=d[i];cb[i]= c[j];}

thigmal() /* *
{int i,j; float x;
for(i= 1, i< = coji+ + )
{x=0;
for(j= 1, j< = n;j+ + )
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x= x+ a[j][i]* cb[]];
x=clf[i]- x;

J[i] = x;

}

thigma2() /* */

{

int i, j, float x;

for(i= 1;i< = co- st;i+ +)
{x=0;
for(j= Lj< = mj+ +)
x= x+ aljl[i]* cb[j];
x= c[i] - x;
J[i]= x;
}

int pl1()/* * |
{int i, j, b;
b= 0;
for(j= 1;j< =n;j+ +)
if (a[jl[k]> 0) {b= 1;break;}
if (b) changel();
}

p12()
{inti,j,s float y;

y=0;

for(i= 1;i< = n;i+ + )
{y=y+ b[i]* cb[i] ;}

s= 0,

n;i+ +)

for(i= 1;i<
for(j= 1;j< = n;j+ +)
if(d[i]= = I[j]) s= L,

if ((y> 0)Cfs= = 1))

{printf(" '\n");
out= fopen("lpout.da","w+ ");

fprintf(out, " \n");

fdose(out);

fiflag= 1;}
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int p21()/* * |/
{int i, ], b;
b= 0;
if (J[k]> 0)
for(j= 1 j< = n;j+ +)
{if (aljI[k]> 0) b= 1;}
if (b) change();

else {printf(" \n");
out= fopen("lpout.dat","w+ ");
fprintf(out," \n");
wjflag= 1;
fclose(out); }
}
int p22()
{inti,j.s
for (i= 1;i< = nji+ +)
{j=d[i]; J[il= 1}
s= 0;
for (i= 1;i< = co; i+ + )
if (J[il==0 s 1,
if (s) {printf(" \n");
result();}
else { printf(" \n");result();}
}

int p31()/* * /
{int i, j,b;
b= 0;
if (J[k]< 0)
for(j= L j< = njj+ +)
if (aljl[k] > 0){b= 1;break;)
if (b) change();

else {printf(" \n");
out= fopen("lpout.dat","w+ ");
fprintf(out, " \n");
wjflag= 1;

fclose(out); }

- 265



int p32()
{inti,j,s
for (i= 1;i< = nji+ +)
{j= dli]; Jljl= 1;}
s= 0;
for (i= 1;i< = coji+ +)
if (J[i]==0) s= 1;

if (s) {printf(" \n");
result();}
else {printf(" \n");result();}

}
zjjgl(zflag, co) / * * |/
int zjflag, co;

{int i, j;

if (ziflag= = 0) return;

printf(" ")

for(i= 1;i< = coji+ + )
printf("%- 7.3f",cl[i]);
printf("\n");
printf("CB XB b ")
for (j= 1;j< = cojj+ +)
printf("X%- 6d",j);
printf("\n");
for (i= 1;i< = n;i+ +)
{printf("%- 5.1f X%1d %- 5. 1f",cb[i] ,d[i],b[i]);
for (j= 1;j< = co;j+ + )
printf("%- 7.3f", a[il[j]);
printf("\n");
}
printf(" ")
for (j= 1;j< = cojj+ +)
printf("%- 7. 3", J[j]);
printf("\n");
wait () ;

}

zjjo2(zflag, co) /* * |/
int zjflag, co;
{int i, j;
if (ziflag= = 0) return;
printf(" ")
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for(i= 1;i< = coji+ + )
printf("%- 7. 3f", c[i]);
printf("\n");
printf("CB XB b ")
for (j= 1;j< = cojj+ +)
printf("X%- 6d",j);
printf("\n");
for (i= Li< =n;i+ +)
{printf("%- 5.1f X% 1d %- 5. 1f", ch[il ,d[i] . b[i]);
for (j= Lj< = coij+ +)
printf("%- 7.3f",ali][j]);
printf("\n");
}
printf(" ")
for (j= Lj< = cojj+ +)
printf("%- 7. 3f", d[j]);
printf("\n");
wait () ;

}

int procel()
{int i, j; float y;
setcbl();
thigmal();
Zjjg1(zflag, co);
do
{
k= 1;
y=J[1];
for(i= 2,i< = co;it+ +)
if(y> JI[i]) {y= Jd[il; k=1i;}
if (y<0)
{p11(); thigmal();
printf(" % 2d \n",11);
= I+ 1
zZjg1(zflag, co); }
dse pl2();
}
while (y< 0);
[* printf(" % 2d \n", I1);
zijgl(zflag, co);ll= I+ 1;* /
}
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proce?2()
{int i; float y;
setcb2();
wijflag= 0;
thigma2();
Zijg2(zflag, co- st);
do

{
k= 1;
y=J[1];
for(i= 2;i< = co- st;i+ + )
if( y< Ji[il)  {y= Jdlil; k=1i;}
if (wjflag= = 0)
{if (y> 0)
{p21();
if (wjflag) break;
thigma2();
printf(" % 2d \n",I1);
zjjg2(zflag, co- st);ll= 11+ 1;
}
dse p22();}
ese
{break;};
}
while (y> 0);
[* printf(" % 2d \n", 1) ;
Zjg2(zflag, co- st); =1+ 1;* /
}

proce3()

{int i; float y;
setchb2();
wjflag= 0;
thigma2();
Zijg2(zflag, co- st);
do

{

k= 1;

y=J[1];

for(i= 2;i< = co- st;i+ +)
ifCy> JIfi])  {y=Jdli]; k=1i;}
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if (wjflag= = 0)
{if (y< 0)
{p31();
if (wjflag) break;
thigma2();
printf(" % 2d \n",Il);
zjig2(zflag, co- st); =11+ 1;}
dse p32();}
ese
{break;};
}
while (y< 0);
[* printf(" % 2d \n", I1);
Zijo2(zflag, co- st);ll1= I+ 1;* /
}

danxunxin()

{

=1,

f1lflag= O;

zjflag= 0;

printf(" ? (1 - ;0 - -

scanf( "% d", &zflag);

if (ziflag! = 1) zflag= O;

if (st! =0)
{printf("\' n Y 1
if (zjflag) printf(" ‘\n");
procel(); }

if ((flflag= = 0)&&(maxminflag= = 0))
{printf("\'n co\nY);
if (zflag) printf(" An");
proce2(); }

if ((fiflag= = 0)&&(maxminflag= = 1))
{printf("\'n ceo\n");
if (zflag) printf(" \n");
proce3(); }

changel() / * * |
{intj,i,p;float x,y, x1;
y= ma;
for(i= 1;i< = n;i+ +)

{if (a[i][k]> 0)
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{ x= (b[i]/a[i] [k]);
if (x<'vy)
{ y= xip=1i}
}
}
dip] = k; x=a[p] [K];
for(i= 1,i< = co;it+ + )
a[p] [i] = a[p][i]/x;
for (i= 1;i< = nji+ +)
alpl[il=alp]l[il/x;
b[p] = b[p]/x;
for(j= 1ij< = p- Lj+ +)
{ x= a[jl[k];
for(i= 1;i< = coi+ + )
aljl[i]=aljlli]- alpl[il* x;
for(i= Li< =n;i+ + )
al[jI[i]= aljllil- alpllil* x;
b[j]= b[j]- bl[p]* X;
}
for(j= p+ Lj< = n;j+ +)
{ x=a[j][k];
for (i= 1;i< = coji+ +)
a[j] [i]= a[j]l[i]- x* a[p][il];
for (i= 1;i< = nji+ +)
dljl[il=aljllil- alpl[il* x;
b[j] = b[j]- b[p]* X;
}
cb[p] = c1[K];
Ipy();
}

change() /* *
{intj,i,p;float x,y, x1;
y= ma;
for(i= 1;i< = nji+ + )
{if (a[i][k]> 0)
{ x= (b[il/alil [k]);

if (x<'y)
{y=x;p=i;}

}

}

dipl=k; x=alp][k];
/* x1=a[p][K]:* /
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for(i= 1;i< = co;i+ + )
a[p] [il = alpl[il/x;
for (i= 1;i< = nji+ +)
al[p] [i]=al[p][i]/x;
blp] = blpl/x;
for(j= 1;j< = p- Lj+ +)
{ x= aljI[k];
for(i= 1;i< = co;i+ + )
aljllil=aljl[i]- alpl[i]* x;
for(i= L, i< =n;i+ +)
al[jlI[i]= a[jl[i]- al[p][i]* x;
blj1= bljl- blp]™* x;
}
for(j= p+ 1 j< = njj+ + )
{ x= aljl[Kk];
for(i= 1;i< = co;i+ +)
aljl[il=aljl[il- x* alp][il;
for(i= 1i< = nji+ +)
alljllil= aljllil- alpllil* x;
b[jl= b[j]- b[p]* X;
}
cb[p] = c[k];

Ipy()
{int i, j; float y;
printf (" \n");
I* for (i= Li< = nji+ +)
{printf("%- 6.3f", cb[i]);
for (j= 1,j< = n;j+ +)
printf("  %- 7.3f",alillj]);
printf("\n");
}
*
for (i= 1;i< = n;i+ +)
{y=0;
for (j= Lj< =n;j+ +)
y=y+ cb[jl™ aljllil;
printf(" y% ld= %- 6.3f\n",i,y);
}
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(1)
# incdude "stdio. h"
main()
{inti,j, mw,nl;
float a[ 20], b[20], c[ 20][20];
FILE * fp;

if ((fp= fopen("trin.dat","wb"))= = NULL)

{ printf(" trin. dat I'\n
creat("trin.dat", "ab+ ");
printf(" \n");
exit(0);

}

printf(" =");

scanf(" %d", &mw);
fwrite(&mw, 2, 1, fp);
printf("\n =");

scanf(" %d", &nl) ;
fwrite(&nl, 2, 1, fp);

printf("\n \n");
for(i= O;i< mw;i+ +)
{scanf("%f", &a[i]);

fwrite( &ali] , 4, 1,fp);

}

printf("\n \n");
for(i= O;i< nl; i+ + )
{scanf("%f", &b[i]);

fwrite( &b[i] , 4, 1,fp);

}
printf("\n \n");
for(i= O;i< mw;i+ +)

for(j= 0;j< nl;j+ +)
{scanf("% ", &c[i] [j]);

fwrite( &di][j].4, 1,fp);

}
fclose(fp);

(2)
# indude "stdio. h"
int mw, nl, fw[20][ 20] , f, unsc, bb;

272-

.\n");



int ib[ 20], jb[ 20] , ie, je, il, jI, II;
float a[20], b[20],al[20],bl[20]:
float c[ 20] [20], x[ 20] [ 20] , min, max ;
main()

{int i,j. k. il, jl, unsc, Kk, ii, jj;

FILE * fp;
if ((fp= fopen("trin.dat","rb"))= = NULL)
{ printf(" trin. dat
exit(0);
}

fread( &mw, 2, 1,fp);
fread( &nl, 2, 1, fp) ;

ie= 0;

for(i= O0;i< mw;i+ +)

{ fread(&ali] .4, 1, tp);
al[i]= a[i];

ie= iet ali];

}

je= 0

for(i= O;i< nl;i+ +)

{ fread( &b[1],4, 1,fp);

bl[i] = b[i];

je= je+ b[i];
}
max= 0;

for(i= 0;i< mw;i+ +)
{ for(j= O;j< nl;j+ +)
{ fread(&di][]j],4 1,fp);
fwlil [j]1= 0;
x[il[j]=- 1
it (c[i] [j]> max)

max = c[i] [j];

}
fclose(fp);
1= 0;
if (ie< je)
{ll=1;
mw+ + ]
for (j= O;j< nl;j+ +)
{d mw- 1][j]= O;
fwlmw- 1] [jl= 0;
aamw- 1] = je- ie;

'\n");
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x[mw- 1][j]=- 1
}
}
ese
if (ie> je)
{ll= 2
ni+ + ;
for (j= 0;j< mw;j+ +)
{ c[jl[nI- 1]= 0;

fw[j] [nl- 1]= 0;

x[(jl[nl- 1]= - I

b[nl- 1]= ie- je

}
}

k=0
for(kk= 0; kk< mw+ nl- 1;kk+ + )
{

min= max;

for(i= O0;i< mw;i+ +)

for(j= 0;j< nl;j+ +)

if ((c[i][j]< = min)&&(a[i]!' = 0)&&(Db[j]! = 0))

{

min= c[i][j];

=i

ji= s

}
if (aliil< b[jjl)
{ x[ii] [ji1= alii];
ib[ k] = ii;
jblK]= jj;
k+ + ;
bljjI= bljjl- aliil;
alii] = 0;
}
ese

{ it (a[ii]> b[jj])

{ x[iil [ji]= bljil ;
ib[ k] = ii;
jblKk]= jj;
k+ + ;

a[ii] = a[ii] - bljjl;
bljjl= 0;
}
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else
{ x[iil [jiI= bljjl;
ib[ k] = ii;
Jjblk] = jj;
k+ +;
alii]= 0;
b[jjl= 0;
if (kk< mw+ nl- 2)
{i=0;
for(i= 0;i< nl;i+ +)
if ((x[ii][i]l==- 1)&&(b[iI]! = 0))
{ x[ii][i]= 0;
ib[ k] = ii;
i= 1 jb[k]=1i;

}
if (j==0)
for(i= 0;i< mw;it+ + )
if ((x[i][jjl=="- 1) &&(alil! = 0))
{ x[iI[ijil=0;
ib[k]=1i;
Jb[ K] =jj;
1= mw,
k+ + ;kk+ + ;
}
}
}
}
} prin();
uv();
}
uv()

{ float u[ 20], v[20], uv[20][ 20], jg, check;
int ug[20],vg[ 20], i,j, k, fx, bh;
ilI=0; jl= 0; unsc= 1;
for(i= 0;i< mw;i+ + )
ug[il= O;
for(j= 0;j< nl;j+ +)
vgljl= ;
ugl 0= 1;
u[0]= 0;
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for(i= O0;i< mw;i+ + )
for(j= O;j< nl;j+ + )
it (x[i1[j]Y =- 1)
{ if ((ugl[i]= = 1)&&(vg[jl= = 0))
{ vljl= dil[j]l- ulil;
valjl= 1,

else
if ((uglil==0)&&(vgljl==1))
{ ulil= dilljl- vIjl;
ugli] = 1,
for(k= 0; k< nl;k+ +)
if (x[1][K]! =- 1)
{ if ((uglil= = 1)&&(vg[k]= =0))
{ v[k]l= cli]l [k]- ulil;
vg[k] = 1;
}

}
}
check= 1;
for(i= 0; i< mw;i+ + )
for(j= O;j< nl;j+ +)
{ fwlil[jl1=0;
wlil[jl1= clil [jI- uli]- vIjl;
if (Cuv[i][j]< check) &&(x[i][j]= = - 1))
{ check= uv[i] [j];
il= i,
ERE
}
}
i= il;j= jl;
unsc= 1; bh= 0;
if ((check< 0)&&(unsc)&&(jI< nl- 1))
{bhi(i, + +j,1,bh);
- 0
}
if ((check< 0)&&(unsc)&&(il< mw- 1))
{ bhi(+ + i,j,2,bh); - - i;}
If ((check< 0)&&(unsc)&&(jl> 0))
{ bhi(i,- - j,3,bh); ++ |}
if ((check< 0)&&(unsc)&&(il> 0))
bhl(- - i,j,4, bh);
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if (check= = 0)
{

printf("
exit(0); }

bhi(i, j, fx, bh)
inti,j,fx, bh;
{ int numb, id, jd, k;
for (k= bh; k< bb; k+ +)
{ id=ib[k];
jd= jb[k];
fwlid] [jd] = O
}
bb= bh;

if ((i==i)&&(j==jH&& (fx! =0))

{bb= bh:
unsc= 0;
return;

}

dse

it (X[ [l == - DERfw[i][]]= = 1))

switch(fx)

{

case 1. if (j< nl- 1)
bhi(i, + + j, 1, bh);

- i

break ;

case 2: if (i< mw- 1)
bhli(+ + i,j, 2, bh);

break;
case 3: if (j> 0)
bhi(i, - - j, 3,bh);
+ + j;
break;
case 4. if (i> 0)
bhi(- - i,j, 4, bh);
+ + i
break;
defaut: printf(" \n");
}
else
{

F'\n");}
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if ((fx! = 3)&&(j< nl- 1)&&(unsc))
{ if ((fx! =1)&&(fwlil[jl==0))
{ ib[bh]=i;
jb[bh]= j;
fwlil [j1= 1
bh+ + ;
bb= bh;
}

else
if ((fwlilljl= = 1) &&(fx==1))
{ fwlil [il= G;
bh- - ;
}
bhi(i,+ + j, 1, bh);
- ]!
}
if ((fx! = 4)&&(i< mw- 1)&&(unsc))
{if ((fx! = 2&&(fw[i][j]= = 0))
{ ib[bh] = i;
jp[bh] = j;
fwli] [j]= 1
bh+ + ;
bb= bh;
}
else
if ((fw[i][j]= = 1) &&(fx= = 2))
{ twlil[jI= G;
bh- - ;
}
bhl(+ + i,j, 2,bh);
- i;
}
if ((fx! = 1)&&(j> 0)&&(unsc))
{if ((fx! = 3)&&(fwlil[jl= = 0))
{ ib[bh]=i;
jb[bh] = j;
fwlil [j1= 1;
bh+ + ;
bb= bh;
}

else
if ((fwlil[jl= = 1)&&(fx= = 3))
{ fwli] [j]= O
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bh- - ;
}
bhi(i,- - j, 3,bh);
+ +;
}
if ((fx! = 2)&&(i> 0) &&(unsc))
{if ((fx! = 4) &&(fwli]l[jl= =10))
{ ib[bh]=i;
jo[bh]=j;
fwlil [j1= 1
bh+ + ;
bb= bh;
}
else
if ((fw[lilljl= = 1)&&(fx= = 4))
{ fwlil [il= G;
bh- - ;
}
bhi(- - i,j, 4, bh);
+ +j;
}
}
if (unsc= = 0)
{ min= je
for (k= 0; k< bb; k+ +)
{ i=ib[k];
j= iblKI;
if (X[i][j]< min)
{ min= x[i] [j];
id=1i;
jd=j;
}
k+ + ;
}
numb= 0; min= x[id] [jd];
for (k= 0; k< bb;k+ +)
{ i= ib[Kk];
j= bl Kk];
if (k%2= = 0)
{ (1101 = x[i[i] - min;
if ((x[il[j1== 0)&&(numb= = 0))
{ x[illjl=- 1
numb+ + ;
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}
else
x[i] [J1= x[] [j1+ min;
}
X[I] [jI]= min;
prin() ;
uv() ;
}
}
prin()
{inti,j; float jg;
jo= 0
if (II==1)
{ printf(" < \n");
for (i= O;i< mw;i+ +)
{ for(j= 0;j< nl+ 1;j+ +)
{if (i==0)
if (j= = 0)
printf(" ");
else
printf(" %d ", j);
else
if (j= = 0)
printf(" %d",i);
else
if (x[i- 2][j- 1! =- 1)
{ printf(" %4.2f ", x[i- 1[j- 1]);
jo=jg+ cli- 1[j- 10* x[i- 1][j- 1;

}
else
printf(" - - ");
}
printf("\ n");
}

for (j= 0;j< nljj+ +)

{ min= 0;

for(i= 0;i< mw- 1;i+ + )
it ([T =- 1)
min= min+ x[i][j];

if (min< b1[j])

printf(" %d : %f\n",j+ 1, bi[j]-

}
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}

ese
if (I11==2)
{printf(" > \n");
for (i= 0;i< mw+ 1;i+ +)
{ for(j= O;j< nl;j+ +)
{if(i==0)
if (j= = 0)
printf(" ");
else
printf(" %d ",));
else
if (j==0)
printf(" %d",i);
else
if (x[i- 1][j- 1! =- 1)
{ printf(" %4.2t ", x[i- 1][j- 1);
ig=jot+ x[i- 1[j- 1]* c[i- 1][j- 1I;

}
else
printf(" - - ");
}
printf("\n"); }
for (i= 0;i< mw;i+ +)
{ min= 0;

for(j= 0;j< nl- 1;j+ +)
it (x[il[j]1t =- 1)
min= min+ x[i][j];
if (min< al[i])

printf(" % d %f\n",i+ 1, al[i]- min);
}
}
else
if (11= = 0)

for (i= 0;i< mw+ 1;i+ + )
{ for(j= Ojj< nl+ 1;j+ +)
{if (i==0)
{if (j==20
printf(" ");
else
printf(" %d ", j);
}

else
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{if (j==0)
printf(" %d",i);
else
{if (x[i- 1[j- 1]8 =- 1)
{printf(" %4.2f ", x[i- 1] [j- 1]);
ig=jgt+ cli- 1][j- 1] * x[i- 1][j- 1];}
else
printf(" - - ")

P}

printf("\n");

}

printf("\'n 1% 7.4f\n",jg);

}
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